E AKJIA HYDRAULIC ﬂ

RE1EL

HOSE FITTING




[AKJIA]
PRODUCT DISPLAY
PR

G,

Click to the product index page



X E—EFX =M A
YHE—FAREELESREREARNRESRBRAR, AXEHTHRESELWEERENA
E3E, EEMETHRRE. AIEHE. ENERS. ARKPENEEHS. IHEEMETZ
ITRAMEXR. FmEATIENM. M. LW, 6. REREGMTIVHNEMSE. &
AEEERNEERS.

RS

> MRESEIXNIEERT  EasMERaE. SINTNRERS

OIEMHEE |, TKERES | OSSR R A AA
ARRBDINESREHENTREM , FRe. FHR

—ARIRiT | RO BB AR IR

LERAFZIBINE | BRREXITERNEN , BXiER e ER A

FERAEE T ISO , SAE, DIN , JIS , BS &&finE , #tg%L

— R E LT AR:

— X REEL SN EAREELNRRESANER—F, EFFEKXBSHNT—AFE v, A@E
ERPiER, RERRIAT R,
.

— I
20512Y-36-16TZ iitﬁ
| Shpsthemu—

FR—HFXBEREL

“1” RTECF1SN/2SNERE

“2” RRELF4SP/4ASH/R12EEE

“3” RRELFAR13/RISEE— X R E L
55X KSHN—

Y V VYV VY V

— RN E 8L EAA:

—EXTREBRABEINE EHERNEREZX. MEN, REFEBNERA
MERKE, BYUAEEXL.

> S EFERGENFERSSHNEESH
> RIEIEBAEERE

> HE—IR5ERL IR T A RERIE NS

> ERTECERL , Pt T EEERIE AR EARZIIER
> EEEMGEERLAEE




AKJIA One-Piece Hose Fittings

AKJia One-Piece Hose Fittings, when used together with hydraulic hoses, provide customers

with a reliable and efficient hose assembly solution. This integrated design simplifies the hose

fitting and crimping process, enabling fast assembly, high reliability, high working pressure,

and excellent impulse resistance.

One-Piece Hose Fittings are ideal for use in demanding hydraulic systems across a wide

range of industries, including construction machinery, shipbuilding, mining equipment, primary

metals, wind power, and other industrial applications.

Feature and Benefits

» Improved fitting design, suitable for various high pressure, high impulse hydraulic system

» High Reliability, extended service life, reduce the machine down time and service expense

» More safe and more environment friendly due to less possibility of oil leakage

» One-piece fitting design, reduce the parts stock series and possibility of assembly faults

» All use no-skiving crimping, avoid the impact of rubber on the environment, and reduce the
time of hose assembly

> Full range products, covering most of the standards such as DIN, JIC, BSP, JIS standard

One-Piece Hose Fitting Order Description:

The product code rules of the one-piece hose fitting and the two-piece hose fitting are basically

consistent. A letter "Y" is added to the two-piece model to facilitate ,easy for customer selection

and reduce the possibility of mismatching. 7227)
]

F

Sample:
20512Y-36-16T1Z
w L Consistent with the code rules of two-piece
Indicate one-piece hose fitting
“1” = 1SN/2SN/R1AT/R2AT hose

“2” = 4SP/ASH/R12/R13 hose
“3”=R13/R15 hose

Consistent with the code rules of two-piece

One-Piece Hose Fitting Crimping Note:
one-piece hose fitting products adopt integral crimping without special length requirements. When
crimping, the hose needs to be inserted into the ferrule to specify the length. It is recommended to
draw lines with a brush.
» The deformation of fitting bore is an important parameter to measure the accuracy of crimping
» Ensure proper depth of the ferrule
» The rework may increase the stress if the crimping is completed
» Regular sampling inspection of hose assembly to prevent any improper clamping due to

mold wear
» Check the connection of hose fitting at last



MEELGEBAR

(Thread Type) BRLERY — BEA (Seal Style)
(Stem Type) iEk3EY — SHRE (elbow)
—l> r }%/b\ﬁﬂ (Tail Type)
ABCHHATE i. = .
gemixm | ABCDE —XX ™
(Fitting Type) ] LM‘E{t%
(Series) L RIS — NSRRI\
BB R IS WES
( Fitting Size Dash No.) (Hose Dash No.)

REEARSEN

Ak seay B:IZLSEEY C:EHAR
2l Metric (0) Bkm (1)
HMEBLT - Male Thread (1) NPSMIES, NPSM (1) @ (2)
REIRN BSPP (2) FHHEZHE (3)
E?;ﬁ?%ﬂ? (2) TSRS BSPT (3) 24°EEREY (4) it Xywfalmy (1)
SEHIORFSIZEY ORFS (4 )|24°H#EmER (5) R (1
E}f&gﬂ%t (3) SELIHEIBIT NPT (5 ) 60°4EE (6) 45°2575 elbow (4) Braided Hose Insert
SEHIICHELY JIC (6) 74°EE (7) e (2)
?SE'E)\quEi%v o (1) SEHISEARLY SAE (7))  |90°%EHE (8) 90°T55: elbow (9 ) Spiral Hose Insert
ocker e B AHIES IS Metric () -
En_\ltg(%o )ﬂ? 27 JISBSP (9 2252555 elbow ( 2) Skive Insert
BEIRER — . BRECR (7)
B-Type Ferrule (9 ;]I]/z;ji] (Nzle)trlc (1) 3078555 elbow ( 3 ) ultra high pressure
'
DIN (0) s AJHRIV(RSRE) (8)
ORI (7)  |EHFAR Metic (1) 607551 elbow (6) .
Banjo fitting s =+
il BSP (2) . Insert / Hose Tail (0)
3000PSI ( 3) 67.5°&F5s elbow ( 7
FEGE=3( (s) [EH(7) 6000PSI ( 6)
Flange
9000PSI (9)
ey BN — |
RERS

2 [ 021 03| 04| 05|06|08| 10| 12| 14| 16| 20| 24| 28| 32| 40 | 48
MERR
(in)
MERR

(mm)

1/8 (3/16| 1/4 |5/16| 3/8 | 1/2 | 5/8 | 3/4 | 7/8 | 1 |1.1/4{1.1/2|1.3/4| 2 |[2.1/2| 3




L L ERIRN IR TIRS

e SREIRLY SEHEEIR TRIEEIRN EHICIRY SEHIORFSIREY ;
EN) BSPP BSPT NPT Jic ORFS
02

G1/8"x28 R1/8"x28 21/8"x27 5/16"X24UNF
04 G1/4"x19 R1/4"x19 Z1/4"x18 7/16"x20UNF 9/16"x18UNF
05 1/2"x20UNF
06 G3/8"x19 R3/8"x19 Z3/8"x18 9/16"x18UNF 11/16"x16UN
08 G1/2"x14 R1/2"x14 21/2"x14 3/4"x16UNF 13/16"x16UN 1/2"
10 G5/8"x14 7/8"x14UNF 1"x14UN
12 G3/4"x14 R3/4"x14 Z3/4"x14 1.1/16"x12UN 1.3/16"x12UN 3/4"
16 G1"x11 R1"x11 Z1"'x11.5 1.5/16"x12UN 1.7/16"x12UN 1"
20 G1.1/4"x11 R1.1/4"x11 Z1.1/4"x11.5 1.5/8"x12UN 1.11/16"x12UN 1.1/4"
24 G1.1/2"x11 R1.1/2"x11 Z1.1/2"x11.5 1.7/8"x12UN 2"x12UN 1.1/2"
32 G2"x11 R2"x11 72"x11.5 2.1/2"x12UN 2"
40 G2.1/2"X11 R2.1/2"X11 72.1/2"x8 3"x12UN 2.1/2"
48 G3"X11 R3"X11 Z3"x8 3"

“EEAHIRSIRS SRR TIME—E

Note: The metric thread designation corresponds to the thread's outer diameter.

ERmAEN

wEsE .  DRREE
$ 590 SRR
W s
AB|c[DE
- HERS
RtFE

ERNSaEX

B FE={uC iv2 FERME
REXIR JIEEI=tE FIRH L7 SIS
SFHERIR O R7/R8MIASE 8
—ERR 1 TANX 0
"B 2 FIGME O FTAaNX 0
=V =V m| = v
FRHOE(0) SRR 3 f;fé‘ 0
= e 2 Y N
FrEERI0 THEIME L  |4SH 1
PURSmLLYELE 4 — —
R (1) A (RIS ) O
[E5IAZ ( RIRFME ) 1
INEINLLESE 6 HRIMNE 2 [BERINEE ( RRIIMNR ) 5
AJ#RF=(R5) 8
R55 BaE7




Hose Fitting Part Number Nomenclature

QNEEEER

o —[2lo] — 2]

Fitting Series

Material Stock Code
A = Large hex Stock

B = Hex stock female nipple
If material is round stock position collapses

Terminal End Size

Hose Size

Nut Design
T = Captive Nut
W = Wire Nut
If crimp nut is used or if nut is not required, position collapses

Plating Type Code
Z=Zinc Trivalent Chromate (Cr3)

Hose Ferrule Part Number Nomenclature

-

Always Zero JT

Hose Source
0 = Import Hose

1 = Domestic Hose

Reinforced Layer
0 = Textile Braid
1 = One-Steel Wire Braid

2 = Two-Steel Wire Braid
4 = Four-Steel Wire Spiral
6 = Six-Steel Wire Spiral

Hose Size

Plating Type Code
Z = Zinc Trivalent Chromate (Cr3)

Special Code
0 = No Meaning or 4SP or Sawtooth (all skiving)
1 = 4SH or Circular arc shape (all skiving)

Skiving Type
0 = Outside Skiving
1 = No Skiving
2 = All Skiving




[AKJIR| iR EEL HOSE FITTING

® (BT mNAEE
> MRRIZEENIEEERRAR M, LIS~ 5
> BRRBAR S EE R T B2 R E A M

o EEFRIZNGA
> BHIENEATENIZ
BHIEXE A 2R R AR R EK P ERY THHTE
B, ARIEDEZERENERN  ELEHNS—E-E8MHT

> BEEWNERFAL S
MINES : RBLEENERMIEERAR , TUAARBEENINE , HERERN. BA
ERATURM AR TE  —AELN T RRNEEERRE , B—HEXTUES NEM LR
ERABA/AR.
RERET  REENERMERAR AT BANAEKPER , TSNS REEOREEN ,
WTIFERSEIRS M e AR IR(ESS |, AETHIE B RENIRREL. SEAMSEAEL  RRmRE
EE  REDENYS.

> BESEIRE  BRIZERREN
BERENEAABESKEPATMREREEPNSFRE , BRESHSR  NHRIERE
R, BEEIRESINEMTE  IREASHOEMNME , AT EEMNE,




griEsL HOSE FITTING [AKJIA]

Welding Fitting Application Scope
e To solve the process can not be processed or difficult products, such as large-scale products.
® Solve products with high cost or limited assembly space

Welding Process Instruction

B Single-side welding and double-side forming process

Single-side welding and double-sided forming is carried out local heating on the workpiece by
powerful single-side pulse current, while ensuring the welding quality, can also produce plastic
deformation on the other side.

B Advantages of single-side welding double-sided forming technology

High processing efficiency: The use of single-side welding double-sided forming welding
technology, can greatly improve the efficiency of welding processing, shorten the welding
cycle. Because the technology can complete two processes at the same time, on the one hand
to achieve a faster single-sided welding operation, on the other hand, it can achieve a faster
forming effect through double-sided forming.

Good welding quality: single-side welding double-sided forming welding technology uses
a powerful single-side pulse current, which can achieve high temperature and low speed
welding purposes, so as to complete the welding task in a short time, while producing
high-quality welded joints. Compared with traditional symmetrical welding, the welding
strength is higher and the weld is more uniform.

B Inert gas shielded welding, ensure the weld line more beautiful

Inert gas welding:ensure beautiful welding marks,single-side
welding double-sided forming with argon gas protection can
ensure the stability of the atmosphere in the welding pool,
avoid oxygen pollution, so as to ensure the quality of the weld.

It can make the appearance of the weld more flat, without too

many bumps and depressions, so that the welding is more
beautiful.

Welding Product Case




A

IR HYORAULIC

KJIR| =&X2%3| PART NO.INDEX

e TR ST HE |

sbuiyi4 8soH 82914-8uQ

WHMRL SFEEE
Metric Thread
Flat Face SEAT

WHMREL 24° HEREE
B&R5

Metric Thread 24°

Cone Seat Light Series

INEIMREY 24° ERRES
BEY

Metric Thread 24°

Cone Seat S Series

Click the product image to the product page

Y

»

20211Y
P8

G i Ve

10411Y

G L Ve

10511Y

—~

20241Y
P9

20411Y
P11

20511
P14

20291Y
P10

20441Y 20491Y
P12 P13

8

20541y 20591Y
P15 P16

Cemes | O @ G

74° Cone Seat

NHRA BREE S

Metric Female Multiseal

mEgmecmEy gl

BSP Thread
60° Cone Seat

SRR

BSPT Thread

%%UORI;SEZ;($E¥=T ﬁ ‘ i £ wa;

Flat Face Seat

SEHIHEIRLL

NPT Thread

SEHICIZEY 74

JIC Thread 74°

SAEE=12%7
SAE Flange
L Series

SAEZ=EZ%
SAE Flange
S Series

20711Y
P17

20741Y
P18

"_"—-’-"‘u‘ “\“

20111y
P6
e,
12611AY
P2
I

13011Y-SP
P2

14211Y

15611Y
P4

20191Y
P7

22611Y
P20

24211Y

e e I~

16711Y

26711Y
P26

87311Y
P32

87341Y
P33

il @

87611Y
P35

87641Y

20791Y

okl

22641Y 22691Y 22611DY SM
P21 P21

24241Y 24291Y 24211DY-SM
P24 P25 P22

26741Y 26791Y 26711DY-SM
P27 P28 P29

87391Y
P34

R

87691Y
P37



JIR HYDRAULIC

ZE{=2%2| PART NO.INDEX [AKJI

Bumi 8soH 89814-8uQ

e Wi O 83 B S |

sBuiyji4 9SoH 8981 OM |

e e IR ST B S

REESAEE=ER%

Interlock Type
SAE Flange

SEWAH <Y
60°HER S

Japanese Metric Thread

60° Cone Seat

AR
60° R TS

Japanese BSP
60° Cone Seat

RAEER

Braided Hose Ferrule

BERERR

Spiral Hose Ferrule

AHNRY FEZE
Metric Thread
Flat Face SEAT

NENRLL 24° RS
B&5

Metric Thread 24° Cone

Seat Light Series
/,

INHIBREY 24° RS
BRY

Metric Thread 24°
Cone Seat S Series

NHMIRL 74° erss

Metric Thread
74° Cone Seat

NHEPRY BREFE

Metric Female Multiseal

REIRL60°#H S

BSP Thread
60° Cone Seat

SRR
BSPT Thread

87613Y
P38

28611Y
P30

29611Y

P31
00110 03310 01200
P40 P41 P42
00400 00401 00400D 00621 01400
P43 P43 P43 P44 P44
N i
20241 20291
P55 P56
@ \i “““\; g .-'Si._ mi ‘ : '7-—‘-" ?'.-n: r~\z
10411 20411 20441 20491
P45 P57 P58 P59
P fgais v @<
10511 20511 20541 20591
P46 P60 P61 P62
v i ﬁ
20741 20791
P64 P65
5 ‘*—-..;
20111 20191
P52 P53
, L S ] man T T —
12611A 22611 22641 22691 22611D-SM
P47 P66 P67 P68 P69

13011-SP
P48



[AKIR] =5 =8| PART NO.INDEX

e i IR 5 B 3 S

S£4|ORFSHBLY
FESE

ORFS 14211 24211 24241 24291 24211D-SM
Flat Face Seat P49 P70 P71 P72 P69

SRR

NPT Thread

SEHICIRE 74

JIC Thread 74°

26741 26791 26711D-SM
P74 P75 P76

SAEE= &7
SAE Flange
L Series

SAEZ=EZ%
SAE Flange
S Series

RTUSAEEZ=EZ7I
Interlock Type
SAE Flange

ERARMRCOHES |

Japanese Metric

o 28611
Thread 60° Cone Seat 577
HEHMRL 60 s = ET
Japanese BSP
60° Cone Seat 28%1

REATAERS gy

SAE flange welding

B87341 B87391
P88 P88
R SAEEZ RS R @
SAE SPLIT
FLANGE CLAMPS B87340 B87390
P89 P89
< N - pr—
L o -
2 70011 72011
P78 P79
s 1 -
SHFFE=Xk @
SAE Split Flange
Clamps FL FS

P90



gzl HOSE FITTING[A

KJR HYDHHUH

KJI

10411Y

S1
BT

NHEIFMRL24° NIRRT

METRIC MALE 24°CONE SEATL.T.

REF.DIN 3853/ISO 8434-1

10411Y-14-04 - M14X1.5 6 04 8 20.5 10 14
10411Y-16-04 = M16X1.5 6 04 10 225 11 17
10411Y-16-05 - M16X1.5 8 05 10 225 11 17
10411Y-18-06 10412Y-18-06 M18X1.5 10 06 12 225 11 19
10411Y-22-08 10412Y-22-08 M22X1.5 13 08 15 26 12 24
10411Y-26-08 10412Y-26-08 M26X1.5 13 08 18 26.5 12 27
10411Y-26-10 10412Y-26-10 M26X1.5 16 10 18 26.5 12 27
10411Y-30-10 10412Y-30-10 M30X2 16 10 22 29.5 14 32
10411Y-30-12 10412Y-30-12 M30X2 19 12 22 30 14 32
10411Y-36-16  10412Y-36-16 M36X2 25 16 28 31.5 14 41
10411Y-45-20 10412Y-45-20 M45X2 32 20 35 37/40.7 16 46
10411Y-52-24 10412Y-52-24 M52X2 38 24 42 38/46.5 16 55

ERT A"/ BIRTERTRAE
Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

10511Y A#isMasR4 mEEERS

S1
BFHME

2L/ BRIERTERERL.

METRIC MALE 24°CONE SEAT H.T.

REF.DIN 3853/ISO 8434-1

10511Y-14-04 - M14X1.5 6 04 6 245 12 14
10511Y-16-04 = M16X1.5 6 04 8 26.5 12 17
10511Y-18-04 - M18X1.5 6 04 10 26.5 12 19
10511Y-18-06 10512Y-18-06 M18X1.5 10 06 10 26.5 12 19
10511Y-20-06 10512Y-20-06 M20X1.5 10 06 12 26.5 12 22
10511Y-22-08 10512Y-22-08 M22X1.5 13 08 14 31 14 24
10511Y-24-08 10512Y-24-08 M24X1.5 13 08 16 315 14 27
10511Y-30-10 10512Y-30-10 M30X2 16 10 20 34.5 16 32
10511Y-30-12 10512Y-30-12 M30X2 19 12 20 36 16 32
10511Y-36-16 10512Y-36-16 M36X2 25 16 25 41.5 18 41
10511Y-42-16 10512Y-42-16 M42X2 25 16 30 44 20 46
10511Y-42-20 10512Y-42-20 M42X2 32 20 30 45/48.7 20 46
10511Y-52-20 10512Y-52-20 M52X2 32 20 38 50/58.5 22 55

ERY At/ BRERTFRAGEL /) ERYEATEGEEL.

Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com Page 01



RKJIR HYDRAULIC

AR EEL HOSE FITTING

KJI

12611AY HE/MEL60 WEENABHARASHEH

BSP MALE DOUBLE USE FOR 60°CONE SEAT

OR BONDED SEAL

s1
=R SPART NO. $REHOSE SIZE R 3 DIMENSIONS

12611AY-04-04 - G1/4"X19 6 04 245 12 19
12611AY-06-06 12612AY-06-06 G3/8"X19 10 06 28 135 22
12611AY-08-08 12612AY-08-08 G1/2"X14 13 08 33 16 27
12611AY-12-12 12612AY-12-12 G3/4"X14 19 12 37.5 18.5 32
12611AY-16-12 12612AY-16-12 G1"X11 19 12 42.7 20.5 41
12611AY-16-16 12612AY-16-16 G1'X11 25 16 43.5 20.5 41
12611AY-20-16 12612AY-20-16 G1.1/4"X11 25 16 45.5 20.5 50
12611AY-20-20 12612AY-20-20 G1.1/4"X11 32 20 46.5/50.2 20.5 50
12611AY-24-24 12612AY-24-24 G1.1/2°X11 38 24 49/57.5 23 55
12611AY-32-32 12612AY-32-32 G2"'X11 51 32 54.5/65.2 25.5 70

X LRI Ad '/ AIRTERTHREAERL "/ ERIERTERERL.
21ZZR S INEH B RA60 EmES | BAE \AnmRAGEE.

Notes: 1.The dimension A before"/" is for braided hose and afteris for spiral hose fitting.
2.The seal type of this series can be sealed with a 60° cone, or a combination gasket can be placed on the
hexagonal end face.

13011Y-SP =#E5HEN

BSPT MALE

E
S1

13011Y-04-04SP - R1/4"X19 6 04 27 145 14
13011Y-06-06SP  13012Y-06-06SP R3/8"X19 10 06 27.5 15 17
13011Y-08-08SP  13012Y-08-08SP R1/2"X14 13 08 35 20 22
13011Y-12-08SP  13012Y-12-08SP R3/4"X14 13 08 37 20 27
13011Y-12-10SP  13012Y-12-10SP R3/4"X14 16 10 38 20 27
13011Y-12-12SP  13012Y-12-12SP R3/4"X14 19 12 38.5 20 27
13011Y-16-12SP  13012Y-16-12SP R1"X11 19 12 43.5 255 36
13011Y-16-16SP  13012Y-16-16SP R1"X11 25 16 45 25.5 36
13011Y-20-20SP  13012Y-20-20SP  R1.1/4"X11 32 20 49.5/53.2 26.5 46
13011Y-24-24SP  13012Y-24-24SP  R1.1/2"X11 38 24 52.5/61 26.5 50
13011Y-32-32SP  13012Y-32-32SP R2"X11 51 32 57/67.7 30 65

ERT A"/ IRTERTRAEESL "/ BRIERTERERL.

Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Page 02

Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com




BREiEsL HOSE FITTING

KJI

AKJIR HVDRRULﬂ

14211Y

SEHORFSHMELFEIOF B &+

ORFS MALE FLAT O-RING SEAL

REF.ISO 8434-3/SAE J1453

S1
oz

14211Y-04-04 - 9/16"X18 6 04 07.65X1.78 225 9.8 17
14211Y-06-04 - 11/16"X16 6 04 09.25X1.78 241 11.2 19
14211Y-06-06 14212Y-06-06 11/16"X16 10 06 09.25X1.78 24.1/25.5 11.2 19
14211Y-08-06 14212Y-08-06 13/16"X16 10 06 012.42X1.78 27.6/29 13 22
14211Y-08-08 14212Y-08-08 13/16"X16 13 08 012.42X1.78 28.6/29.5 12.8 22
14211Y-10-08 14212Y-10-08 1"X14 13 08 015.6X1.78 32.6/33.6 15.5 27
14211Y-10-10 14212Y-10-10 1"X14 16 10 015.6X1.78  34.1/35 15.5 27
14211Y-12-10 14212Y-12-10 1.3/16"X12 16 10 018.77X1.78 36.6/37.5 17 32
14211Y-12-12 14212Y-12-12 1.3/16"X12 19 12 018.77X1.78 36.6/38.1 17 32
14211Y-16-12 14212Y-16-12 1.7/16"X12 19 12 023.52X1.78 37.1/38.6 17.5 41
14211Y-16-16 14212Y-16-16 1.7/16"X12 25 16 023.52X1.78 38.6/39.6 17.5 41
14211Y-20-20 14212Y-20-20 1.11/16"X12 32 20 029.87X1.78 41.5/45.2 17.5 46
14211Y-24-24 14212Y-24-24 2'X12 38 24 037.82X1.78 46.5/55.1 17.5 55
ERT A"/ AIRTERTRAERE "/ BRIGRATEREREL.

Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com Page 03




AKJIR HYDRAULIC

R|IREEL HOSE FITTING

KJI

15611Y MEEIMEN

F=RIESPART NO. $REFHOSE SIZE R 7 DIMENSIONS

NPT MALE

15611Y-04-04 - Z1/4"X18 6 04 28 15 17
15611Y-04-06 15612Y-04-06 Z1/4"X18 10 06 28 15 17
15611Y-06-04 15612Y-06-04 Z3/8"X18 6 04 29 16 19
15611Y-06-06 15612Y-06-06 Z3/8"X18 10 06 29 16 19
15611Y-08-06 15612Y-08-06 Z1/2"X14 10 06 345 195 22
15611Y-08-08 15612Y-08-08 Z1/2"X14 13 08 34.5 19 22
15611Y-08-10 15612Y-08-10 Z1/2"X14 16 10 355 195 22
15611Y-12-08 15612Y-12-08 Z3/4"X14 13 08 37.5 19.5 27
15611Y-12-10 15612Y-12-10 Z3/4"X14 16 10 375 195 27
15611Y-12-12 15612Y-12-12 Z3/4"X14 19 12 38.5 19.5 27
15611Y-16-12 15612Y-16-12 Z1"X11.5 19 12 45 255 36
15611Y-16-16 15612Y-16-16 Z1"X11.5 25 16 46.5 25.5 36
15611Y-20-20 15612Y-20-20 71.1/4"X11.5 32 20 50.5/54.2 26.5 46
15611Y-24-24 15612Y-24-24  71.1/2"X11.5 38 24 51/59.5 26 50
15611Y-32-32 15612Y-32-32 Z2"X11.5 51 32 55/65.7 275 65

ERT A"/ IRTERTRAEES. "/ BRIERTERERL.

Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Page 04

Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com




KJR HYDRHUH

sl HOSE FITTING|[AKJI

16711Y

SEHJICHMRLT 4° ST

JIC MALE 74° CONE

REF.ISO 8434-2/SAE J514

F=RIESPART NO. EREHOSE SIZE R <t DIMENSIONS

16711Y-04-04 - 7/16"X20 6 04 26.5 14 12
16711Y-05-05 - 1/2"X20 8 05 26.5 14 14
16711Y-06-06 16712Y-06-06 9/16"X18 10 06 26.9 141 17
16711Y-08-06 16712Y-08-06 3/4"X16 10 06 32 16.7 22
16711Y-08-08 16712Y-08-08 3/4"X16 13 08 32 16.7 22
16711Y-10-06 16712Y-10-06 7/8"X14 10 06 335 19.3 24
16711Y-10-08 16712Y-10-08 7/8"X14 13 08 345 19.3 24
16711Y-10-10 16712Y-10-10 7/8"X14 16 10 355 19.3 24
16711Y-12-10 16712Y-12-10 1.1/16"X12 16 10 40.2 219 30
16711Y-12-12 16712Y-12-12 1.1/16"X12 19 12 40 219 30
16711Y-16-16 16712Y-16-16 1.5/16"X12 25 16 43,5 231 36
16711Y-20-20 16712Y-20-20 1.5/8"X12 32 20 47.5/51.2 24.3 46
16711Y-24-24 16712Y-24-24 1.7/8"X12 38 24 53/61.5 27.5 50
16711Y-32-32 16712Y-32-32 2.1/2"X12 51 32 62/72.7 33.9 65

ERT Adh '/ IRTERTRAEEL /" BRYERTERERSL.

Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com Page 05



[AKJIR|EREEL HOSE FITTING

20111YT L~HNRaEE

METRIC FEMALE MULTISEAL

20111Y

F=RIESPART NO. $REFHOSE SIZE R 7 DIMENSIONS

20111Y-12-04 - M12X1.5 6 04 185 4 17
20111Y-14-04T = M14X1.5 6 04 20.5 4.5 17
20111Y-16-05T - M16X1.5 8 05 20 4.5 19
20111Y-18-06T 20112Y-18-06T M18X1.5 10 06 225 4 22
20111Y-20-06T  20112Y-20-06T M20X1.5 10 06 20.5 55 24
20111Y-22-08T 20112Y-22-08T M22X1.5 13 08 245 5 27

20111Y-27-10DT 20112Y-27-10DT  M27X1.5 16 10 235 55 32
20111Y-30-10DT 20112Y-30-10DT  M30X1.5 16 10 235 6 36
20111Y-30-12DT 20112Y-30-12DT  M30X1.5 19 12 28.5 6 36
20111Y-36-12T  20112Y-36-12T M36X2 19 12 26 7 41
20111Y-36-16T  20112Y-36-16T M36X2 25 16 28 7 41
20111Y-39-16T  20112Y-39-16T M39X2 25 16 29.5 7 46
20111Y-42-16T  20112Y-42-16T M42X2 25 16 30 8.5 50
20111Y-45-20T 20112Y-45-20T M45X2 32 20 31.5/35.2 8.5 55
20111Y-52-20T  20112Y-52-20T M52X2 32 20 33/36.7 9 60
20111Y-52-24T  20112Y-52-24T M52X2 38 24 33/41.6 9 60
20111Y-64-32T  20112Y-64-32T M64X2 51 32 35/45.7 14 75

ERT Adh

n oo

WARCI)

RIEATRAERL "/ BRIERTERERXL.

Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Page 06

Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com




BREiEsL HOSE FITTING

AKJIA H Yﬂﬁﬂuﬂ

KJI

20191YT 90 AHIRBLIKE
20191Y

90°METRIC FEMALE MULTISEAL

20191Y-14-04T - M14X1.5 6 04 27 45 355 17
20191Y-14-05 - M14X1.5 8 05 28 4.5 32 19
20191Y-16-04T - M16X1.5 6 04 27 45 36.5 19
20191Y-16-05T - M16X1.5 8 05 32 4.5 38.5 19
20191Y-16-06 20192Y-16-06 M16X1.5 10 06 34.5 45 43 22
20191Y-18-06T 20192Y-18-06T M18X1.5 10 06 345 4 41 22
20191Y-20-08 20192Y-20-08 M20X1.5 13 08 41 55 50.5 27
20191Y-22-08T 20192Y-22-08T M22X1.5 13 08 41 5 43 27
20191Y-27-10DT 20192Y-27-10DT  M27X1.5 16 10 53 55 53.5 32
20191Y-30-10DT 20192Y-30-10DT  M30X1.5 16 10 53 6 55.5 36
20191Y-30-12DT 20192Y-30-12DT  M30X1.5 19 12 61 6 60 36
20191Y-36-12T 20192Y-36-12T M36X2 19 12 61 7 58 41
20191Y-36-16T 20192Y-36-16T M36X2 25 16 75 7 68 41
20191Y-39-16T 20192Y-39-16T M39X2 25 16 75 7 70 46
20191Y-42-16T 20192Y-42-16T M42X2 25 16 75 8.5 725 50
20191Y-45-20T 20192Y-45-20T M45X2 32 20 91 8.5 85 55
20191Y-52-20T 20192Y-52-20T M52X2 32 20 91 9 86.5 60
20191Y-52-24T 20192Y-52-24T M52X2 38 24 106/114.6 9 97 60
20191Y-64-32T 20192Y-64-32T M64X2 51 32 132/142.7 14 1223 75
ERT Adr '/ BIRTERTRAEEL /" BRYERTERERSL.
Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.
Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com Page 07




IKIRERE L HOSE FITTING

20211YT ERAHRRMFEESR

20211YW

GB METRIC FEMALE FLAT SEAT
REF. GB/T 9065.3

R 7 DIMENSIONS

20211Y-14-04T - M14X1.5 6 04 16.5 8.5 17
20211Y-16-04T = M16X1.5 6 04 16 8.5 19
20211Y-16-05T - M16X1.5 8 05 16.5 8.5 19
20211Y-18-05T = M18X1.5 8 05 18 8 22
20211Y-18-06T 20212Y-18-06T M18X1.5 10 06 17 9 22
20211Y-20-05T = M20X1.5 8 05 17.5 10 24
20211Y-22-06T 20212Y-22-06T M22X1.5 10 06 17 10 27
20211Y-22-08T 20212Y-22-08T M22X1.5 13 08 195 10 27
20211Y-27-08T 20212Y-27-08T M27X1.5 13 08 19 10 32
20211Y-27-10T 20212Y-27-10T M27X1.5 16 10 195 10 32
20211Y-30-10T 20212Y-30-10T M30X1.5 16 10 20.5 11 36
20211Y-30-12T 20212Y-30-12T M30X1.5 19 12 225 11 36
20211Y-36-12T 20212Y-36-12T M36X2 19 12 20 13 41
20211Y-36-16T 20212Y-36-16T M36X2 25 16 24 13 41
20211Y-39-16T 20212Y-39-16T M39X2 25 16 235 13 46
20211Y-42-16T 20212Y-42-16T M42X2 25 16 235 15 50
20211Y-42-20W  20212Y-42-20W M42X2 32 20 26/29.7 15 50
20211Y-45-20T 20212Y-45-20T M45X2 32 20 25/28.7 15 55
20211Y-52-20T 20212Y-52-20T M52X2 32 20 25/28.7 17 60
20211Y-52-24T 20212Y-52-24T M52X2 38 24 25/33.6 17 60
20211Y-64-32T 20212Y-64-32T M64X2 51 32 26/36.7 23 75

ERT AF "/ FE

Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Page 08

RIEATRAERL /" BRIBERTERERXL.

Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com




BREiEsL HOSE FITTING

AKJIA H Yﬂﬁﬂuﬂ

KJI

20241YT

A5° RN NIRSFEE £

45° METRIC FEMALE FLAT SEAT
REF. GB/T 9065.3

20241YW

F=RIESPART NO. REHOSE SIZE R <t DIMENSIONS

20241Y-14-04T7 - M14X1.5 6 04 353 8.5 15.7 17
20241Y-16-04T - M16X1.5 6 04 38.1 8.5 18.5 19
20241Y-16-05T - M16X1.5 8 05 42 8.5 19.7 19
20241Y-18-06T 20242Y-18-06T M18X1.5 10 06 423 9 184 22
20241Y-22-08T  20242Y-22-08T M22X1.5 13 08 46.7 10 19.8 27
20241Y-27-10T  20242Y-27-10T M27X1.5 16 10 59.2 10 22.8 32
20241Y-30-10T 20242Y-30-10T M30X1.5 16 10 59.2 11 22.8 36
20241Y-30-12T  20242Y-30-12T M30X1.5 19 12 66.2 11 24.5 36
20241Y-36-12T 20242Y-36-12T M36X2 19 12 66.2 13 24.5 41
20241Y-36-16T  20242Y-36-16T M36X2 25 16 783 13 27.9 41
20241Y-39-16T 20242Y-39-16T M39X2 25 16 79.7 13 29.3 46
20241Y-42-16T  20242Y-42-16T M42X2 25 16 79.7 15 29.3 50
20241Y-42-20W 20242Y-42-20W M42X2 32 20 954 15 35.2 50
20241Y-45-20T  20242Y-45-20T M45X2 32 20 94 15 33.8 55
20241Y-52-20T 20242Y-52-20T M52X2 32 20 94 17 338 60
20241Y-52-24T  20242Y-52-24T M52X2 38 24 106/114.6 17 36.8 60
20241Y-64-32T  20242Y-64-32T M64X2 51 32 134/144.7 23 45.6 75
ERT Adh '/ BIRTERTRAEEL /" BRYERTERERSL.
Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.
Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com Page 09



AKJIA HYDRAULIC

A|REEL HOSE FITTING

KJI

20291YT

90° T NIRBFEE

90° METRIC FEMALE FLAT SEAT
REF. GB/T 9065.3

20291YW

F=R{ESPART NO. REHOSE SIZE R <t DIMENSIONS

Y

E

20291Y-14-04T - M14X1.5 6 04 27 85 295 17
20291Y-16-04T = M16X1.5 6 04 27 8.5 315 19
20291Y-16-05T - M16X1.5 8 05 32 85 37.5 19
20291Y-18-05T = M18X1.5 8 05 32 9 35 22
20291Y-18-06T 20292Y-18-06T MI18XL.5 10 06 345 9 36.5 22
20291Y-22-08T 20292Y-22-08T M22X1.5 13 08 41 10 42 27
20291Y-27-08T 20292Y-27-08T  M27X1.5 13 08 41 10 44.5 32
20291Y-27-10T 20292Y-27-10T  M27X1.5 16 10 53 10 49 32
20291Y-30-10T 20292Y-30-10T  M30XL.5 16 10 53 11 49 36
20291Y-30-12T 20292Y-30-12T M30X1.5 19 12 61 11 54 36
20291Y-36-12T 20292Y-36-12T M36X2 19 12 61 13 54 41
20291Y-36-16T 20292Y-36-16T M36X2 25 16 75 13 64 41
20291Y-39-16T 20292Y-39-16T M39X2 25 16 75 13 66 46
20291Y-42-16T 20292Y-42-16T M42X2 25 16 75 15 66 50
20291Y-42-20W 20292Y-42-20W  M42X2 32 20 91 15 80.5 50
20291Y-45-20T 20292Y-45-20T M45X2 32 20 91 15 78.5 55
20291Y-52-20T 20292Y-52-20T M52X2 32 20 91 17 78.5 60
20291Y-52-24T 20292Y-52-24T M52X2 38 24 106/114.6 17 89 60
20291Y-64-32T 20292Y-64-32T M64X2 51 32 132/142.7 23 1133 75

ERT AF "/ F

Page 10

RIEATRAERL /" BRIERTERERXL.
Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com




gzl HOSE FITTING(A

IKJIA H YDPRUH

KJI

20411YT
20411YW

NHEIRIRE24° T O BIR RS

METRIC FEMALE 24°CONE O-RINGL.T.

REF.1SO 12151-2/DIN3865

) T

R < DIMENSIONS

20411Y-12-04W - M12X1.5 04 6 004.5X1.5 22 14 14
20411Y-14-04T - M14X1.5 04 8 006.5X1.5 24 17 17
20411Y-14-05W - M14X1.5 05 8 006.5X1.5 225 16 17
20411Y-14-06W 20412Y-14-06W M14X1.5 10 06 8 006.5X1.5 22.6/24 1.6 17
20411Y-16-04T - M16X1.5 04 10 008.0X1.5 23 21 19
20411Y-16-05T = M16X1.5 05 10 008.0X1.5 24 21 19
20411Y-16-06W 20412Y-16-06W M16X1.5 10 06 10 008.0X1.5 23.2/245 23 19
20411Y-18-04T = M18X1.5 04 12 010.0X1.5 24.5 15 22
20411Y-18-05T - M18X1.5 05 12 010.0X1.5 245 15 22
20411Y-18-06T 20412Y-18-06T M18X1.5 10 06 12 010.0X1.5 27.5/25.5 15 22
20411Y-18-08W 20412Y-18-08W M18X1.5 13 08 12 010.0X1.5 25/26 1.8 22
20411Y-22-06T 20412Y-22-06T M22X1.5 10 06 15 012.0X2.0 26.6 3 27
20411Y-22-08T 20412Y-22-08T M22X1.5 13 08 15 012.0X2.0 28 3 27
20411Y-22-10W 20412Y-22-10W M22X1.5 16 10 15 012.0X2.0 25.5/27.2 3 27
20411Y-26-08T 20412Y-26-08T M26X1.5 13 08 18 015.0X2.0 27.5 21 32
20411Y-26-10T 20412Y-26-10T M26X1.5 16 10 18 015.0X2.0 29/284 21 32
20411Y-26-12W 20412Y-26-12W M26X1.5 19 12 18 015.0X2.0  26.5/28 21 32
20411Y-30-10T 20412Y-30-10T M30X2.0 16 10 22 020.0X2.0 315 3.8 36
20411Y-30-12T 20412Y-30-12T M30X2.0 19 12 22 020.0X2.0 33.5/345 3.8 36
20411Y-36-12T 20412Y-36-12T M36X2.0 19 12 28 026.0X2.0 33 4.5 41
20411Y-36-16T 20412Y-36-16T M36X2.0 25 16 28 026.0X2.0 35/36 4.5 41
20411Y-45-16T 20412Y-45-16T M45X2.0 25 16 35 032.0X2.5 37 4 50
20411Y-45-20T 20412Y-45-20T M45X2.0 32 20 35 032.0X2.5 37.5/42.2 4 50
20411Y-52-20T 20412Y-52-20T M52X2.0 32 20 42 038.0X2.5 38.5/42.2 4 60
20411Y-52-24T 20412Y-52-24T M52X2.0 38 24 42 038.0X2.5 38.5/47 4 60
20411Y-52-32W 20412Y-52-32W M52X2.0 51 32 42 038.0X2.5 36/46.7 4 60
ERT A/ AIRTERTFRAEEL "/ ERIEATESREREL,
Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.
Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com Page 11



IKiR] R EEsL HOSE FITTING

A5° NHIRIRBR24° O BB RS
45°METRIC FEMALE 24°CONE O-RINGL.T.
REF. 1SO 12151-2/DIN3865 A

20441YT

20441YW

20441Y-12-04W - M12X1.5 6 04 004.5X1.5 38.5 14 17.6 14
20441Y-14-04T = M14X1.5 6 04 006.5X1.5 36 1.7 164 17
20441Y-14-05W - M14X1.5 8 05 006.5X1.5 37.7 16 171 17
20441Y-16-04T = M16X1.5 6 04 10 008.0X1.5 36.3 21 16.5 19
20441Y-16-05T - M16X1.5 8 05 10 008.0X1.5 40 21 17.7 19
20441Y-16-06W 20442Y-16-06W M16X1.5 10 06 10 008.0X1.5 42.3 2.3 184 19
20441Y-18-04T - M18X1.5 6 04 12 010.0X1.5 37.2 15 174 22
20441Y-18-05T = M18X1.5 8 05 12 010.0X1.5 41.3 15 19 22
20441Y-18-06T 20442Y-18-06T M18X1.5 10 06 12 010.0X1.5 43 15 19 22
20441Y-18-08W 20442Y-18-08W M18X1.5 13 08 12 010.0X1.5 47.9 1.8 204 22
20441Y-22-06T 20442Y-22-06T M22X1.5 10 06 15 012.0X2.0 434 3 194 27
20441Y-22-08T 20442Y-22-08T M22X1.5 13 08 15 012.0X2.0 48.1/49.1 3 21.2 27
20441Y-22-10W 20442Y-22-10W M22X1.5 16 10 15 012.0X2.0  55/56.5 3 25 27
20441Y-26-08T 20442Y-26-08T M26X1.5 13 08 18 015.0X2.0 49.1 21 222 32
20441Y-26-10T 20442Y-26-10T M26X1.5 16 10 18 015.0X2.0 61.2 21 249 32
20441Y-26-12W 20442Y-26-12W M26X1.5 19 12 18 015.0X2.0 70.1 21 28.9 32
20441Y-30-10T 20442Y-30-10T M30X2.0 16 10 22 020.0X2.0 62.5 3.8 26.2 36
20441Y-30-12T 20442Y-30-12T M30X2.0 19 12 22 020.0X2.0 69.1 3.8 27.5 36
20441Y-36-12T 20442Y-36-12T M36X2.0 19 12 28 026.0X2.0 69.4 4.5 27.7 41
20441Y-36-16T 20442Y-36-16T M36X2.0 25 16 28 026.0X2.0 814 4.5 31 41
20441Y-45-16T 20442Y-45-16T M45X2.0 25 16 35 032.0X2.5 83.6 4 33.2 50
20441Y-45-20T 20442Y-45-20T M45X2.0 32 20 35 032.0X2.5 96.5 4 36.2 50
20441Y-52-20T 20442Y-52-20T M52X2.0 32 20 42 038.0X2.5 97.2 4 36.9 60
20441Y-52-24T 20442Y-52-24T M52X2.0 38 24 42 038.0X2.5 110.5/119.1 4 414 60

ERT At/ IRTERTRAERE. '/ BRIBRTERERL.

Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Page 12

Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com




BREiEsL HOSE FITTING

KJI

AKJIA H Yﬂﬁﬂuﬂ

20491YT
20491YW

w7

90° A NIRL24°HEFHOF B R 25

90°METRIC FEMALE 24°CONE O-RING L.T.

REF.1SO 12151-2/DIN3865

>

20491Y-12-04W - M12X1.5 6 04 004.5X1.5 27 14 31 14
20491Y-14-04T - M14X1.5 6 04 006.5X1.5 27 1.7 304 17
20491Y-14-05W - M14X1.5 8 05 006.5X1.5 28 16 315 17
20491Y-16-04T = M16X1.5 6 04 10 008.0X1.5 27 21 30.7 19
20491Y-16-05T - M16X1.5 8 05 10 008.0X1.5 32 21 347 19
20491Y-18-04T = M18X1.5 6 04 12 010.0X1.5 27 15 32 22
20491Y-18-05T - M18X1.5 8 05 12 010.0X1.5 32 1.5 36.5 22
20491Y-18-06T 20492Y-18-06T M18X1.5 10 06 12 010.0X1.5 34.5 15 37 22
20491Y-18-08W 20492Y-18-08W M18X1.5 13 08 12 010.0X1.5 38 18 394 22
20491Y-22-06T 20492Y-22-06T M22X1.5 10 06 15 012.0X2.0 345 3 38 27
20491Y-22-08T 20492Y-22-08T M22X1.5 13 08 15 012.0X2.0 41 3 44 27
20491Y-22-10W 20492Y-22-10W M22X1.5 16 10 15 012.0X2.0 44/44.5 3 49.5 27
20491Y-26-08T 20492Y-26-08T M26X1.5 13 08 18 015.0X2.0 41 21 454 32
20491Y-26-10T 20492Y-26-10T M26X1.5 16 10 18 015.0X2.0 53 21 51.9 32
20491Y-26-12W 20492Y-26-12W  M26X1.5 19 12 18 015.0X2.0 58 21 57.5 32
20491Y-30-10T 20492Y-30-10T M30X2.0 16 10 22 020.0X2.0 53 338 53.7 36
20491Y-30-12T 20492Y-30-12T M30X2.0 19 12 22 020.0X2.0 61 3.8 58.2 36
20491Y-36-12T 20492Y-36-12T M36X2.0 19 12 28 026.0X2.0 61 4.5 58.5 41
20491Y-36-16T 20492Y-36-16T M36X2.0 25 16 28 026.0X2.0 75 4.5 68.5 41
20491Y-45-16T 20492Y-45-16T M45X2.0 25 16 35 032.0X2.5 75 4 715 50
20491Y-45-20T 20492Y-45-20T MA45X2.0 32 20 35 032.0X2.5 91 4 82 50
20491Y-52-20T 20492Y-52-20T M52X2.0 32 20 42 038.0X2.5 91 4 83 60
20491Y-52-24T 20492Y-52-24T M52X2.0 38 24 42 038.0X2.5 106/1146 4 95.5 60
ERT Ad /" BIRTERTREASEL /" BRYERTESsEEL,
Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.
Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com Page 13



IKiR] R EEsL HOSE FITTING

NHEIRBL24°HHOF B ERS!
METRIC FEMALE 24°CONE O-RING H.T.
REF. 1SO 12151-2/DIN3865

20511YT

20511YW

E7hE

20511Y-14-04T - M14X1.5 6 04 004.5X1.5 23.2 17 17
20511Y-16-04T = M16X1.5 6 04 006.5X1.5 245 18 19
20511Y-16-05T - M16X1.5 8 05 006.5X1.5 25 18 19
20511Y-18-04T = M18X1.5 6 04 10 008.0X1.5 255 15 22
20511Y-18-05T - M18X1.5 8 05 10 008.0X1.5 255 15 22
20511Y-18-06T 20512Y-18-06T M18X1.5 10 06 10 008.0X1.5 26.5 15 22
20511Y-20-05T - M20X1.5 8 05 12 010.0X1.5 26.5 25 24
20511Y-20-06T 20512Y-20-06T MZ20X1.5 10 06 12 010.0X1.5 26.5/28 25 24
20511Y-22-06T 20512Y-22-06T M22X1.5 10 06 14 011.0X2.0 26.5 3 27
20511Y-22-08T 20512Y-22-08T M22X1.5 13 08 14 011.0X2.0 29 3 27
20511Y-24-06T 20512Y-24-06T M24X1.5 10 06 16 013.0X2.0 27/285 3 30
20511Y-24-08T 20512Y-24-08T M24X1.5 13 08 16 013.0X2.0 27.5/28.5 3 30
20511Y-24-10W 20512Y-24-10W M24X1.5 16 10 16 013.0X2.0 26.5/28.2 3 30
20511Y-30-08T 20512Y-30-08T  M30X2 13 08 20 016.3X24 325/36.6 2.5 36
20511Y-30-10T 20512Y-30-10T  M30X2 16 10 20 016.3X2.4 33/34.2 25 36
20511Y-30-12T 20512Y-30-12T  M30X2 19 12 20 016.3X2.4 345 2.5 36
20511Y-36-12T 20512Y-36-12T  M36X2 19 12 25 020.3X24 34/35.5 3.2 46
20511Y-36-16T 20512Y-36-16T  M36X2 25 16 25 020.3X2.4 37 3.2 46
20511Y-42-16T 20512Y-42-16T  M42X2 25 16 30 025.3X24 385/395 3.9 50
20511Y-42-20W 20512Y-42-20W  M42X2 32 20 30 025.3X24  33/37 3.9 50
20511Y-52-20T 20512Y-52-20T  M52X2 32 20 38 033.3X24 41.5/45.4 60
20511Y-52-24T 20512Y-52-24T  M52X2 38 24 38 033.3X24 41.5/50 9 60

ERT AR/ AIRTERTRAERL "/ BRIEATESRER.

Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Page 14

Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com




BREiEsL HOSE FITTING

KJI

AKJIA H Yﬂﬁﬂuﬂ

20541YT

45° N HIRIRSR24° T OF B E RS

45°METRIC FEMALE 24°CONE O-RING H.T.
REF.1SO 12151-2/DIN3865

20541YW

w7

20541Y-14-04T - M14X1.5 6 04 6 004.5X1.5 36 1.7 16.4 17
20541Y-16-04T = M16X1.5 6 04 8 006.5X1.5 36.4 18 16.7 19
20541Y-16-05T - M16X1.5 8 05 006.5X1.5 381 1.8 17 19
20541Y-18-04T - M18X1.5 6 04 10 008.0X1.5 374 15 17.8 22
20541Y-18-05T - M18X1.5 8 05 10 008.0X1.5 413 15 19 22
20541Y-18-06T 20542Y-18-06T M18X1.5 10 06 10 008.0X1.5 434 15 194 22
20541Y-20-05T - M20X1.5 8 05 12 010.0X1.5 41.7 25 193 24
20541Y-20-06T 20542Y-20-06T M20X1.5 10 06 12 010.0X1.5 43.7 2.5 19.8 24
20541Y-22-06T 20542Y-22-06T M22X1.5 10 06 14 011.0X2.0 437 3 19.8 27
20541Y-22-08T 20542Y-22-08T M22X1.5 13 08 14 011.0X2.0 48.5 3 215 27
20541Y-24-06T 20542Y-24-06T M24X1.5 10 06 16 013.0X2.0 437 3 19.8 30
20541Y-24-08T 20542Y-24-08T M24X1.5 13 08 16 013.0X2.0 485 3 215 30
20541Y-30-08T 20542Y-30-08T  M30X2 13 08 20 016.3X2.4 51.3 2.5 244 36
20541Y-30-10T 20542Y-30-10T M30X2 16 10 20 016.3X2.4 63.4 2.5 27.1 36
20541Y-30-12T 20542Y-30-12T M30X2 19 12 20 016.3X2.4 68.4 2.5 27.1 36
20541Y-36-12T 20542Y-36-12T M36X2 19 12 25 020.3X24 703 3.2 28.6 46
20541Y-36-16T 20542Y-36-16T M36X2 25 16 25 020.3X2.4 824 3.2 32 46
20541Y-42-16T 20542Y-42-16T M42X2 25 16 30 025.3X24 836 3.9 33.2 50
20541Y-42-20W 20542Y-42-20W  M42X2 32 20 30 025.3X24 1004 3.9 40.1 50
20541Y-52-20T 20542Y-52-20T M52X2 32 20 38 033.3X2.4 99.7 9 394 60
20541Y-52-24T 20542Y-52-24T M52X2 38 24 38 033.3X24 111.6/120 9 42.5 60

ERT A/ AIRTERTREERL /" BRIYERTESEREL.

Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com Page 15



AKJIA HYDRAULIC

A|REEL HOSE FITTING

KJI

20591YT

90° B NIRL24° RO B E &5

90°METRIC FEMALE 24°CONE O-RING H.T.
REF.1SO 12151-2/DIN3865

20591YW

20591Y-14-04T - M14X1.5 6 04 004.5X1.5 27 17 304 17
20591Y-16-04T = M16X1.5 6 04 006.5X1.5 27 1.8 31 19
20591Y-16-05T - M16X1.5 8 05 006.5X1.5 29 18 32 19
20591Y-18-04T = M18X1.5 6 04 10 008.0X1.5 27 15 325 22
20591Y-18-05T - M18X1.5 8 05 10 008.0X1.5 32 15 36.5 22
20591Y-18-06T 20592Y-18-06T M18X1.5 10 06 10 008.0X1.5 345 15 37.5 22
20591Y-20-05T - M20X1.5 8 05 12 010.0X1.5 32 25 37 24
20591Y-20-06T 20592Y-20-06T M20X1.5 10 06 12 010.0X1.5 34.5/36 25 38 24
20591Y-22-06T 20592Y-22-06T M22X1.5 10 06 14 011.0X2.0 345 3 38.5 27
20591Y-22-08T 20592Y-22-08T M22X1.5 13 08 14 011.0X2.0 41 3 445 27
20591Y-24-06T 20592Y-24-06T M24X1.5 10 06 16 013.0X2.0 345 3 38.5 30
20591Y-24-08T 20592Y-24-08T M24X1.5 13 08 16 013.0X2.0 41 3 445 30
20591Y-24-10W 20592Y-24-10W M24X1.5 16 10 16 013.0X2.0 43.5/44.5 3 52 30
20591Y-30-08T 20592Y-30-08T M30X2 13 08 20 016.3X2.4 41 25 48.5 36
20591Y-30-10T 20592Y-30-10T M30X2 16 10 20 016.3X2.4 53 25 55 36
20591Y-30-12T 20592Y-30-12T M30X2 19 12 20 016.3X2.4 58 25 55 36
20591Y-36-12T 20592Y-36-12T M36X2 19 12 25 020.3X2.4 61 3.2 59.8 46
20591Y-36-16T 20592Y-36-16T M36X2 25 16 25 020.3X2.4 75 3.2 69.8 46
20591Y-42-16T 20592Y-42-16T M42X2 25 16 30 025.3X2.4 75 3.9 71.6 50
20591Y-42-20W 20592Y-42-20W  M42X2 32 20 30 025.3X2.4 91 3.9 87.5 50
20591Y-52-20T 20592Y-52-20T M52X2 32 20 38 033.3X24 91 9 86.5 60
20591Y-52-24T 20592Y-52-24T  M52X2 38 24 38 033.3X2.4 106/114.5 9 97 60

ERT At/ IRTERTRAERL "/ BRIBERTESRERL.

Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Page 16 Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com



REEL HOSE FITTING

KJI

AKJIA H Yﬂﬁﬂuﬂ

20711YT EFAHNER74mE:
GB METRIC FEMALE 74°CONE SEAT
REF. GB/T 9065.1

20711YW

s | S JREHOSESIZE | R I DIMENSIONS |

20711Y-14-04T - M14X1.5 6 04 16.5 8.5 17
20711Y-16-04T - M16X1.5 6 04 16 8 19
20711Y-16-05T - M16X1.5 8 05 16.5 8 19
20711Y-18-05T - M18X1.5 8 05 18 8 22
20711Y-18-06T 20712Y-18-06T M18X1.5 10 06 19 8 22
20711Y-22-06T 20712Y-22-06T M22X1.5 10 06 18 10 27
20711Y-22-08T  20712Y-22-08T M22X1.5 13 08 19.5 10 27
20711Y-27-08T 20712Y-27-08T M27X1.5 13 08 19 10 32
20711Y-27-10T  20712Y-27-10T M27X1.5 16 10 20 10 32
20711Y-30-10T 20712Y-30-10T M30X1.5 16 10 20 11 36
20711Y-30-12T  20712Y-30-12T M30X1.5 19 12 235 11 36
20711Y-36-12T 20712Y-36-12T M36X2 19 12 21 13 41
20711Y-36-16T 20712Y-36-16T M36X2 25 16 24 13 41
20711Y-39-16T 20712Y-39-16T M39X2 25 16 235 13 46
20711Y-42-16T  20712Y-42-16T M42X2 25 16 235 15 50
20711Y-42-20W 20712Y-42-20W M42X2 32 20 26/29.7 15 50
20711Y-45-20T 20712Y-45-20T M45X2 32 20 25/28.7 15 55
20711Y-52-20T 20712Y-52-20T M52X2 32 20 25/28.7 17 60
20711Y-52-24T  20712Y-52-24T M52X2 38 24 25/33.6 17 60
20711Y-64-32T 20712Y-64-32T M64X2 51 32 26/36.7 23 75
ERT Adh '/ IRTERTRAEEL /" BRYERTERERSL.
Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.
Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com Page 17



IKiR] R EEsL HOSE FITTING

A5 EFRA I RIRNT 4°F %
45°GB METRIC FEMALE 74°CONE SEAT

20741YT

20741YW

REF. GB/T 9065.1 A

20741Y-14-04T - M14X1.5 6 04 353 8.5 15.7 17
20741Y-16-04T = M16X1.5 6 04 38.2 8 18.5 19
20741Y-16-05T - M16X1.5 8 05 424 8 20 19
20741Y-18-05T = M18X1.5 8 05 42.7 8 204 22
20741Y-18-06T 20742Y-18-06T  M18X1.5 10 06 44.8 8 20.8 22
20741Y-22-06T 20742Y-22-06T M22X1.5 10 06 448 10 20.8 27
20741Y-22-08T 20742Y-22-08T  M22X1.5 13 08 47 10 20.1 27
20741Y-27-08T 20742Y-27-08T  M27X1.5 13 08 48.5 10 215 32
20741Y-27-10T 20742Y-27-10T  M27X1.5 16 10 591 10 22.8 32
20741Y-30-10T 20742Y-30-10T  M30X1.5 16 10 60.3 11 243 36
20741Y-30-12T 20742Y-30-12T  M30X1.5 19 12 67.6 11 25.9 36
20741Y-36-12T 20742Y-36-12T M36X2 19 12 67.6 13 25.9 41
20741Y-36-16T 20742Y-36-16T M36X2 25 16 79.7 13 29.3 41
20741Y-39-16T 20742Y-39-16T M39X2 25 16 80.4 13 30 46
20741Y-42-16T 20742Y-42-16T M42X2 25 16 81.8 15 314 50
20741Y-42-20W 20742Y-42-20W M42X2 32 20 95.8 15 35.5 50
20741Y-45-20T 20742Y-45-20T M45X2 32 20 94.7 15 345 55
20741Y-52-20W 20742Y-52-20W M52X2 32 20 99.9 15.2 39.6 60
20741Y-52-24W 20742Y-52-24W M52X2 38 24 111.8/1225 15.2 427 60

ERT A"/ IRTERTRAEES. "/ BRIERTERERL.
Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Page 18 Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com



BREiEsL HOSE FITTING

AKJIA H Yﬂﬁﬂuﬂ

KJI

20791YT
20791YW

90°ER A HI IR T 4°
90°GB METRIC FEMALE 74°CONE SEAT
REF. GB/T 9065.1

T o .

74°

20791Y-14-04T - M14X1.5 6 04 27 8.5 294 17
20791Y-16-04T - M16X1.5 6 04 27 8 32 19
20791Y-16-05T - M16X1.5 8 05 32 8 38 19
20791Y-18-05T = M18X1.5 8 05 32 8 38.5 22
20791Y-18-06T 20792Y-18-06T M18X1.5 10 06 345 8 40 22
20791Y-22-06T 20792Y-22-06T M22X1.5 10 06 345 10 40 27
20791Y-22-08T 20792Y-22-08T M22X1.5 13 08 41 10 425 27
20791Y-27-08T 20792Y-27-08T M27X1.5 13 08 41 10 44.5 32
20791Y-27-10T  20792Y-27-10T M27X1.5 16 10 53 10 49 32
20791Y-30-10T 20792Y-30-10T M30X1.5 16 10 53 11 51 36
20791Y-30-12T 20792Y-30-12T M30X1.5 19 12 61 11 56 36
20791Y-36-12T 20792Y-36-12T M36X2 19 12 61 13 56 41
20791Y-36-16T 20792Y-36-16T M36X2 25 16 75 13 66 41
20791Y-39-16T 20792Y-39-16T M39X2 25 16 75 13 67 46
20791Y-42-16T  20792Y-42-16T M42X2 25 16 75 15 69 50
20791Y-42-20W 20792Y-42-20W M42X2 32 20 91 15 81 50
20791Y-45-20T 20792Y-45-20T M45X2 32 20 91 15 79.5 55
20791Y-52-20W 20792Y-52-20W M52X2 32 20 91 15.2 86.8 60
20791Y-52-24W 20792Y-52-24W M52X2 38 24 106/116.7 15.2 97.3 60
ERT AfR /" BIRTERTRAEEL "/ BRYERATEFEREL.
Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.
Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com Page 19



[AKJIA] S &iEsL HOSE FITTING

22611YW XERBERK60°SMHEE

BSP FEMALE 60°CONE C A

22611Y

S2

22611Y-04-04 - G1/4"X19 6 04 18 55 19
22611Y-06-04 = G3/8"X19 6 04 19 6.3 22
22611Y-06-06 22612Y-06-06 G3/8"X19 10 06 19.5/21 6.3 22
22611Y-08-06 22612Y-08-06 G1/2"X14 10 06 21/22.5 7.5 27
22611Y-08-08 22612Y-08-08 G1/2"X14 13 08 21.5/22.5 7.5 27
22611Y-12-10 22612Y-12-10 G3/4"X14 16 10 23.5/25.2 10.9 32
22611Y-12-12 22612Y-12-12 G3/4"X14 19 12 24/26.6 10.9 32
22611Y-16-16 22612Y-16-16 G1"X11 25 16 27/28 11.7 41
22611Y-20-20W  22612Y-20-20W G1.1/4"X11 32 20 30.5/354 10.1 50
22611Y-24-24W  22612Y-24-24W  G1.1/2"x11 38 24 33/41.6 125 55
22611Y-32-32W  22612Y-32-32W G2"X11 51 32 33/44 16.1 70

ERT A"/ IRTERTRAEESL "/ BRIERTERERL.
Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Page 20 —— Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com



szl HOSE FITTING[AKJIA]

22641YW 45 HBMIRL60°IMER
45°BSP FEMALE 60°CONE
22641Y

22641Y-04-04 - G1/4"X19 6 04 36 55 164 19
22641Y-06-04 = G3/8"X19 6 04 36.9 6.3 17.2 22
22641Y-06-06  22642Y-06-06  G3/8"X19 10 06 42.8 6.3 18.8 22
22641Y-08-06  22642Y-08-06  G1/2"'X14 10 06 448 7.5 20.8 27
22641Y-08-08  22642Y-08-08  G1/2"X14 13 08 48.8 7.5 219 27
22641Y-12-10  22642Y-12-10 G3/4'X14 16 10 62.4 10.9 26.1 32
22641Y-12-12 22642Y-12-12  G3/4"X14 19 12 69.1 10.9 274 32
22641Y-16-16  22642Y-16-16 G1"X11 25 16 82.7 11.7 323 41
22641Y-20-20W 22642Y-20-20W G1.1/4"X11 32 20 98.2 10.1 38 50
22641Y-24-24W 22642Y-24-24W G1.1/2"x11 38 24 113.7/1223 125 44.6 55
22641Y-32-32W 22642Y-32-32W  G2'X11 51 32 141.1/1519 161 52.7 70

ERT A"/ BIRTERTRAEESL "/ BRIERTERERL.
Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

22691YW 90 % MIBL60°5MEE

90° BSP FEMALE 60° CONE

22691Y

F=R{ESPART NO. EREHOSE SIZE R <t DIMENSIONS

22691Y-04-04 - G1/4"X19 6 04 27 5.5 30.5 19
22691Y-06-04 = G3/8"X19 6 04 27 6.3 31.7 22
22691Y-06-06  22692Y-06-06  G3/8"X19 10 06 345 6.3 37.2 22
22691Y-08-06  22692Y-08-06  G1/2"X14 10 06 34.5 7.5 40 27
22691Y-08-08  22692Y-08-08  G1/2"X14 13 08 41 7.5 46 27
22691Y-12-10  22692Y-12-10 G3/4"X14 16 10 53 10.9 53.6 32
22691Y-12-12  22692Y-12-12  G3/4"X14 19 12 61 10.9 581 32
22691Y-16-16  22692Y-16-16 G1"X11 25 16 75 11.7 70.3 41

22691Y-20-20W 22692Y-20-20W G1.1/4"X11 32 20 91 10.1 84.5 50

22691Y-24-24W 22692Y-24-24W G1.1/2"'x11 38 24 106/114.6 12,5 100 55
22691Y-32-32W 22692Y-32-32W  G2"X11 51 32 132/143 16.1 123.2 70
ERT Adr '/ IRTERTRAEEL /" BRYERTERERSL.
Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com Page 21




[AKJIA] S &iEsL HOSE FITTING

22611DY-SMW XERESE0IHEEN R

BSP FEMALE 60°CONE DOUBLE HEXAGON

22611DY-SM

C

o7

S2

F=RCSPART NO. SREHOSE SIZE R < DIMENSIONS

22611DY-04-04SM - G1/4"X19 6 04 235 55 14 19
22611DY-06-06SM 22612DY-06-06SM  G3/8"X19 10 06 26 6.3 17 22
22611DY-08-065M 22612DY-08-06SM  G1/2"X14 10 06 30.5 7.5 19 27
22611DY-08-08SM 22612DY-08-08SM  G1/2"X14 13 08 31 7.5 19 27
22611DY-12-12SM 22612DY-12-12SM  G3/4"X14 19 12 33.5/35 10.9 27 32
22611DY-16-16SM 22612DY-16-16SM G1"X11 25 16 36 11.7 32 41
22611DY-20-20SMW 22612DY-20-20SMW G1.1/4"X11 32 20 44/47.4 101 41 50
22611DY-24-24SMW 22612DY-24-24SMW G1.1/2"x11 38 24 43.5/52.1 125 46 55
22611DY-32-32SMW 22612DY-32-32SMW  G2"X11 51 32 45/55.5 16 60 70

ERT A/ BIRTERTREERL /" BRI ERATERERS.
Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

LY

24211DY-SMW =HIORFSHEBEFEIIR
ORFS FEMALE FLAT SEAT DOUBLE HEXAGON
24211DY-SM

REF.1SO 12151-1/SAE J516

=X SPART NO. §REHOSE SIZE R < DIMENSIONS

24211DY-04-04SM - 9/16"X18 6 04 285 8.5 14 19
24211DY-06-06SM 24212DY-06-06SM  11/16"X16 10 06 31 10 17 22
24211DY-08-08SM 24212DY-08-08SM  13/16"X16 13 08 336 11 19 27
24211DY-10-10SM 24212DY-10-10SM 1"X14 16 10 40.1 135 24 30
24211DY-12-12SM 24212DY-12-12SM  1.3/16"X12 19 12 44.5 15 30 36
24211DY-16-16SMW 24212DY-16-16SMW  1.7/16"X12 25 16 48.5 15 36 41
24211DY-20-20SMW  24212DY-20-20SMW 1.11/16"X12 32 20 54.5/57.9 15 41 50
24211DY-24-24SMW  24212DY-24-24SMW 2"X12 38 24 56/64.6 14.8 50 60

ERT Ad '/ IRTERTREAEREL /" ERIEBRTERERL.
Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Page 22

Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com




szl HOSE FITTING[AKJIA]

EHIORFSHIRL FEH
ORFS FEMALE FLAT SEAT

24211YT

REF.I1SO 12151-1/SAE J516

24211YW

24211Y

R 3 DIMENSIONS
24211Y-04-04 - 9/16"X18 6 04 225 8.5 19
24211Y-04-05 - 9/16"X18 8 05 225 8.5 19
24211Y-06-04T - 11/16"X16 6 04 235 10 22
24211Y-06-06 24212Y-06-06 11/16"X16 10 06 25.5/27 10 22
24211Y-08-06T 24212Y-08-06T 13/16"X16 10 06 25 11 27
24211Y-08-08 24212Y-08-08 13/16"X16 13 08 28/29.1 11 27
24211Y-10-08 24212Y-10-08 1"X14 13 08 32.5/33.6 13.5 30
24211Y-10-10 24212Y-10-10 1"X14 16 10 33.6/34.5 13.5 30
24211Y-12-08T 24212Y-12-08T 1.3/16"X12 13 08 33.5 14 36
24211Y-12-10T 24212Y-12-10T 1.3/16"X12 16 10 32 14 36
24211Y-12-12T 24212Y-12-12T 1.3/16"X12 19 12 33/33.1 14 36
24211Y-16-12T 24212Y-16-12T 1.7/16"X12 19 12 35 14.8 41
24211Y-16-16T 24212Y-16-16T 1.7/16"X12 25 16 34.5 14.8 41

24211Y-20-20W  24212Y-20-20W  1.11/16"X12 32 20 42.5/46.2 15 50
24211Y-24-24T 24212Y-24-24T 2"X12 38 24 36/44.5 14.8 60

ERT A"/ IRTERTRAEES. "/ BRIERTERERL.
Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com

Page 23



IKiR] R EEsL HOSE FITTING

45°ZH|ORFSHIR L E
45°0RFS FEMALE FLAT SEAT
REF. ISO 12151-1/SAE J516

24241YT

24241YW

24241Y

g
A\

\,
s2

R I DIMENSIONS

>

AATTENN
;
: 1L

24241Y-04-04 - 9/16"X18 6 04 30.7 8.5 111 19
24241Y-06-04T = 11/16"X16 6 04 35.8 10 16 22

24241Y-06-06 24242Y-06-06  11/16"X16 10 06 37.7 10 13.8 22
24241Y-08-06T 24242Y-08-06T 13/16"X16 10 06 44.1 11 20.1 27

24241Y-08-08 24242Y-08-08  13/16"X16 13 08 44.6 11 17.5 27
24241Y-10-08T 24242Y-10-08T 1"X14 13 08 50.2 135 233 30

24241Y-10-10 24242Y-10-10 1"X14 16 10 56 135 19.7 30
24241Y-12-08T 24242Y-12-08T 1.3/16"X12 13 08 48.5 14 215 36
24241Y-12-10T  24242Y-12-10T 1.3/16"X12 16 10 591 14 22.8 36
24241Y-12-12T 24242Y-12-12T 1.3/16"X12 19 12 66.2 14 245 36
24241Y-16-12T  24242Y-16-12T 1.7/16"X12 19 12 66.9 14.8 25.2 41
24241Y-16-16T  24242Y-16-16T 1.7/16"X12 25 16 79 14.8 28.6 41
24241Y-20-20W  24242Y-20-20W 1.11/16"X12 32 20 954 15 35.2 50
24241Y-24-24T  24242Y-24-24T 2"X12 38 24 105.9/1145 1438 36.8 60

ERT At/ BIRTERTRAERL "/ BRIERTERERRL.

Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Page 24

Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com




BREiEsL HOSE FITTING

AKJIA H Yﬂﬁﬂuﬂ

KJI

24291YT

90°£HIORFSHIRLF @

90°ORFS FEMALE FLAT SEAT
REF.I1SO 12151-1/SAE J516

24291YW
24291Y

E

24291Y-04-04 - 9/16"X18 6 04 27 8.5 244 19
24291Y-06-04T - 11/16"X16 6 04 27 10 30 22
24291Y-06-06  24292Y-06-06  11/16"X16 10 06 34.5 10 30 22
24291Y-08-06T 24292Y-08-06T 13/16"X16 10 06 34.5 11 39 27
24291Y-08-08  24292Y-08-08  13/16"X16 13 08 40.7 11 387 27
24291Y-10-08  24292Y-10-08 1"X14 13 08 41 13.5 445 30
24291Y-10-10  24292Y-10-10 1"X14 16 10 53 135 44.5 30
24291Y-12-08T 24292Y-12-08T 1.3/16"X12 13 08 41 14 445 36
24291Y-12-10T 24292Y-12-10T 1.3/16"X12 16 10 53 14 49 36
24291Y-12-12T 24292Y-12-12T 1.3/16"X12 19 12 61 14 54 36
24291Y-16-12T 24292Y-16-12T 1.7/16"X12 19 12 61 14.8 55 41
24291Y-16-16T 24292Y-16-16T 1.7/16"X12 25 16 75 14.8 65 41
24291Y-20-20W 24292Y-20-20W 1.11/16"X12 32 20 91 15 80.5 50
24291Y-24-24T 24292Y-24-24T 2"X12 38 24 106/1146  14.8 89 60

ERT AR/ IRTERTRAEREL /" GRIYGRATEREREL.

Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com Page 25



IKiR] R EEsL HOSE FITTING

EHICHIRNT74°NiEHE

JIC FEMALE 74° CONE SEAT
REF. SAE J514

26711YT

26711YW

26711Y

26711Y-04-04 - 7/16"X20 6 04 15 9 15
26711Y-04-05 = 7/16"X20 8 05 15 9 15
26711Y-05-05 - 1/2"X20 8 05 155 9.5 17
26711Y-05-06 26712Y-05-06 1/2"X20 10 06 15.5/17 9.5 17
26711Y-06-04 - 9/16"X18 6 04 155 10.5 19
26711Y-06-05 = 9/16"X18 8 05 155 10.5 19
26711Y-06-06 26712Y-06-06 9/16"X18 10 06 15.5/17 10.5 19
26711Y-08-06 26712Y-08-06 3/4"X16 10 06 17.5/19 11 24
26711Y-08-08 26712Y-08-08 3/4"X16 13 08 18.5/19.2 11 24
26711Y-08-10 26712Y-08-10 3/4"X16 16 10 19/20.5 11 24
26711Y-10-08 26712Y-10-08 7/8"X14 13 08 19/20 13 27
26711Y-10-10 26712Y-10-10 7/8"X14 16 10 19.5/21 13 27
26711Y-12-10 26712Y-12-10 1.1/16"X12 16 10 21/22.5 15 32
26711Y-12-12 26712Y-12-12 1.1/16"X12 19 12 22/23.5 15 32
26711Y-16-12 26712Y-16-12 1.5/16"X12 19 12 22/235 16 41
26711Y-16-16 26712Y-16-16 1.5/16"X12 25 16 23/24 16 41
26711Y-20-20W 26712Y-20-20W  1.5/8"X12 32 20 28/31.9 16.1 50
26711Y-24-24W  26712Y-24-24W  1.7/8"X12 38 24 30.5/39.1 20 55
26711Y-32-32T  26712Y-32-32T  2.1/2"X12 51 32 27/38 235 75

ERT A/ BIRTERTREAERSL "/ BRIERTERERL.

Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Page 26 Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com



BREiEsL HOSE FITTING

AKJIA H Yﬂﬁﬂuﬂ

KJI

26741YW A5 =HIICRERLT4 RER

45°JIC FEMALE 74°CONE SEAT

26741Y

= RHLEPART NO. EREHOSE SIZE R < DIMENSIONS

REF.

SAE J514

/[I,,////llllllllllllll';ll.,..

z’-i/f

26741Y-04-04 - 7/16"X20 6 04 341 9 14.3 15
26741Y-04-05 - 7/16"X20 8 05 34.9 9 14.3 15
26741Y-05-05 - 1/2"X20 8 05 381 9.5 15.8 17
26741Y-06-06 26742Y-06-06 9/16"X18 10 06 40.2 10.5 16.2 19
26741Y-08-06 26742Y-08-06 3/4"X16 10 06 41.6 11 17.6 24
26741Y-08-08 26742Y-08-08 3/4"X16 13 08 46.3 11 194 24
26741Y-08-10 26742Y-08-10 3/4"X16 16 10 54.6 11 20.1 24
26741Y-10-08 26742Y-10-08 7/8"X14 13 08 474 13 20.5 27
26741Y-10-10 26742Y-10-10 7/8"X14 16 10 59.5 13 23.2 27
26741Y-12-10 26742Y-12-10 1.1/16"X12 16 10 60.2 15 239 32
26741Y-12-12 26742Y-12-12 1.1/16"X12 19 12 66.9 15 25.2 32
26741Y-16-12 26742Y-16-12 1.5/16"X12 19 12 67.6 16 259 41
26741Y-16-16 26742Y-16-16  1.5/16"X12 25 16 79.7 16 293 41
26741Y-20-20W 26742Y-20-20W  1.5/8"X12 32 20 954 16.1 35.2 50
26741Y-24-24W 26742Y-24-24W  1.7/8"X12 38 24 111.9/124.5 20 42.8 55
26741Y-32-32W 26742Y-32-32W  2.1/2"'X12 51 32 140/150.7 235 51.6 75
ERT Af /" BIRTERTRAEEL "/ BRYGRATEREREL.
Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.
Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com Page 27



AKJIA HYDRAULIC

KJI

A|REEL HOSE FITTING

26791YW
26791Y

90°SEHJICRERLL 7 4° N SHETE

90°JIC FEMALE 74°CONE SEAT
REF. SAE J514

26791Y-04-04 - 7/16"X20 6 04 27 9 274 15
26791Y-04-05 = 7/16"X20 8 05 28 9 274 15
26791Y-05-04 - 1/2"X20 6 04 27 9.5 28 17
26791Y-05-05 = 1/2"X20 8 05 32 9.5 32 17
26791Y-06-06 26792Y-06-06 9/16"X18 10 06 345 10.5 335 19
26791Y-08-06 26792Y-08-06 3/4"X16 10 06 34.5 11 35.5 24
26791Y-08-08 26792Y-08-08 3/4"X16 13 08 41 11 42.5 24
26791Y-08-10 26792Y-08-10 3/4"X16 16 10 48.5 11 42.5 24
26791Y-10-08 26792Y-10-08 7/8"X14 13 08 41 13 435 27
26791Y-10-10 26792Y-10-10 7/8"X14 16 10 53 13 49.5 27
26791Y-12-10 26792Y-12-10  1.1/16"X12 16 10 53 15 50.5 32
26791Y-12-12 26792Y-12-12  1.1/16"X12 19 12 61 15 55 32
26791Y-16-12 26792Y-16-12  1.5/16"X12 19 12 61 16 56 41
26791Y-16-16 26792Y-16-16  1.5/16"X12 25 16 75 16 65.5 41
26791Y-20-20W  26792Y-20-20W  1.5/8"X12 32 20 91 16.1 80.5 50
26791Y-24-24W  26792Y-24-24W  1.7/8"X12 38 24 106/114.5 20 97.5 55
26791Y-32-32W  26792Y-32-32W  2.1/2"X12 51 32 132/143 235 121.8 75

ERT A"/ IRTERTRAEES. "/ BRIERTERERL.
Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Page 28 Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com



BREiEsL HOSE FITTING

AKJIA H Yﬂﬁﬂuﬂ

KJI

26711DY-SMW
26711DY-SM

SREHOSE SIZE R DIMENSIONS

S ICPIIRL74° N EET XY

LY

/\

JIC FEMALE 74° CONE SEAT DOUBLE HEXAGON

REF. SAE J514

26711DY-04-04SM - 7/16"X20 6 04 20 9 12 15
26711DY-06-04SM - 9/16"X18 6 04 21 10.5 14 19
26711DY-06-06SM  26712DY-06-06SM 9/16"X18 10 06 21/22.5 10.5 17 19
26711DY-06-08SM  26712DY-06-08SM  9/16"X18 13 08 21.5 10.5 19 19
26711DY-08-06SM  26712DY-08-06SM 3/4"X16 10 06 25 11 19 24
26711DY-08-08SM  26712DY-08-08SM 3/4"X16 13 08 24.5 11 19 24
26711DY-08-10SM  26712DY-08-10SM 3/4"X16 16 10 255 11 22 24
26711DY-10-08SM  26712DY-10-08SM 7/8"X14 13 08 25 13 22 27
26711DY-10-10SM  26712DY-10-10SM 7/8"X14 16 10 27/28 13 22 27
26711DY-12-10SM  26712DY-12-10SM  1.1/16"X12 16 10 32 15 27 32
26711DY-12-12SM  26712DY-12-12SM  1.1/16"X12 19 12 32/33.5 15 27 32
26711DY-16-12SM  26712DY-16-12SM  1.5/16"X12 19 12 335 16 32 41
26711DY-16-16SM  26712DY-16-16SM  1.5/16"X12 25 16 345 16 32 41
26711DY-20-20SMW 26712DY-20-20SMW  1.5/8"X12 32 20 38.5/419 161 41 50
26711DY-24-20SMW 26712DY-24-20SMW  1.7/8"X12 32 20 41.5/45 20 46 55
26711DY-24-24SMW 26712DY-24-24SMW  1.7/8"X12 38 24 41.5/50 20 46 55
26711DY-32-24SMW 26712DY-32-24SMW  2.1/2"X12 38 24 44/52.6 235 65 75
26711DY-32-32SMW 26712DY-32-32SMW  2.1/2"X12 51 32 44/54.7 235 65 75
ERT AsR Y/ IRTERTRAERSL /" BRIYEBRTERERL.
Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.
Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com Page 29



IKJIA| IR E &L HOSE FITTING

28611YW BEALHNRI60HER
JIS METRIC FEMALE 60°CONE SEAT
28611Y

F=RSPART NO. SREFHOSE SIZE R < DIMENSIONS

28611Y-14-04 - M14X1.5 6 04 21 10.5 19 19
28611Y-16-05 = M16X1.5 8 05 24 10 22 22
28611Y-16-06 28612Y-16-06 M16X1.5 10 06 24 10 22 22
28611Y-18-06 28612Y-18-06 M18X1.5 10 06 24 115 24 24
28611Y-20-08 28612Y-20-08 M20X1.5 13 08 28.5 12 27 27
28611Y-22-08 28612Y-22-08 M22X1.5 13 08 28.5 14 27 27
28611Y-24-08 28612Y-24-08 M24X1.5 13 08 28.5 15 32 32
28611Y-24-10 28612Y-24-10 M24X1.5 16 10 29 15 32 32
28611Y-30-12 28612Y-30-12 M30XL1.5 19 12 28.5 183 36 36
28611Y-33-12 28612Y-33-12 M33XL1.5 19 12 31 213 41 41
28611Y-36-16 28612Y-36-16 M36XL1.5 25 16 345 20 46 46
28611Y-42-20W  28612Y-42-20W M42X1.5 32 20 41/49.5 18.8 55 55

ERT A"/ BIRTERTRAEESL "/ BRIERTERERL.
Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Page 30 Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com



HOSE FITTING[A

AKJIA HYDRHULﬂ

KJI

29611YW BEFFEHNRI60HER

29611Y

F=@RCSPART NO. EREHOSE SIZE R < DIMENSIONS

JIS GAS FEMALE 60°CONE SEAT

REF. JIS B8363

29611Y-04-04 - G1/4"X19 6 04 21 8 19 19
29611Y-06-05 - G3/8"X19 8 05 23 9 22 22
29611Y-06-06 29612Y-06-06  G3/8"X19 10 06 23/24.5 9 22 22
29611Y-08-08 29612Y-08-08  G1/2"X14 13 08 26.5/29.5 10.5 27 27
29611Y-10-10 29612Y-10-10 G5/8"X14 16 10 30.5/31 115 30 30
29611Y-12-12 29612Y-12-12 G3/4"X14 19 12 30.5 13.5 32 32
29611Y-16-16 29612Y-16-16 G1"X11 25 16 34 16 41 41
29611Y-20-20W  29612Y-20-20W G1.1/4"'X11 32 20 43/46.7 18.6 50 50
29611Y-24-24W  29612Y-24-24W G1.1/2"'X11 38 24 43.5/52 19 55 55
29611Y-32-32W  29612Y-32-32W G2'X11 51 32 46.5/57.2 23 70 70
ERT A"/ IRTERTRAEES. "/ BRIERTERERL.
Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.
Ningbo AKJIA Hydraulic Co.,Ltd info@akijia.com Page 31




KR EREE$EsL HOSE FITTING

87311Y SAEEZ=3000PSI

SAE FLANGE 3000 PSI A
REF.1S0O 12151-3/1SO 6162-1

F=RIESPART NO. = HREHOSE SIZE R < DIMENSIONS

87311Y-08-08 87312Y-08-08 1/2" 13 08 46 30.2 6.73
87311Y-08-10 87312Y-08-10 1/2" 16 10 46.5 30.2 6.73
87311Y-12-08 87312Y-12-08 3/4" 13 08 47 381 6.73
87311Y-12-10 87312Y-12-10 3/4" 16 10 47.5 38.1 6.73
87311Y-12-12 87312Y-12-12 3/4" 19 12 48/49.6 381 6.73
87311Y-12-16 87312Y-12-16 3/4" 25 16 49 38.1 6.73
87311Y-16-12 87312Y-16-12 1" 19 12 51/52.5 444 8
87311Y-16-16 87312Y-16-16 1" 25 16 52/53 444 8
87311Y-16-20 87312Y-16-20 1" 32 20 53/56.4 444 8
87311Y-20-12 87312Y-20-12 1.1/4" 19 12 56 50.8 8
87311Y-20-16 87312Y-20-16 1.1/4" 25 16 57/56 50.8 8
87311Y-20-20 87312Y-20-20 1.1/4" 32 20 58/60.4 50.8 8
87311Y-20-24 87312Y-20-24 1.1/4" 38 24 61/69.5 50.8 8
87311Y-24-20 87312Y-24-20 11/2" 32 20 68/71.9 60.3 8
87311Y-24-24 87312Y-24-24 11/2" 38 24 68/76.6 60.3 8
87311Y-32-24 87312Y-32-24 2" 38 24 70/78.5 714 9.53
87311Y-32-32 87312Y-32-32 2" 51 32 70/80.5 714 9.53
87311Y-40-32 87312Y-40-32 2.1/2" 51 32 73/83.5 84.1 9.53

ERT A"/ BIRTERTRAEESL "/ BRIERTERERL.
Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Page 32 Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com



BREiEsL HOSE FITTING

AKJIA H Yﬂﬁﬂuﬂ

KJI

87341y “SSAEi

= 3000 PSI

45°SAE FLANGE 3000 PSI
REF.1SO 12151-3/1SO 6162-1

F=ERIEEPART NO. | Z2ms | REHOSE SIZE R < DIMENSIONS

87341Y-08-08 87342Y-08-08 1/2" 13 08 49.9 229 30.2 6.73
87341Y-12-08 87342Y-12-08 3/4" 13 08 49.9 229 38.1 6.73
87341Y-12-10  87342Y-12-10 3/4" 16 10 60.6 243 38.1 6.73
87341Y-12-12 87342Y-12-12 3/4" 19 12 67.6 259 38.1 6.73
87341Y-16-12 87342Y-16-12 1" 19 12 67.6 259 444 8
87341Y-16-16  87342Y-16-16 1" 25 16 79.7 293 444 8
87341Y-16-20 87342Y-16-20 1" 32 20 92.6 32.3 444 8
87341Y-20-16  87342Y-20-16 1.1/4" 25 16 79.7 293 50.8 8
87341Y-20-20  87342Y-20-20 1.1/4" 32 20 94 33.8 50.8 8
87341Y-24-20  87342Y-24-20 11/2" 32 20 954 35.2 60.3 8
87341Y-24-24  87342Y-24-24 1.1/2" 38 24 107.3/1159 383 60.3 8
87341Y-32-24  87342Y-32-24 2" 38 24 107.3/115.8 383 714 9.53
87341Y-32-32 87342Y-32-32 2" 51 32 129.6/140.5 463 714 9.53
87341Y-40-32 87342Y-40-32 2.1/2" 51 32 136.2/146.9 47.7 84.1 9.53

ERT Adh /" BIRTERTRAEEEL "/ BRYGEATESRERL.

Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com Page 33



KR EREE$EsL HOSE FITTING

87391Y 90°SAE j£= 3000 PSI R

90°SAE FLANGE 3000 PSI

REF.1SO 12151-3/1SO 6162-1

F=@RESPART NO. | EZEme | EHOSE SIZE R <t DIMENSIONS

87391Y-08-08 87392Y-08-08 1/2" 13 08 41 46.5 30.2 6.73
87391Y-08-10 87392Y-08-10 1/2" 16 10 53 51 30.2 6.73
87391Y-12-08 87392Y-12-08 3/4" 13 08 41 46.5 381 6.73
87391Y-12-10 87392Y-12-10 3/4" 16 10 53 51 381 6.73
87391Y-12-12 87392Y-12-12 3/4" 19 12 61 56 381 6.73
87391Y-12-16 87392Y-12-16 3/4" 25 16 75 66 381 6.73
87391Y-16-10 87392Y-16-10 1" 16 10 53 515 444 8
87391Y-16-12 87392Y-16-12 1" 19 12 61 56 444 8
87391Y-16-16 87392Y-16-16 1" 25 16 75 66 444 8
87391Y-16-20 87392Y-16-20 1" 32 20 91 78.5 444 8
87391Y-20-12 87392Y-20-12 1.1/4" 19 12 61 56 50.8 8
87391Y-20-16 87392Y-20-16 1.1/4" 25 16 75 66 50.8 8
87391Y-20-20 87392Y-20-20 1.1/4" 32 20 91 78.5 50.8 8
87391Y-20-24 87392Y-20-24 1.1/4" 38 24 97.5/106  78.5 50.8 8
87391Y-24-20 87392Y-24-20 11/2" 32 20 91 80.5 60.3 8
87391Y-24-24 87392Y-24-24 11/2" 38 24 106/114.5 91 60.3 8
87391Y-32-24 87392Y-32-24 2" 38 24 106/114.5 91 714 9.53
87391Y-32-32 87392Y-32-32 2" 51 32 132/143 1143 714 9.53
87391Y-40-32 87392Y-40-32 2.1/2" 51 32 132/143  116.3 84.1 9.53

ERT A/ IRTERTRAEES. "/ BRIERTEREREL.
Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Page 34 Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com



szl HOSE FITTING[AKJIA]

87611Y SAEIE=6000PSI

SAE FLANGE 6000 PSI A
REF.1SO 12151-3/1SO 6162-2

F=R{ESPART NO. HREHOSE SIZE R < DIMENSIONS

87611Y-08-08 87612Y-08-08 172" 13 08 47/48 317 7.75
87611Y-08-10 87612Y-08-10 1/2" 16 10 47.5 317 7.75
87611Y-12-08 87612Y-12-08 3/4" 13 08 50 41.3 8.76
87611Y-12-10 87612Y-12-10 3/4" 16 10 50.5/51.7 41.3 8.76
87611Y-12-12 87612Y-12-12 3/4" 19 12 51/52.5 41.3 8.76
87611Y-12-16 87612Y-12-16 3/4" 25 16 52/53 41.3 8.76
87611Y-16-12 87612Y-16-12 1" 19 12 56/57.6 47.6 9.53
87611Y-16-16 87612Y-16-16 1" 25 16 57/58 47.6 9.53
87611Y-16-20 87612Y-16-20 1" 32 20 61/68.4 47.6 9.53
87611Y-20-16 87612Y-20-16 1.1/4" 25 16 65/66 54 10.29
87611Y-20-20 87612Y-20-20 1.1/4" 32 20 66/69.9 54 10.29
87611Y-24-20 87612Y-24-20 11/2" 32 20 75/78.9 63.5 12.57
87611Y-24-24 87612Y-24-24 1.1/2" 38 24 75/83.5 63.5 12.57
87611Y-32-24 87612Y-32-24 2" 38 24 85/93.5 79.4 12.57
87611Y-32-32 87612Y-32-32 2" 51 32 85/96 794 12.57

ERT Adh '/ IRTERTRAEEL /" BRYERTERERSL.

Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com Page 35



[AKJIA] S &iEsL HOSE FITTING

87641Y 45°SAE j£= 6000 PSI

45°SAE FLANGE 6000 PSI

REF.1SO 12151-3/I1SO 6162-2

F=@RSPART NO. EREHOSE SIZE R < DIMENSIONS

87641Y-08-08  87642Y-08-08 1/2" 13 08 49.9 229 31.7 7.75
87641Y-12-10  87642Y-12-10 3/4" 16 10 63.4 271 41.3 8.76
87641Y-12-12  87642Y-12-12 3/4" 19 12 704 28.8 41.3 8.76
87641Y-16-12  87642Y-16-12 1 19 12 72.5 30.9 47.6 9.53
87641Y-16-16  87642Y-16-16 1 25 16 84.6 34.2 47.6 9.53
87641Y-20-16  87642Y-20-16 1.1/4" 25 16 874 37.1 54 10.29
87641Y-20-20  87642Y-20-20 1.1/4" 32 20 101.8 415 54 10.29
87641Y-24-20  87642Y-24-20 11/2" 32 20 105.3 451 63.5 12.57
87641Y-24-24  87642Y-24-24 11/2" 38 24 117.2/125.7  48.2 63.5 12.57
87641Y-32-24  87642Y-32-24 2" 38 24 122.9/1314 538 79.4 12.57
87641Y-32-32  87642Y-32-32 2" 51 32 150.3/161 61.9 794 12.57

ERT A"/ IRTERTRAEESL "/ BRIERTERERL.
Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Page 36 Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com



BREiEsL HOSE FITTING

AKJIA H Yﬂﬁﬂuﬂ

KJI

87691Y 90°SAE j£= 6000 PSI

90°SAE FLANGE 6000 PSI
REF.1SO 12151-3/ISO 6162-2

F=R{ESPART NO. EREHOSE SIZE R < DIMENSIONS

87691Y-08-08  87692Y-08-08 1/2" 13 08 41 46.5 317 7.75
87691Y-08-10  87692Y-08-10 172" 16 10 53 51 317 7.75
87691Y-12-08  87692Y-12-08 3/4" 13 08 41 50.5 413 8.76
87691Y-12-10  87692Y-12-10 3/4" 16 10 53 55 41.3 8.76
87691Y-12-12 87692Y-12-12 3/4" 19 12 61 60 41.3 8.76
87691Y-12-16  87692Y-12-16 3/4" 25 16 75 69 41.3 8.76
87691Y-16-12 87692Y-16-12 1" 19 12 61 63 47.6 9.53
87691Y-16-16  87692Y-16-16 1" 25 16 75 73 47.6 9.53
87691Y-16-20 87692Y-16-20 1" 32 20 91 85.5 47.6 9.53
87691Y-20-16  87692Y-20-16 1.1/4" 25 16 75 77 54 10.29
87691Y-20-20 87692Y-20-20 1.1/4" 32 20 91 89.5 54 10.29
87691Y-24-20  87692Y-24-20 1.1/2" 32 20 91 94.5 63.5 12.57
87691Y-24-24 87692Y-24-24 1.1/2" 38 24 106/114.5 105 63.5 12.57
87691Y-24-32 87692Y-24-32 11/2" 51 32 123/133.7 105 63.5 12.57
87691Y-32-24 87692Y-32-24 2" 38 24 106/114.5 113 794 12.57
87691Y-32-32 87692Y-32-32 2" 51 32 132/143 136.3 79.4 12.57

ERT Adh '/ IRTERTRAEEL /" BRYERTERERSL.

Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com Page 37



KR SR EiEsL HOSE FITTING

87613Y SAE ;%= 6000 PSI

SAE FLANGE 6000 PSI

W i e
vl il

Ql

| PEftS | @=mS |  WEHOSESIZE |  RYDIMENSIONS |

— PARTNO | FLANGENO | AhwEON | wEDoasi | A | o | T |
87613Y-20-20 1.1/4" 32 20 69.9 54 10.29
87613Y-24-20 1.1/2" 32 20 78.9 63.5 12.57
87613Y-24-24 1.1/2" 38 24 83.5 63.5 12.57
87613Y-24-32 1.1/2" 51 32 92 63.5 12.57
87613Y-32-24 2" 38 24 93.5 79.4 12.57
87613Y-32-32 2" 51 32 96 79.4 12.57

ERPERTENLESERE.
Note: No. in the table match with six spiral hose in super high pressure.

87643Y 45°SAE %= 6000 PSI

45°SAE FLANGE 6000 PSI

v

WEHOSE SIZE RS DIMENSIONS
PARTNO | FLANGENO | AGAEON|iwe A A | H | D> | T |

87643Y-20-20 1.1/4" 32 20 101.8 415 54 10.29
87643Y-24-20 11/2" 32 20 105.3 45.1 63.5 12.57
87643Y-24-24 1.1/2" 38 24 125.7 48.2 63.5 12.57
87643Y-32-24 2" 38 24 1314 53.8 794 12.57
87643Y-32-32 2" 51 32 lel 61.9 79.4 12.57

ERPASHT A AENLESERE.
Note: No. in the table match with six spiral hose in super high pressure.

Page 38 —————  Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com




AKJIA HYURHIJLﬂ

SREHESL HOSE FITTING|AKJI

8769 3Y 90°SAE j£= 6000 PSI

90°SAE FLANGE 6000 PSI

" Fats | zmms |  mEwosesue R DIVENSIONS
I T T N R

87693Y-20-20 1.1/4" 89.5 10.29
87693Y-24-20 1.1/2" 32 20 91 94.5 63.5 12.57
87693Y-24-24 1.1/2" 38 24 1145 105 63.5 12.57
87693Y-24-32 1.1/2" 51 32 133.7 105 63.5 12.57
87693Y-32-24 2" 38 24 1145 113 794 12.57
87693Y-32-32 2" 51 32 143 136.3 794 12.57

ERPRSAT ENLESERE.

Note: No. in the table match with six spiral hose in super high pressure.

Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com

Page 39



[AKJIA] S &iEsL HOSE FITTING

00110 SAELOORIAT/EN8531SN REER L
FERRULE FOR SAE100R1AT/EN853 1SN

00110-04A 6 04 11.2 21 14 275
00110-05A 8 05 12.7 215 15.6 28
00110-06A 10 06 144 243 18 30
00110-08A 13 08 18.6 28 215 34
00110-10A 16 10 213 313 245 37
00110-12A 19 12 245 355 28.7 42
00110-16A 25 16 30.6 435 36.3 51
00110-20 32 20 37.5 52 45 59
00110-20A * 32 20 373 53.2 45 59
00110-24 38 24 44 58 51.5 74
00110-24A * 38 24 44 595 515 74
00110-32 51 32 56.8 72 65 78
00110-32A* 51 32 56.8 73.5 65 77
00110-40 64 40 68.4 88 79 91
00110-40A * 64 40 68.4 89.5 78 91
00110-48 76 48 83.8 103 91 90

T - LERADEELER.
2. WX B TS Eice .
Notes : 1.Match with braided hose fitting.
2.*It is suggested that the wind power industry should be preferred.

Page 40 —— Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com



AKJIA HYDHHULﬂ

SREHESL HOSE FITTING|AKJI

03310 SAE100R2AT/EN 853 2SN REER
FERRULE FOR SAE100R2AT/EN853 2SN

.

m--_--

03310- 04 15.7 30.5
03310-05 8 05 127 24 17.3 30.2
03310-06 10 06 144 26 19.6 32
03310-08 13 08 18.6 29 231 34
03310-10 16 10 213 33 26.2 37
03310-12 19 12 245 37 30.3 42
03310-16 25 16 30.6 46.7 38.8 51
03310-20A 32 20 37.5 59 49.6 55
03310-24A 38 24 44 67 56 66
03310-32A 51 32 56.8 80 68.8 72
03310-40 64 40 68.4 92 81.5 84

T - SRACREESLECH.

Note : Match with braided hose fitting.

Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com

Page 41



[BKIR| SRE#EsL HOSE FITTING

01200 —REAREER

FERRULE FOR 2-WIRE BRAID HOSE L

s o8 m--_-—

01200-04 11.2 215

01200-05 8 05 12.7 23 16 32
01200-06 10 06 142 25 18 32
01200-08 13 08 18.6 31 225 34
01200-10 16 10 213 34 255 39
01200-12 19 12 24.5 37 28.5 43
01200-16 25 16 304 43 34.5 50
01200-20 32 20 37.5 51 42 59
01200-24 38 24 44 57 48 74
01200-32 51 32 56.8 70 61 78

ix  LERmAEECH.

Note : Match with braided hose fitting.

Page 42 ————  Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com



AKJIA mnnm.ﬂ

SREHESL HOSE FITTING|AKJI

00400 4SP, 4SH/12-16, R12/06-16 REER

FERRULE FOR 4SP, 4SH/12-16. R12/06-16

00401

J-

$REHOSE SIZE R <+ DIMENSIONS

awmEoN | fEoasn | A [ b | £ | |
00400-04 6 04 115 22 15.5 37.5
00400-06 10 06 147 25.5 18.3 39
00400-08 13 08 17.5 29 213 41
00400-10 16 10 21 325 24.5 43
00400-12 19 12 24.5 37 29 51
00400-16 25 16 31 46.5 36.5 61.5
00401-20 32 20 38.3 53 42.8 67.5
00401-24 38 24 443 61 49.8 75
00401-32 51 32 57 77 64.5 79

ix - LENEERERA.

2.-06Z-16BEEiRITEH , BNARDEENE.

Notes : 1.Match with four spiral hose fitting.
2.Advise to replace with "D".

00400D 4SP. 4SH/12-16, R12/06-16 & ERS
FERRULE FOR 4SP, 4SH/12-16. R12/06-16

i

KT 1

.

[ PARTNO. | ZWW@DN ] fsDAsA | A | D | £ | L
00400-06D 10 06 14.6 26 184 34
00400-08D 13 08 17.5 29 215 37
00400-10D 16 10 21.2 33 24.8 39
00400-12D 19 12 24.5 37.5 294 45
00400-16D 25 16 31 46.5 36.5 56

it SUEESRERA.

Note : Match with four spiral hose fitting.

Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com Page 43




[BKIR| SRE#EsL HOSE FITTING

0062 1 SAE100 R13/R15FHAIRER

FERRULE FOR SAE100 R13/R15 HOSE

< JVJ»JV N
HOSE SIZE
m--_-—
00621- 12 28.3 30.2
00621-16 25 16 37.4 47.2 37 66
00621-20 32 20 434 60 49.2 88.5
00621-24 38 24 49.5 65.7 55.5 102
00621-32 51 32 64.5 827 70.7 108
T - SRNEESRERELE,
Note : Match with six spiral hose fitting.
01400 SAE100 R12/20-24,GB10544 4SP. 4SH, R12IXEER
FERRULE FOR SAE100 R12/20-24, L
GB 10544 4SP, 4SH, R12
I

RS DIVENSIONS
PARTNO | Zm@oN | Gebasn | A [ b | E [ 1 |

01400-06 10 06 147 275 20.3 39
01400-08 13 08 17.5 315 235 41
01400-10 16 10 21 34 27 43
01400-12 19 12 245 39 31 51
01400-16 25 16 31 46.5 37 61.5
01400-20 32 20 383 555 45 67.5
01400-24 38 24 443 63.5 52 75
01400-32 51 32 57 78 65 79

T BNEERERA.
Note : Match with four spiral hose fitting.

Page 44 —————  Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com




BREiEsL HOSE FITTING

AKJIA H YDRHUH

KJI

10411

BFsHE

AHIFMEL24° W HEHE R R

METRIC MALE 24°CONE SEATL.T.

REF.DIN 3853/ISO 8434-1

10411-14-04 - M14X1.5 6 04 8 20.5 10 14
10411-16-04 = M16X1.5 6 04 10 225 11 17
10411-16-05 - M16X1.5 8 05 10 225 11 17
10411-16-06 10412-16-06 M16X1.5 10 06 10 23 11 17
10411-18-05 - M18X1.5 8 05 12 24 11 19
10411-18-06 10412-18-06 M18X1.5 10 06 12 225 11 19
10411-22-08 10412-22-08 M22X1.5 13 08 15 26 12 24
10411-22-10 10412-22-10 M22X1.5 16 10 15 26 12 24
10411-26-08 10412-26-08 M26X1.5 13 08 18 26.5 12 27
10411-26-10 10412-26-10 M26X1.5 16 10 18 26.5/28 12 27
10411-30-10 10412-30-10 M30X2 16 10 22 29.5/30.5 14 32
10411-30-12 10412-30-12 M30X2 19 12 22 30/31.3 14 32
10411-30-16 10412-30-16 M30X2 25 16 22 32 14 32
10411-36-12 10412-36-12 M36X2 19 12 28 315 14 41
10411-36-16 10412-36-16 M36X2 25 16 28 315 14 41
10411-45-20 10412-45-20 M45X2 32 20 35 37 16 46
10411-52-24 10412-52-24 M52X2 38 24 42 38 16 55
ERT Adh "/ BIRTERTRAEEEL /" BRYERATESREEL,
Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.
Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com Page 45



IKiR] R EEsL HOSE FITTING

AHEIFMEL24° NEEE RS
METRIC MALE 24°CONE SEATH.T.
REF.DIN 3853/ISO 8434-1

10511

BFsE

10511-14-04 - M14X1.5 6 04 6 245 12 14
10511-16-04 = M16X1.5 6 04 8 26.5 12 17
10511-16-05 - M16X1.5 8 05 8 26.5 12 17
10511-18-04 = M18X1.5 6 04 10 26.5 12 19
10511-18-05 - M18X1.5 8 05 10 26.5 12 19
10511-18-06 10512-18-06 M18X1.5 10 06 10 26.5 12 19
10511-20-05 - M20X1.5 8 05 12 27 12 22
10511-20-06 10512-20-06 M20X1.5 10 06 12 26.5/30 12 22
10511-22-08 10512-22-08 M22X1.5 13 08 14 31 14 24
10511-24-08 10512-24-08 M24X1.5 13 08 16 31.5/30 14 27
10511-30-10 10512-30-10 M30X2 16 10 20 34.5/37.5 16 32
10511-30-12 10512-30-12 M30X2 19 12 20 36/37.8 16 32
10511-36-16 10512-36-16 M36X2 25 16 25 41.5/42.5 18 41
10511-42-16 10512-42-16 M42X2 25 16 30 44/44.5 20 46
10511-52-20 10512-52-20 M52X2 32 20 38 50/50.5 22 55

ERT AfR /" BIRTERTRAEESL /" BRYERATFEREREL,
Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Page 46 Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com



AKJIA HYDRHULﬂ

greziEsL HOSE FITTING/[AKJI

12611A SESMBOGOREERABFERASDRES
BSP MALE DOUBLE USE FOR 60°CONE SEAT

OR BONDED SEAL

e

12611A-04-04 - G1/4"X19 6 04 245 12 19
12611A-06-05 = G3/8"X19 8 05 28 135 22
12611A-06-06 12612A-06-06 G3/8"X19 10 06 28/29.5 135 22
12611A-08-08 12612A-08-08 G1/2"X14 13 08 33 16 27
12611A-12-12 12612A-12-12 G3/4"X14 19 12 37.5/39.3 185 32
12611A-16-12 12612A-16-12 G1"X11 19 12 42.5/43.8 20.5 41
12611A-16-16 12612A-16-16 G1"X11 25 16 43.5/44.5 20.5 41
12611A-20-16 12612A-20-16 G1.1/4"X11 25 16 45.5/46.5 20.5 50
12611A-20-20 12612A-20-20 G1.1/4"X11 32 20 46.5/47 20.5 50
12611A-24-24 12612A-24-24 G1.1/2"X11 38 24 49 23 55
12611A-32-32 12612A-32-32 G2"X11 51 32 535 255 70

iE LRI Adr '/ IRSERTRAERL /" BRI ERTERERSL.
21ZZFINEHEARAC0HHEL | tBA e AinEAEEREE.
Notes: 1.The dimension A before"/" is for braided hose fitting and after"/" is for spiral hose fitting.
2.The seal type of this series can be sealed with a 60° cone, or a combination gasket can be placed on the
hexagonal end face.

Page 47

Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com



A|REEL HOSE FITTING

ﬁKJIﬂ HYDRAULIC

KJI

13011-SPp X#Esam

BSPT MALE

F=RESPART NO. EREHOSE SIZE R < DIMENSIONS

13011-04-04SP - R1/4"X19 6 04 27 145 14
13011-04-05SP = R1/4"X19 8 05 27 14.5 14
13011-06-04SP - R3/8"X19 6 04 28 15 17
13011-06-05SP = R3/8"X19 8 05 28 15 17
13011-06-06SP  13012-06-06SP R3/8"X19 10 06 27.5/29 15 17
13011-08-08SP ~ 13012-08-08SP R1/2"X14 13 08 35/36 20 22
13011-12-10SP  13012-12-10SP R3/4"X14 16 10 38/38.5 20 27
13011-12-12SP  13012-12-12SP R3/4"X14 19 12 38.5/39.3 20 27
13011-16-12SP  13012-16-12SP R1"X11 19 12 43.5/46.3 255 36
13011-16-16SP ~ 13012-16-16SP R1"X11 25 16 45/47 25.5 36
13011-20-20SP  13012-20-20SP  R1.1/4"X11 32 20 49.5/50 26.5 46
13011-24-24SP  13012-24-24SP ~ R1.1/2"X11 38 24 525 26.5 50
13011-32-32SP  13012-32-32SP R2"X11 51 32 57/59 30 65

ERT A"/ IRTERTRAEREL "/ BRIERTERERS.

Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Page 48

Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com




BREiEsL HOSE FITTING

AKJIA H YDRHUH

KJI

14211

SEHORFSHMRLFEIOF B E &

ORFS MALE FLAT O-RING SEAL

REF.ISO 8434-3/SAE J1453

TR

A

S1

D
& :

FZS@CSPART NO. SREHOSE SIZE R < DIMENSIONS

14211-04-04 - 9/16"X18 6 04 07.65X1.78 225 9.8 17
14211-06-04 - 11/16"X16 6 04 09.25X1.78 24 11.2 19
14211-06-06 14212-06-06 11/16"X16 10 06 09.25X1.78 24/25.5 11.2 19
14211-08-06 14212-08-06 13/16"X16 10 06 01242X1.78  27.5/29 13 22
14211-08-08 14212-08-08 13/16"X16 13 08 012.42X1.78 28.5/29.5 12.8 22
14211-10-08 14212-10-08 1"X14 13 08 015.6X1.78 32.5/34 15.5 27
14211-10-10 14212-10-10 1"X14 16 10 015.6X1.78 33.5/345 15.5 27
14211-12-10 14212-12-10 1.3/16"X12 16 10 018.77X1.78 36/37 17 32
14211-12-12 14212-12-12 1.3/16"X12 19 12 018.77X1.78 36.5/37.8 17 32
14211-16-12 14212-16-12 1.7/16"X12 19 12 023.52X1.78  37/38.3 17.5 41
14211-16-16 14212-16-16 1.7/16"X12 25 16 023.52X1.78 38.5/39.5 17.5 41
14211-20-20 14212-20-20 1.11/16"X12 32 20 029.87X1.78  41.5/42 17.5 46
14211-24-24 14212-24-24 2'X12 38 24 037.82X1.78 46.5 17.5 55

ERT Af "/ IRTERTRAEEL "/ BERYGRATEREREL.

Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com Page 49




IKiR] R EEsL HOSE FITTING

15611 ™HEEIMEX A

NPT MALE

S1

.

15611-04-04 - Z1/4"X18 6 04 28 15 17
15611-04-06 15612-04-06 Z1/4"X18 10 06 28/29.5 15 17
15611-06-06 15612-06-06 Z3/8"X18 10 06 29/30 16 19
15611-08-06 15612-08-06 Z71/2"X14 10 06 34/35.5 195 22
15611-08-08 15612-08-08 Z71/2"X14 13 08 34.5/35.5 19 22
15611-08-10 15612-08-10 71/2"X14 16 10 35.5/37 19.5 22
15611-12-08 15612-12-08 Z3/4"X14 13 08 37.5/38.5 195 27
15611-12-10 15612-12-10 Z3/4"X14 16 10 37.5/39 195 27
15611-12-12 15612-12-12 Z3/4"X14 19 12 38.5/39.3 195 27
15611-16-12 15612-16-12 Z1"X11.5 19 12 45/46.3 25.5 36
15611-16-16 15612-16-16 Z1"X11.5 25 16 46.5/47.5 255 36
15611-20-20 15612-20-20 71.1/4"X11.5 32 20 50.5/51 26.5 46
15611-24-24 15612-24-24  71.1/2"X11.5 38 24 51/52.5 26 50
15611-32-32 15612-32-32 Z2"X11.5 51 32 55/56 27.5 65

ERT AS "/ AIRTERTRAEEL "/ BRIERTERERL.
Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Page 50 Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com



BREiEsL HOSE FITTING

AKJIA H YDRHUH

16711

SEHICHMRET A4S
JIC MALE 74° CONE
REF.ISO 8434-2/SAE J514

i

F=RIESPART NO. $REFHOSE SIZE R 7 DIMENSIONS

16711-04-04 - 7/16"X20 6 04 26.5 14 12
16711-05-04 - 1/2"X20 6 04 26.5 14 14
16711-05-05 - 1/2"X20 8 05 26.5 14 14
16711-06-04 = 9/16"X18 6 04 27 141 17
16711-06-05 - 9/16"X18 8 05 27 141 17
16711-06-06 16712-06-06 9/16"X18 10 06 26.5/28 141 17
16711-08-06 16712-08-06 3/4"X16 10 06 31.5/33 16.7 22
16711-08-08 16712-08-08 3/4"X16 13 08 32/33 16.7 22
16711-10-06 16712-10-06 7/8"X14 10 06 33.5/35 19.3 24
16711-10-08 16712-10-08 7/8"X14 13 08 34.5/35.5 19.3 24
16711-10-10 16712-10-10 7/8"X14 16 10 35/36 19.3 24
16711-12-10 16712-12-10 1.1/16"X12 16 10 39.5/40.5 219 30
16711-12-12 16712-12-12 1.1/16"X12 19 12 40/41.3 219 30
16711-16-16 16712-16-16 1.5/16"X12 25 16 43.5/44.5 231 36
16711-20-20 16712-20-20 1.5/8"X12 32 20 47.5/48 243 46
16711-24-24 16712-24-24 1.7/8"X12 38 24 53/53.5 27.5 50
16711-32-32 16712-32-32 2.1/2"'X12 51 32 62/63 339 65
ERT Adh '/ BIRTERTRAEEL /" BRYERTERERSL.
Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.
Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com Page 51




IKiR] R EEsL HOSE FITTING

NIRRT c .

METRIC FEMALE MULTISEAL

20111T

20111

F=@RHSPART NO. HREHOSE SIZE R < DIMENSIONS

20111-14-04T - M14X1.5 6 04 20.5 4.5 17
20111-16-05T = M16X1.5 8 05 20 4.5 19
20111-16-06 20112-16-06 M16X1.5 10 06 20/21.5 4.5 22
20111-18-05T = M18X1.5 8 05 215 4 22
20111-18-06T 20112-18-06T M18X1.5 10 06 22.5 4 22
20111-20-06T 20112-20-06T M20X1.5 10 06 20.5 5.5 24
20111-22-06T 20112-22-06T M22X1.5 10 06 23 5 27
20111-22-08T 20112-22-08T M22X1.5 13 08 245 5 27
20111-26-10T 20112-26-10T M26X1.5 16 10 29 5.5 32
20111-27-08DT  20112-27-08DT M27X1.5 13 08 23 5.5 32
20111-27-10DT  20112-27-10DT M27X1.5 16 10 235 5.5 32
20111-30-10DT  20112-30-10DT M30X1.5 16 10 235 6 36
20111-30-12DT  20112-30-12DT M30X1.5 19 12 28.5/29.8 6 36
20111-36-12T 20112-36-12T M36X2 19 12 26 7 41
20111-36-16T 20112-36-16T M36X2 25 16 28 7 41
20111-39-16T 20112-39-16T M39X2 25 16 29.5/30.5 7 46
20111-42-16T 20112-42-16T M42X2 25 16 30/31 8.5 50
20111-45-20T 20112-45-20T M45X2 32 20 31.5/32 8.5 55
20111-52-20T 20112-52-20T M52X2 32 20 33 9 60
20111-52-24T 20112-52-24T M52X2 38 24 33 9 60
20111-64-32T 20112-64-32T M64X2 51 32 35/38 14 75

ERT A/ BIRTERTHRAERRL /" BRIBATERERL.

Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Page 52 Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com



BREiEsL HOSE FITTING

AKJIA H Yﬂﬁﬂuﬂ

KJI

20191T 90° /Il PO SR L EKTH

90°METRIC FEMALE MULTISEAL

20191

20191-14-04T7 - M14X1.5 6 04 27 4.5 355 17
20191-16-05T - M16X1.5 8 05 32 45 38.5 19

20191-16-06 20192-16-06 M16X1.5 10 06 345 45 43 22
20191-18-05T = M18X1.5 8 05 32 4 40 22
20191-18-06T 20192-18-06T M18X1.5 10 06 345 4 41 22
20191-22-06T 20192-22-06T M22X1.5 10 06 34.5 5 37 27
20191-22-08T 20192-22-08T M22X1.5 13 08 41 5 43 27
20191-26-10T 20192-26-10T M26X1.5 16 10 53 55 52 32
20191-27-08DT  20192-27-08DT M27X1.5 13 08 41 5.5 49 32
20191-27-10DT  20192-27-10DT M27X1.5 16 10 53 5.5 53.5 32
20191-30-10DT  20192-30-10DT M30X1.5 16 10 53 6 55 36
20191-30-12DT  20192-30-12DT M30X1.5 19 12 61 6 60 36
20191-36-12T 20192-36-12T M36X2 19 12 61 7 60 41
20191-36-16T 20192-36-16T M36X2 25 16 75 7 70 41
20191-39-16T 20192-39-16T M39X2 25 16 75 7 72 46
20191-42-16T 20192-42-16T M42X2 25 16 75 8.5 72.5 50
20191-45-20T 20192-45-20T M45X2 32 20 91 8.5 85 55
20191-52-20T 20192-52-20T M52X2 32 20 91 9 86.5 60
20191-52-24T 20192-52-24T M52X2 38 24 106 9 97 60
20191-64-32T 20192-64-32T M64X2 51 32 132 14 1223 75

ERT Af "/ BIRTERTRAEEL "/ BERYGRATESRERSL.
Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.
Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com Page 53



KR EREE$EsL HOSE FITTING

202117 B e -t

20211W REF. GB/T 9065.3 %W

20211 } | Mﬂﬂﬂj
S2

20211-12-04 - M12X1.5 6 04 15 8 17
20211-14-04T = M14X1.5 6 04 16.5 8.5 17
20211-14-05 - M14X1.5 8 05 155 8.5 19
20211-16-04T = M16X1.5 6 04 16 8.5 19
20211-16-05T - M16X1.5 8 05 16.5 85 19
20211-16-06 20212-16-06 M16X1.5 10 06 16.5/18 8 22
20211-18-05T - M18X1.5 8 05 18 8 22
20211-18-06T 20212-18-06T M18X1.5 10 06 19/18.5 9 22
20211-20-06T 20212-20-06T M20X1.5 10 06 17 10 24
20211-22-06T 20212-22-06T M22X1.5 10 06 17 10 27
20211-22-08T 20212-22-08T M22X1.5 13 08 19.5/19 10 27
20211-27-08T 20212-27-08T M27X1.5 13 08 19/20 10 32
20211-27-10T7 20212-27-10T M27X1.5 16 10 20/20.5 10 32
20211-30-10T 20212-30-10T M30X1.5 16 10 20/20.5 11 36
20211-30-12T 20212-30-12T M30X1.5 19 12 22.5/22.3 11 36
20211-36-12T 20212-36-12T M36X2 19 12 20/22.3 13 41
20211-36-16T 20212-36-16T M36X2 25 16 24/25 13 41
20211-39-16T 20212-39-16T M39X2 25 16 23.5/24.5 13 46
20211-42-16T 20212-42-16T M42X2 25 16 23.5/24.5 15 50
20211-42-20W  20212-42-20W M42X2 32 20 26/28.5 15 50
20211-45-16T 20212-45-16T M45X2 25 16 27/28 15 55
20211-45-20T 20212-45-20T M45X2 32 20 25/25.5 15 55
20211-52-20T 20212-52-20T M52X2 32 20 25 17 60
20211-52-24T 20212-52-24T M52X2 38 24 25 17 60
20211-64-32T 20212-64-32T M64X2 51 32 26/27 23 75

ERT A"/ BIRTERTRAEESL "/ BRIERTERERL.

Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Page 54

Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com




BREiEsL HOSE FITTING

AKJIA H Yﬂﬁﬂuﬂ

KJI

20241T

20241

A5 ERRA B NIR S E &

45°GB METRIC FEMALE FLAT SEAT

2024 1W REF. GB/T 9065.3

20241-12-04 - M12X1.5 6 04 35.8 8 18.1 17
20241-14-04T - M14X1.5 6 04 35.3 8.5 15.7 17
20241-16-04T - M16X1.5 6 04 381 8.5 18.5 19
20241-16-05T - M16X1.5 8 05 42 8.5 19.7 19
20241-16-06 20242-16-06 M16X1.5 10 06 44.4 8 20.5 22
20241-18-05T - M18X1.5 8 05 42 9 19.7 22
20241-18-06T 20242-18-06T M18X1.5 10 06 423 9 184 22
20241-22-06T 20242-22-06T M22X1.5 10 06 43 10 19.1 27
20241-22-08T 20242-22-08T M22X1.5 13 08 46.7 10 19.8 27
20241-27-08T 20242-27-08T M27X1.5 13 08 48.5 10 215 32
20241-27-10T 20242-27-10T M27X1.5 16 10 59.2 10 22.8 32
20241-30-10T 20242-30-10T M30X1.5 16 10 59.2 11 22.8 36
20241-30-12T1 20242-30-12T M30X1.5 19 12 66.2 11 24.5 36
20241-36-12T 20242-36-12T M36X2 19 12 66.2 13 24.5 41
20241-36-16T 20242-36-16T M36X2 25 16 783 13 279 41
20241-39-16T 20242-39-16T M39X2 25 16 79.7 13 293 46
20241-42-16T 20242-42-16T M42X2 25 16 79.7 15 293 50
20241-42-20W  20242-42-20W M42X2 32 20 954 15 35.2 50
20241-45-16T 20242-45-16T M45X2 25 16 81 15 30.7 55
20241-45-20T 20242-45-20T M45X2 32 20 94 15 33.8 55
20241-52-20T 20242-52-20T M52X2 32 20 94 17 33.8 60
20241-52-24T 20242-52-24T M52X2 38 24 106 17 36.8 60
20241-64-32T 20242-64-32T M64X2 51 32 134 23 45.6 75
ERT Adr '/ IRTERTRAEEL /" BRYERTERERSL.
Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.
Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com Page 55



KR EREE$EsL HOSE FITTING

20291T 90 ERAHNERFEEL

20291

F=RIESPART NO. $REFHOSE SIZE R 7 DIMENSIONS

90°GB METRIC FEMALE FLAT SEAT

2029 1W REF. GB/T 9065.3

20291-12-04 - M12X1.5 6 04 27 8 325 17
20291-14-04T = M14X1.5 6 04 27 8.5 29.5 17
20291-16-04T - M16X1.5 6 04 27 8.5 315 19
20291-16-05T = M16X1.5 8 05 32 8.5 37.5 19
20291-16-06 20292-16-06 M16X1.5 10 06 345 8 395 22
20291-18-05T = M18X1.5 8 05 32 9 37.5 22
20291-18-06T 20292-18-06T M18X1.5 10 06 345 9 36.5 22
20291-22-06T 20292-22-06T M22X1.5 10 06 34.5 10 37.5 27
20291-22-08T 20292-22-08T M22X1.5 13 08 41/41.5 10 42 27
20291-27-08T 20292-27-08T M27X1.5 13 08 41 10 44.5 32
20291-27-10T 20292-27-10T M27X1.5 16 10 53 10 49 32
20291-30-10T 20292-30-10T M30X1.5 16 10 53 11 49 36
20291-30-12T 20292-30-12T M30XL1.5 19 12 61 11 54 36
20291-36-12T 20292-36-12T M36X2 19 12 61 13 54 41
20291-36-16T 20292-36-16T M36X2 25 16 75 13 64 41
20291-39-16T 20292-39-16T M39X2 25 16 75 13 66 46
20291-42-16T 20292-42-16T M42X2 25 16 75 15 66 50
20291-42-20W  20292-42-20W M42X2 32 20 91 15 80.5 50
20291-45-16T 20292-45-16T M45X2 25 16 75 15 68 55
20291-45-20T 20292-45-20T M45X2 32 20 91 15 78.5 55
20291-52-20T 20292-52-20T M52X2 32 20 91 17 78.5 60
20291-52-24T 20292-52-24T M52X2 38 24 106 17 89 60
20291-64-32T 20292-64-32T M64X2 51 32 132 23 1133 75

ERT A"/ IRTERTRAEES. "/ BRIERTERERL.

Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Page 56

Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com




BREiEsL HOSE FITTING

KJI

AKJIA H YDPRUH

20411T
20411W

AHEIRIRE24°#EHOR B R RS

METRIC FEMALE 24°CONE O-RING L.T.

REF.ISO 12151-2/DIN 3865

ol
20411-12-03T - M12X1.5 5 03 6 004.5X1.5 22 14 14
20411-12-04W - M12X1.5 6 04 6 004.5X1.5 22 14 14
20411-14-04T - M14X1.5 6 04 8 006.5X1.5 24 1.7 17
20411-14-05W = M14X1.5 8 05 8 006.5X1.5 225 1.6 17
20411-14-06W  20412-14-06W M14X1.5 10 06 8 006.5X1.5 22.5/24 16 17
20411-16-04T - M16X1.5 6 04 10 008.0X1.5 23 21 19
20411-16-05T - M16X1.5 8 05 10 008.0X1.5 24 21 19
20411-16-06W  20412-16-06W M16X1.5 10 06 10 008.0X1.5 23/24.5 23 19
20411-18-04T - M18X1.5 6 04 12 010.0X1.5 24.5 15 22
20411-18-05T = M18X1.5 8 05 12 010.0X1.5 24.5 15 22
20411-18-06T 20412-18-06T M18X1.5 10 06 12 010.0X1.5 25/26.5 15 22
20411-18-08W  20412-18-08W M18X1.5 13 08 12 010.0X1.5 25/25.5 1.8 22
20411-22-06T 20412-22-06T M22X1.5 10 06 15 012.0X2.0 26.5/28 3 27
20411-22-08T 20412-22-08T M22X1.5 13 08 15 012.0X2.0 28/29 3 27
20411-22-10W  20412-22-10W M22X1.5 16 10 15 012.0X2.0 25/26.5 3 27
20411-26-08T 20412-26-08T M26X1.5 13 08 18 015.0X2.0 27.5/285 21 32
20411-26-10T 20412-26-10T M26X1.5 16 10 18 015.0X2.0 29/30 21 32
20411-26-12W  20412-26-12W M26X1.5 19 12 18 015.0X2.0 26.5/27.8 21 32
20411-30-10T 20412-30-10T M30X2.0 16 10 22 020.0X2.0 31/32 38 36
20411-30-12T 20412-30-12T M30X2.0 19 12 22 020.0X2.0 33/34.3 38 36
20411-30-16W  20412-30-16W M30X2.0 25 16 22 020.0X2.0 30/31 3.8 36
20411-36-12T 20412-36-12T M36X2.0 19 12 28 026.0X2.0 33/34.3 45 41
20411-36-16T 20412-36-16T M36X2.0 25 16 28 026.0X2.0 35/36 45 41
20411-36-20W  20412-36-20W M36X2.0 32 20 28 026.0X2.0 32.5/335 45 41
20411-45-16T 20412-45-16T M45X2.0 25 16 35 032.0X2.5 37/38 4 50
20411-45-20T 20412-45-20T M45X2.0 32 20 35 032.0X2.5 37.5/39 4 50
20411-45-24W  20412-45-24W M45X2.0 38 24 35 032.0X2.5 34 5 50
20411-52-20T 20412-52-20T M52X2.0 32 20 42 038.0X2.5 38.5/39.5 4 60
20411-52-24T1 20412-52-24T M52X2.0 38 24 42 038.0X2.5 38.5 4 60
20411-52-32W  20412-52-32W M52X2.0 51 32 42 038.0X2.5 35.5/36.5 4 60

ERT Ad T/ GIRTERTREAERL /" BRYERTEKERSL.

Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com Page 57




AKJIA HYDRAULIC

A|REEL HOSE FITTING

KJI

20441T

20441W

A5° N HIRIREBR24° O B IR R 5
45°METRIC FEMALE 24°CONE O-RINGL.T,
REF.ISO 12151-2/DIN3865

R < DIMENSIONS

20441-12-04W - M12X1.5 6 04 6 004.5X1.5 385 14 176 14
20441-14-04T = M14X1.5 6 04 8 006.5X1.5 36 1.7 164 17
20441-14-05W - M14X1.5 8 05 006.5X1.5 37.7 16 171 17
20441-16-04T = M16X1.5 6 04 10 008.0X1.5 36.3 21 165 19
20441-16-05T - M16X1.5 8 05 10 008.0X1.5 40 21 177 19
20441-16-06W 20442-16-06W  M16X1.5 10 06 10 008.0X1.5 42.3 23 184 19
20441-18-04T - M18X1.5 6 04 12 010.0X1.5 37.2 15 174 22
20441-18-05T = M18X1.5 8 05 12 010.0X1.5 41.3 15 19 22
20441-18-06T  20442-18-06T  M18X1.5 10 06 12 010.0X1.5 43/435 15 19 22
20441-18-08W 20442-18-08W  M18X1.5 13 08 12 010.0X1.5 46.9 18 204 22
20441-22-06T  20442-22-06T  M22X1.5 10 06 15 012.0X2.0 434 3 194 27
20441-22-08T 20442-22-08T  M22X1.5 13 08 15 012.0X2.0 48.1/49.1 3 212 27
20441-22-10W  20442-22-10W  M22X1.5 16 10 15 012.0X2.0 56.5 3 25 27
20441-26-08T  20442-26-08T  M26X1.5 13 08 18 015.0X2.0 49.1/496 21 222 32
20441-26-10T  20442-26-10T  M26X1.5 16 10 18 015.0X2.0 61.2 21 249 32
20441-26-12W  20442-26-12W  M26X1.5 19 12 18 015.0X2.0 70.1 21 289 32
20441-30-10T  20442-30-10T  M30X2.0 16 10 22 020.0X2.0 62.5 38 262 36
20441-30-12T  20442-30-12T  M30X2.0 19 12 22 020.0X2.0 69.1 38 275 36
20441-30-16W 20442-30-16W  M30X2.0 25 16 22 020.0X2.0 78.6 38 319 36
20441-36-12T  20442-36-12T M36X2.0 19 12 28 026.0X2.0 69.4 45 277 41
20441-36-16T  20442-36-16T  M36X2.0 25 16 28 026.0X2.0 814 4.5 31 41
20441-36-20W  20442-36-20W  M36X2.0 32 20 28 026.0X2.0 94.1 45 367 41
20441-45-16T  20442-45-16T  M45X2.0 25 16 35 032.0X2.5 83.6 4 332 50
20441-45-20T  20442-45-20T  M45X2.0 32 20 35 032.0X2.5 96.5 4 362 50
20441-45-24W  20442-45-24W  M45X2.0 38 24 35 032.0X2.5 109 5 423 50
20441-52-20T  20442-52-20T  M52X2.0 32 20 42 038.0X2.5 97.2 4 37 60
20441-52-24T  20442-52-24T  M52X2.0 38 24 42 038.0X2.5 110.5 4 414 60
20441-52-32W  20442-52-32W  M52X2.0 51 32 42 038.0X2.5 1285 4 464 60

ERT A/ BIRTERTRAEE /" BRIERTERERL.
Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Page 58 Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com



BREiEsL HOSE FITTING

KJI

AKJIA H YDPRUH

20491T

1ISO 12151-2--DIN3865

20491W

w7

90° A~ HINIEL24° RO BE &5
90°METRIC FEMALE 24°CONE O-RINGL.T,

o

R < DIMENSIONS

20491-12-04W - M12X1.5 6 04 004.5X1.5 27 14 31 14
20491-14-04T - M14X1.5 6 04 006.5X1.5 27 1.7 304 17
20491-14-05W - M14X1.5 8 05 006.5X1.5 28 16 315 17
20491-16-04T - M16X1.5 6 04 10 008.0X1.5 27 21 30.7 19
20491-16-05T - M16X1.5 8 05 10 008.0X1.5 32 21 347 19
20491-16-06W 20492-16-06W  M16X1.5 10 06 10 008.0X1.5 34.5 23 36.5 19
20491-18-04T - M18X1.5 6 04 12 010.0X1.5 27 15 32 22
20491-18-05T - M18X1.5 8 05 12 010.0X1.5 32 15 36.5 22
20491-18-06T  20492-18-06T M18X1.5 10 06 12 010.0X1.5 345 15 37 22
20491-18-08W 20492-18-08W  M18X1.5 13 08 12 010.0X1.5 37 1.8 394 22
20491-22-06T  20492-22-06T M22X1.5 10 06 15 012.0X2.0 345 3 38 27
20491-22-08T  20492-22-08T M22X1.5 13 08 15 012.0X2.0 41/41.5 3 44 27
20491-22-10W  20492-22-10W  M22X1.5 16 10 15 012.0X2.0 445 3 495 27
20491-26-08T 20492-26-08T M26X1.5 13 08 18 015.0X2.0 41/415 21 454 32
20491-26-10T  20492-26-10T M26X1.5 16 10 18 015.0X2.0 53 21 51.9 32
20491-26-12W 20492-26-12W  M26X1.5 19 12 18 015.0X2.0 58 21 57.5 32
20491-30-10T  20492-30-10T M30X2.0 16 10 22 020.0X2.0 53 3.8 53.7 36
20491-30-12T  20492-30-12T M30X2.0 19 12 22 020.0X2.0 61 3.8 58.2 36
20491-30-16W 20492-30-16W  M30X2.0 25 16 22 020.0X2.0 66 3.8 64.5 36
20491-36-12T  20492-36-12T M36X2.0 19 12 28 026.0X2.0 61 45 58.5 41
20491-36-16T  20492-36-16T M36X2.0 25 16 28 026.0X2.0 75 4.5 68.5 41
20491-36-20W 20492-36-20W  M36X2.0 32 20 28 026.0X2.0 84 4.5 76.5 41
20491-45-16T  20492-45-16T M45X2.0 25 16 35 032.0X2.5 75 4 71.5 50
20491-45-20T  20492-45-20T M45X2.0 32 20 35 032.0X2.5 91 4 82 50
20491-45-24W  20492-45-24W  M45X2.0 38 24 35 032.0X2.5 975 5 90.5 50
20491-52-20T  20492-52-20T M52X2.0 32 20 42 038.0X2.5 91 4 83 60
20491-52-24T  20492-52-24T M52X2.0 38 24 42 038.0X2.5 106 4 95.5 60
20491-52-32W  20492-52-32W  M52X2.0 51 32 42 038.0X2.5 118 4 1025 60
ERT A/ GIRTERTRAEREEL "/ BRIERATERERSL.
Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.
Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com Page 59



IKiR] R EEsL HOSE FITTING

ANHEIRBELR24°#HHOF B E RS
METRIC FEMALE 24°CONE O-RING H.T. c._ A
REF. 1SO 12151-2/DIN3865

20511T

20511W

20511-14-04T - M14X1.5 6 04 6 004.5X1.5 24 17 17
20511-16-04T = M16X1.5 6 04 8 006.5X1.5 245 18 19
20511-16-05T - M16X1.5 8 05 006.5X1.5 25 1.8 19
20511-18-04T - M18X1.5 6 04 10 008.0X1.5 255 15 22
20511-18-05T - M18X1.5 8 05 10 008.0X1.5 255 15 22
20511-18-06T 20512-18-06T M18X1.5 10 06 10 008.0X1.5 26.5 15 22
20511-20-05T - M20X1.5 8 05 12 010.0X1.5 26.5 25 24
20511-20-06T  20512-20-06T M20X1.5 10 06 12 010.0X1.5 26.5/28 2.5 24
20511-20-08W 20512-20-08W  M20X1.5 13 08 12 010.0X1.5 25/26 25 24
20511-22-06T 20512-22-06T M22X1.5 10 06 14 011.0X2.0 26.5 3 27
20511-22-08T  20512-22-08T M22X1.5 13 08 14 011.0X2.0  29/30 3 27
20511-24-06T 20512-24-06T M24X1.5 10 06 16 013.0X2.0 27/28.5 3 30
20511-24-08T  20512-24-08T M24X1.5 13 08 16 013.0X2.0 27.5/28.5 3 30
20511-24-10W 20512-24-10W  M24X1.5 16 10 16 013.0X2.0 26/27.5 3 30
20511-30-08T  20512-30-08T M30X2 13 08 20 016.3X2.4 32.5/36.5 25 36
20511-30-10T  20512-30-10T M30X2 16 10 20 016.3X2.4  33/34 2.5 36
20511-30-12T  20512-30-12T M30X2 19 12 20 016.3X2.4 34.5/35.8 25 36
20511-36-12T  20512-36-12T M36X2 19 12 25 020.3X2.4 35/353 3.2 46
20511-36-16T  20512-36-16T M36X2 25 16 25 020.3X2.4 37 3.2 46
20511-42-16T 20512-42-16T M42X2 25 16 30 025.3X2.4 38.5/39.5 3.9 50
20511-42-20W 20512-42-20W M42X2 32 20 30 025.3X24 33/345 39 50
20511-52-20T 20512-52-20T M52X2 32 20 38 033.3X24 41.5/42 9 60
20511-52-24T  20512-52-24T M52X2 38 24 38 033.3X2.4 415 9 60
20511-64-32T 20512-64-32T M64X2 51 32 50 045.0X2.5 56/57 6 75
20511-64-40W 20512-64-40W M64X2 64 40 50 045.0X2.5 52/63 6 75

ERT A/ IRTERTREAEREL /" BRIEATEREREL.
Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Page 60 Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com



BREiEsL HOSE FITTING

KJI

AKJIA H Yﬂﬁﬂuﬂ

20541T

A5° N HIRIRBR24° O B E RS

45°METRIC FEMALE 24°CONE O-RING H.T.

REF.1SO 12151-2/DIN3865

20541W

R < DIMENSIONS

20541-14-04T - M14X1.5 6 04 004.5X1.5 36 17 164 17
20541-16-04T = M16X1.5 6 04 006.5X1.5 36.4 1.8 16.7 19
20541-16-05T - M16X1.5 8 05 006.5X1.5 381 18 17 19
20541-18-04T = M18X1.5 6 04 10 008.0X1.5 374 15 17.8 22
20541-18-05T - M18X1.5 8 05 10 008.0X1.5 413 15 19 22
20541-18-06T 20542-18-06T M18X1.5 10 06 10 008.0X1.5 43.2 15 194 22
20541-20-05T 20542-20-05T M20X1.5 8 05 12 010.0X1.5 417 25 193 24
20541-20-06T 20542-20-06T M20X1.5 10 06 12 010.0X1.5 43.7/442 25 19.8 24
20541-20-08W 20542-20-08W M20X1.5 13 08 12 010.0X1.5 46.3 25 21.9 24
20541-22-06T 20542-22-06T M22X1.5 10 06 14 011.0X2.0 43.7/44.2 3 19.8 27
20541-22-08T 20542-22-08T M22X1.5 13 08 14 011.0X2.0 48.5 3 215 27
20541-24-06T 20542-24-06T M24X1.5 10 06 16 013.0X2.0 43.7 3 19.8 30
20541-24-08T 20542-24-08T M24X1.5 13 08 16 013.0X2.0 48.5 3 215 30
20541-24-10W 20542-24-10W M24X1.5 16 10 16 013.0X2.0 56.3/57.3 3 26.8 30
20541-30-08T 20542-30-08T  M30X2 13 08 20 016.3X2.4 51.3 2.5 244 36
20541-30-10T 20542-30-10T  M30X2 16 10 20 016.3X2.4 63.4 25 271 36
20541-30-12T 20542-30-12T  M30X2 19 12 20 016.3X2.4 68.4 25 271 36
20541-36-12T 20542-36-12T M36X2 19 12 25 020.3X2.4 70.3 3.2 28.6 46
20541-36-16T 20542-36-16T M36X2 25 16 25 020.3X2.4 824 3.2 32 46
20541-42-16T 20542-42-16T  M42X2 25 16 30 025.3X2.4 83.6 39 33.2 50
20541-42-20W 20542-42-20W  M42X2 32 20 30 025.3X24 100.4/975 39 40.1 50
20541-52-20T 20542-52-20T M52X2 32 20 38 033.3X2.4 99.7 9 394 60
20541-52-24T 20542-52-24T  M52X2 38 24 38 033.3X24 1116 9 42.5 60
20541-64-32T 20542-64-32T M64X2 51 32 50 045.0X2.5 146.1 6 57.6 75
20541-64-40W 20542-64-40W  M64X2 64 40 50 045.0X2.5 165.3/1723 6 61.9 75
ERT Af Y/ BIRTERTRAEEL "/ BRIYERTESREREL.
Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.
Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com Page 61




IKiR] R EEsL HOSE FITTING

90° A~ HINIEL24° OB E RS A
205917 90°METRIC FEMALE 24°CONE O-RING H.T.
REF. 1SO 12151-2/DIN3865 —
20591W G
AR

]

F=ERLSPART NO. EREFHOSE SIZE R < DIVENSIONS

20591-14-04T - M14X1.5 6 04 6 004.5X1.5 27 17 304 17
20591-16-04T = M16X1.5 6 04 8 006.5X1.5 27 1.8 31 19
20591-16-05T - M16X1.5 8 05 8 006.5X1.5 29 18 32 19
20591-18-04T = M18X1.5 6 04 10 008.0X1.5 27 15 325 22
20591-18-05T - M18X1.5 8 05 10 008.0X1.5 32 15 36.5 22
20591-18-06T  20592-18-06T M18X1.5 10 06 10 008.0X1.5 345 15 375 22
20591-20-05T - M20X1.5 8 05 12 010.0X1.5 32 25 37 24
20591-20-06T  20592-20-06T M20X1.5 10 06 12 010.0X1.5 34.5/35 25 38 24
20591-20-08W  20592-20-08W  M20X1.5 13 08 12 010.0X1.5 35 2.5 41.5 24
20591-22-06T  20592-22-06T M22X1.5 10 06 14 011.0X2.0 34.5/35 3 385 27
20591-22-08T  20592-22-08T M22X1.5 13 08 14 011.0X2.0 41 3 44.5 27
20591-24-06T  20592-24-06T M24X1.5 10 06 16 013.0X2.0 345 3 385 30
20591-24-08T  20592-24-08T M24X1.5 13 08 16 013.0X2.0 41 3 44.5 30
20591-24-10W 20592-24-10W  M24X1.5 16 10 16 013.0X2.0 43.5/44.5 3 52 30
20591-30-08T  20592-30-08T M30X2 13 08 20 016.3X2.4 41 2.5 48.5 36
20591-30-10T  20592-30-10T M30X2 16 10 20 016.3X2.4 53 25 55 36
20591-30-12T  20592-30-12T M30X2 19 12 20 016.3X2.4 58 2.5 55 36
20591-36-12T  20592-36-12T M36X2 19 12 25 020.3X2.4 61 3.2 59.8 46
20591-36-16T  20592-36-16T M36X2 25 16 25 020.3X2.4 75 3.2 69.8 46
20591-42-16T  20592-42-16T M42X2 25 16 30 025.3X2.4 75 3.9 71.6 50
20591-42-20W  20592-42-20W  M42X2 32 20 30 025.3X2.4 91 39 875 50
20591-52-20T  20592-52-20T M52X2 32 20 38 033.3X2.4 91 9 86.5 60
20591-52-24T  20592-52-24T M52X2 38 24 38 033.3X2.4 106 9 97 60
20591-64-32T  20592-64-32T M64X2 51 32 50 045.0X2.5 132 6 130.3 75
20591-64-40W  20592-64-40W  M64X2 64 40 50 045.0X2.5 147/154 6 136.3 75

ERT A/ BIRTERTRAEEL /" BRYEATEREREL.
Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Page 62 Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com



BREiEsL HOSE FITTING

KJI

AKJIA H Yﬂﬁﬂuﬂ

20711T Eirasim@mrd-ms:

GB METRIC FEMALE 74°CONE SEAT

REF. GB/T 9065.1

20711W

20711

74°
E

S2

=R SPART NO. $REFHOSE SIZE R < DIMENSIONS

20711-12-04 - M12X1.5 6 04 14.5 10 17
20711-14-04T - M14X1.5 6 04 16.5 8.5 17
20711-16-04T - M16X1.5 6 04 16 8 19
20711-16-05T - M16X1.5 8 05 16.5 8 19
20711-16-06 20712-16-06 M16X1.5 10 06 16/17.5 10 22
20711-18-05T - M18X1.5 8 05 18 8 22
20711-18-06T 20712-18-06T M18X1.5 10 06 19/20 8 22
20711-22-06T 20712-22-06T M22X1.5 10 06 18 10 27
20711-22-08T 20712-22-08T M22X1.5 13 08 19.5/20.5 10 27
20711-27-08T 20712-27-08T M27X1.5 13 08 19 10 32
20711-27-10T 20712-27-10T M27X1.5 16 10 20/21 10 32
20711-27-12 20712-27-12 M27X1.5 19 12 21.5/22.8 10 32
20711-30-10T 20712-30-10T M30X1.5 16 10 19.5 11 36
20711-30-12T 20712-30-12T M30X1.5 19 12 23.5/24.8 11 36
20711-36-12T 20712-36-12T M36X2 19 12 21/21.3 13 41
20711-36-16T 20712-36-16T M36X2 25 16 24 13 41
20711-39-16T 20712-39-16T M39X2 25 16 23.5/24.5 13 46
20711-42-16T 20712-42-16T M42X2 25 16 23.5/24.5 15 50
20711-42-20W  20712-42-20W M42X2 32 20 26 15 50
20711-45-16T 20712-45-16T M45X2 25 16 25 15 55
20711-45-20T 20712-45-20T M45X2 32 20 25/27 15 55
20711-52-20T 20712-52-20T M52X2 32 20 25 17 60
20711-52-24T7 20712-52-24T M52X2 38 24 25 17 60
20711-64-32T 20712-64-32T M64X2 51 32 26/27 23 75
ERT Adh '/ BIRTERTRAEEL /" BRYERTERERSL.
Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.
Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com Page 63



AKJIA HYDRAULIC

A|REEL HOSE FITTING

KJI

20741T

A5 EFRAHIRIRET 4°F £
45°GB METRIC FEMALE 74°CONE SEAT
REF. GB/T 9065.1

20741W

20741

e

F=RIESPART NO. EREHOSE SIZE R <t DIMENSIONS

20741-12-04 - M12X1.5 6 04 374 10 17.8 17
20741-14-04T = M14X1.5 6 04 353 8.5 15.7 17
20741-16-04T - M16X1.5 6 04 37.1 8 174 19
20741-16-05T = M16X1.5 8 05 424 8 20 19

20741-16-06 20742-16-06 M16X1.5 10 06 444 10 20.5 22
20741-18-05T = M18X1.5 8 05 42.7 8 204 22
20741-18-06T 20742-18-06T M18X1.5 10 06 44.8 8 20.8 22
20741-22-06T 20742-22-06T M22X1.5 10 06 44.8 10 20.8 27
20741-22-08T 20742-22-08T M22X1.5 13 08 47 10 20.1 27
20741-27-08T 20742-27-08T M27X1.5 13 08 48.5 10 215 32
20741-27-107 20742-27-10T M27X1.5 16 10 591 10 22.8 32
20741-30-10T 20742-30-10T M30X1.5 16 10 591 11 22.8 36
20741-30-12T 20742-30-12T M30XL1.5 19 12 67.6 11 259 36
20741-36-12T 20742-36-12T M36X2 19 12 67.6 13 259 41
20741-36-16T 20742-36-16T M36X2 25 16 79.7 13 293 41
20741-39-16T 20742-39-16T M39X2 25 16 80.4 13 30 46
20741-42-16T 20742-42-16T M42X2 25 16 80.4 15 30 50
20741-42-20W  20742-42-20W M42X2 32 20 95.8 15 35.5 50
20741-45-16T 20742-45-16T M45X2 25 16 81.8 15 314 55
20741-45-20T 20742-45-20T M45X2 32 20 94.7 15 34.5 55
20741-52-24W  20742-52-24W M52X2 38 24 111.8 17 42.7 60

ERT A"/ BIRTERTRAEES. "/ BRIERTERERL.
Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Page 64 Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com



szl HOSE FITTING[AKJIA]

90°EIR A IR T4 E

20791T

90°GB METRIC FEMALE 74°CONE SEAT
REF. GB/T 9065.1

20791W

20791

74°

F=RIESPART NO. EREHOSE SIZE R < DIMENSIONS

20791-12-04 - M12X1.5 6 04 27 10 325 17
20791-14-04T - M14X1.5 6 04 27 8.5 294 17
20791-16-04T - M16X1.5 6 04 27 8 32 19
20791-16-05T - M16X1.5 8 05 32 8 38 19
20791-16-06 - M16X1.5 10 06 34.5 10 39.5 22
20791-18-05T - M18X1.5 8 05 32 8 38.5 22
20791-18-06T 20792-18-06T M18X1.5 10 06 34.5 8 40 22
20791-22-06T 20792-22-06T M22X1.5 10 06 345 10 38 27
20791-22-08T 20792-22-08T M22X1.5 13 08 41 10 425 27
20791-27-08T 20792-27-08T M27X1.5 13 08 41 10 44.5 32
20791-27-10T 20792-27-10T M27X1.5 16 10 53 10 49 32
20791-27-12 20792-27-12 M27X1.5 19 12 61 10 55.5 32
20791-30-10T 20792-30-10T M30X1.5 16 10 53 11 49 36
20791-30-12T 20792-30-12T M30X1.5 19 12 61 11 56 36
20791-36-12T 20792-36-12T M36X2 19 12 61 13 56 41
20791-36-16T 20792-36-16T M36X2 25 16 75 13 66 41
20791-39-16T 20792-39-16T M39X2 25 16 75 13 67 46
20791-42-16T 20792-42-16T M42X2 25 16 75 15 69 50
20791-42-20W  20792-42-20W M42X2 32 20 91 15 81 50
20791-45-16T 20792-45-16T M45X2 25 16 75 15 67 55
20791-45-20T 20792-45-20T M45X2 32 20 91 15 79.5 55
20791-52-24W  20792-52-24W M52X2 38 24 106 17 97.3 60
ERT Adh '/ IRTERTRAEEL /" BRYERTERERSL.
Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.
Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com Page 65




KR EREE$EsL HOSE FITTING

22611W
22611

REWIRL60°FMEE

BSP FEMALE 60°CONE

S2

F=RIESPART NO. EREHOSE SIZE R <t DIMENSIONS

22611-04-04 - G1/4"X19 6 04 18 55 19
22611-04-05 = G1/4"X19 8 05 18 5.5 19
22611-06-04 - G3/8"X19 6 04 19 6.3 22
22611-06-05 = G3/8"X19 8 05 19 6.3 22
22611-06-06 22612-06-06 G3/8"X19 10 06 19.5/21 6.3 22
22611-06-08 22612-06-08 G3/8"X19 13 08 19.5/20.5 6.3 22
22611-08-06 22612-08-06 G1/2"X14 10 06 21/22.5 7.5 27
22611-08-08 22612-08-08 G1/2"X14 13 08 21.5/22.5 7.5 27
22611-10-10 22612-10-10 G5/8"X14 16 10 23/24 9.5 30
22611-12-12 22612-12-12 G3/4"X14 19 12 24/25.8 10.9 32
22611-16-16 22612-16-16 G1"X11 25 16 27/28 11.7 41
22611-20-20W  22612-20-20W  G1.1/4"X11 32 20 30.5/32 10.1 50
22611-24-24W  22612-24-24W  G1.1/2"x11 38 24 33 125 55
22611-32-32W  22612-32-32W G2"X11 51 32 33/34 16.1 70

ERT A"/ IRTERTRAEES. "/ BRIERTERERL.
Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Page 66

Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com




FreEsiEsl HOSE FITTING|A

AKJIA HYDRHULﬂ

KJI

22641W 4> RERBRI60°IMER

22641

45°BSP FEMALE 60°CONE

22641-04-04 - G1/4"X19 6 04 36 55 16.4 19
22641-06-04 = G3/8"X19 6 04 36.9 6.3 17.2 22
22641-06-06 22642-06-06 G3/8"X19 10 06 42.8 6.3 18.8 22
22641-06-08 22642-06-08 G3/8"X19 13 08 473 6.3 18.8 22
22641-08-06 22642-08-06 G1/2"X14 10 06 44.8 7.5 20.8 27
22641-08-08 22642-08-08 G1/2"X14 13 08 49.5 7.5 226 27
22641-12-12 22642-12-12 G3/4"X14 19 12 69.1 10.9 274 32
22641-16-16 22642-16-16 G1"X11 25 16 82.7 11.7 32.3 41
22641-20-20W  22642-20-20W  G1.1/4"X11 32 20 98.2 10.1 38 50
22641-24-24W  22642-24-24W  G1.1/2"x11 38 24 114.7/113.7 125 44.6 55
22641-32-32W  22642-32-32W G2"X11 51 32 141.1/1421 16.1 52.7 70
ERT AfR /" BIRTERFRAEEEL /" BRYERFEREREL.
Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.
Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com Page 67



IKiR] R EEsL HOSE FITTING

22691W 90 RERRK60°IMER

90°BSP FEMALE 60°CONE
22691

22691-04-04 - G1/4"X19 6 04 27 5.5 30.5 19
22691-06-04 = G3/8"X19 6 04 27 6.3 31.7 22
22691-06-06 22692-06-06 G3/8"X19 10 06 34.5 6.3 37.2 22
22691-06-08 22692-06-08 G3/8"X19 13 08 39 6.3 37.2 22
22691-08-06 22692-08-06 G1/2"X14 10 06 34.5 7.5 40 27
22691-08-08 22692-08-08 G1/2"X14 13 08 41 7.5 46 27
22691-10-10 22692-10-10 G5/8"X14 16 10 53 9.5 53 30
22691-12-12 22692-12-12 G3/4"X14 19 12 61 10.9 581 32
22691-16-16 22692-16-16 G1"X11 25 16 75 11.7 70.3 41
22691-20-20W  22692-20-20W  G1.1/4"X11 32 20 91 10.1 84.5 50
22691-24-24W  22692-24-24W  G1.1/2"x11 38 24 106 125 100 55
22691-32-32W  22692-32-32W G2"X11 51 32 132 16.1 123.2 70

ERITAF /A

Page 68

RIBERFRAEEL "/ BRYGEATEREREL.
Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com




szl HOSE FITTING[AKJIA]

22611D-SMW RERELEOIHEET

BSP FEMALE 60°CONE DOUBLE HEXAGON

22611D-SM T

s )

$2 S1
F=RIESPART NO. $XEHOSE SIZE R 7 DIMENSIONS

22611D-04-04SM - G1/4"X19 6 04 2325 55 14 19
22611D-06-06SM  22612D-06-06SM  G3/8"X19 10 06 26 63 17 22
22611D-08-06SM  22612D-08-06SM  G1/2'X14 10 06 305 75 19 27
22611D-08-08SM  22612D-08-08SM  G1/2'X14 13 08 31 75 19 27
22611D-12-12SM  22612D-12-12SM  G3/4'X14 19 12 335 109 27 32
22611D-16-165SM  22612D-16-165M  G1'X11 25 16 36 117 32 41
22611D-20-20SMW  22612D-20-20SMW ~ G1.1/4°X11 32 20 44 11 41 50
22611D-24-24SMW  22612D-24-24SMW  GL.1/2°x11 38 24 45 13 46 55
22611D-32-32SMW  22612D-32-32SMW  G2'X11 51 32 45 16 60 70

ERT A/ IRTERTHRAERL '/ GRIBATERERL.

Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

24211D-SMW  EHORFSRIZLFEMA

ORFS FEMALE FLAT SEAT DOUBLE HEXAGON
REF.1SO 12151-1/SAE J516 C

24211D-SM . %“%

T s2
24211D-04-04SM - 9/16"X18 6 04 28 8.5 14 19
24211D-06-04SM - 11/16"X16 6 04 31 10 17 22
24211D-06-06SM 24212D-06-06SM 11/16"X16 10 06 31/33 10 17 22
24211D-08-08SM 24212D-08-08SM 13/16"X16 13 08 36 11 19 27
24211D-10-10SM 24212D-10-10SM 1"X14 16 10 39.5 135 24 30
24211D-12-12SM 24212D-12-12SM 1.3/16"X12 19 12 44.5 15 30 36
24211D-16-16SM 24212D-16-16SM 1.7/16"X12 25 16 50 15 36 41
24211D-20-20SMW  24212D-20-20SMW 1.11/16"X12 32 20 54.5 15 41 50
24211D-24-24SMW  24212D-24-24SMW 2"X12 38 24 60 14.8 50 60

ERT AfR "/ IRTERTRAEESL /" BRYEAFESEREL,
Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com =~ —— — Page 69




KR EREE$EsL HOSE FITTING

EHIORFSHIEL FH
ORFS FEMALE FLAT SEAT -
REF.ISO 12151-1/SAE J516

24211T
24211W

24211 ~ T ’
S2
24211-04-04 - 9/16"X18 6 04 225 8.5 19
24211-04-05 - 9/16"X18 8 05 225 8.5 19
24211-06-04T - 11/16"X16 6 04 235 10 22
24211-06-05T - 11/16"X16 8 05 235 10 22
24211-06-06 24212-06-06 11/16"X16 10 06 25.5/27 10 22
24211-08-06T 24212-08-06T 13/16"X16 10 06 25/26.5 11 27
24211-08-08 24212-08-08 13/16"X16 13 08 28/29 11 27
24211-10-08 24212-10-08 1"X14 13 08 32.5/335 13.5 30
24211-10-10 24212-10-10 1"X14 16 10 33/34 13.5 30
24211-10-12 24212-10-12 1"X14 19 12 33.5/34.8 13.5 30
24211-12-08T 24212-12-08T 1.3/16"X12 13 08 33.5/34.5 14 36
24211-12-10T 24212-12-10T 1.3/16"X12 16 10 31.5/32.5 14 36
24211-12-12T7 24212-12-12T 1.3/16"X12 19 12 33/34.3 14 36
24211-16-12T 24212-16-12T 1.7/16"X12 19 12 35/36.3 14.8 41
24211-16-16T 24212-16-16T 1.7/16"X12 25 16 34.5/35.5 14.8 41
24211-20-20W 24212-20-20W  1.11/16"X12 32 20 42.5/43 15 50
24211-24-24T7 24212-24-24T 2"X12 38 24 36 14.8 60

ERT A"/ BIRTERTRAEES. "/ BRIERTERERL.

Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Page 70

Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com




szl HOSE FITTING[AKJIA]

24241T 45 £HIORFSHIELTHE

45°0ORFS FEMALE FLAT SEAT
REF.ISO 12151-1/SAE J516

24241W

24241

S2
F=RIESPART NO. EREHOSE SIZE R < DIMENSIONS

24241-04-04 - 9/16"X18 6 04 30.7 8.5 111 19
24241-06-04T - 11/16"X16 6 04 35.8 10 16 22
24241-06-06 24242-06-06 11/16"X16 10 06 37.7 10 13.8 22
24241-08-06T 24242-08-06T 13/16"X16 10 06 441 11 20.1 27
24241-08-08 24242-08-08 13/16"X16 13 08 443 11 17.5 27
24241-10-08 24242-10-08 1"X14 13 08 48.5 13.5 215 30
24241-10-10 24242-10-10 1"X14 16 10 56 13.5 19.7 30
24241-12-08T 24242-12-08T 1.3/16"X12 13 08 49.2 15 222 36
24241-12-10T 24242-12-10T 1.3/16"X12 16 10 59.1 15 22.8 36
24241-12-12T 24242-12-12T 1.3/16"X12 19 12 66.2 15 24.5 36
24241-16-12T 24242-16-12T 1.7/16"X12 19 12 68.3 14.8 26.6 41
24241-16-16T 24242-16-16T 1.7/16"X12 25 16 79 14.8 28.6 41
24241-20-20W  24242-20-20W  1.11/16"X12 32 20 954 15 35.2 50
24241-24-24T 24242-24-24T 2"'X12 38 24 105.9 14.8 36.8 60
ERT Adr '/ BIRTERTRAEEL /" BRYERTERERSL.
Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.
Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com Page 71




KR EREE$EsL HOSE FITTING

90°EHIORFSPIIRL S HE
90°0ORFS FEMALE FLAT SEAT
REF.ISO 12151-1/SAE J516

24291T

24291W

24291

E
F=RIESPART NO. EREHOSE SIZE R < DIMENSIONS

24291-04-04 - 9/16"X18 6 04 27 8.5 244 19
24291-06-04T = 11/16"X16 6 04 27 10 30 22
24291-06-06 24292-06-06 11/16"X16 10 06 345 10 30 22
24291-08-06T 24292-08-06T 13/16"X16 10 06 34.5 11 39 27
24291-08-08 24292-08-08 13/16"X16 13 08 40.7/41.2 11 38.7 27
24291-10-08 24292-10-08 1"X14 13 08 41 135 44.5 30
24291-10-10 24292-10-10 1"X14 16 10 53 135 445 30
24291-12-08T 24292-12-08T 1.3/16"X12 13 08 41 15 45.5 36
24291-12-10T7 24292-12-10T 1.3/16"X12 16 10 53 15 49 36
24291-12-12T7 24292-12-12T 1.3/16"X12 19 12 61 15 54 36
24291-16-12T 24292-16-12T 1.7/16"X12 19 12 61 14.8 55 41
24291-16-16T 24292-16-16T 1.7/16"X12 25 16 75 14.8 65 41
24291-20-20W  24292-20-20W  1.11/16"X12 32 20 91 15 80.5 50
24291-24-24T7 24292-24-24T 2"X12 38 24 106 14.8 89 60

ERT A"/ IRTERTRAEES. "/ BRIERTERERL.
Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Page 72

Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com




szl HOSE FITTING[AKJIA]

26711T EHICIRLT7 4° REE
JIC FEMALE 74°CONE SEAT

26711W REF. SAE J514 i‘L’

26711

F=RIESPART NO. $REFHOSE SIZE R 7 DIMENSIONS

26711-04-03 - 7/16"X20 5 03 14 9 15
26711-04-04 = 7/16"X20 6 04 15 9 15
26711-04-05 - 7/16"X20 8 05 15 9 15
26711-05-04 = 1/2"X20 6 04 155 9.5 17
26711-05-05 - 1/2"X20 8 05 155 9.5 17
26711-06-04 = 9/16"X18 6 04 155 10.5 19
26711-06-05 - 9/16"X18 8 05 155 10.5 19
26711-06-06 26712-06-06 9/16"X18 10 06 15.5/17 10.5 19
26711-08-06 26712-08-06 3/4"X16 10 06 17.5/19 11 24
26711-08-08 26712-08-08 3/4"X16 13 08 18.5/19 11 24
26711-08-10 26712-08-10 3/4"X16 16 10 19/20 11 24
26711-10-08 26712-10-08 7/8"X14 13 08 19/19.5 13 27
26711-10-10 26712-10-10 7/8"X14 16 10 19.5/20.5 13 27
26711-12-10 26712-12-10 1.1/16"X12 16 10 21/22 15 32
26711-12-12 26712-12-12 1.1/16"X12 19 12 21.5/22.8 15 32
26711-16-12 26712-16-12 1.5/16"X12 19 12 21.5/24.3 16 41
26711-16-16 26712-16-16 1.5/16"X12 25 16 22.5/23.5 16 41
26711-20-20W  26712-20-20W 1.5/8"X12 32 20 26.5/28 16.1 50
26711-24-24W  26712-24-24W 1.7/8"X12 38 24 30.5 20 55
26711-32-32T 26712-32-32T 2.1/2"X12 51 32 27/28 235 75

ERT A"/ BIRTERTRAEESL "/ BRIERTERERL.

Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com

Page 73



KR EREE$EsL HOSE FITTING

26741W A5°EHICHIRNT 4° N HEE

26741

45°JIC FEMALE 74°CONE SEAT
REF. SAE J514

26741-04-04 - 7/16"X20 6 04 339 9 143 15
26741-05-04 = 1/2"X20 6 04 343 9.5 14.6 17
26741-05-05 - 1/2"X20 8 05 381 9.5 15.8 17
26741-06-04 = 9/16"X18 6 04 343 10.5 14.6 19
26741-06-05 - 9/16"X18 8 05 381 10.5 15.8 19
26741-06-06 26742-06-06 9/16"X18 10 06 40.2 10.5 16.2 19
26741-08-06 26742-08-06 3/4"X16 10 06 41.6 11 17.6 24
26741-08-08 26742-08-08 3/4"X16 13 08 46.3 11 194 24
26741-08-10 26742-08-10 3/4"X16 16 10 54.6 11 20.1 24
26741-10-08 26742-10-08 7/8"X14 13 08 474 13 20.5 27
26741-10-10 26742-10-10 7/8"X14 16 10 59.5 13 23.2 27
26741-12-10 26742-12-10 1.1/16"X12 16 10 60.2 15 23.9 32
26741-12-12 26742-12-12 1.1/16"X12 19 12 66.9 15 25.2 32
26741-16-12 26742-16-12 1.5/16"X12 19 12 67.6 16 25.9 41
26741-16-16 26742-16-16 1.5/16"X12 25 16 79.3 16 28.9 41
26741-20-20W  26742-20-20W  1.5/8"X12 32 20 954 16.1 35.2 50
26741-24-24W  26742-24-24W  1.7/8"X12 38 24 1119 20 42.8 55
26741-32-32W  26742-32-32W  2.1/2"X12 51 32 140 235 51.6 75

ERT A"/ BIRTERTRAEESL "/ BRIERTERERL.
Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Page 74 Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com



szl HOSE FITTING[AKJIA]

26791W 90° = HIICPIIREL7 4° Y SHEE

90°JIC FEMALE 74°CONE SEAT
26791

REF. SAE J514

F=RESPART NO. EREHOSE SIZE R <t DIMENSIONS

26791-04-03 - 7/16"X20 5 03 245 9 245 15
26791-04-04 = 7/16"X20 6 04 27 9 274 15
26791-04-05 - 7/16"X20 8 05 28 9 274 15
26791-05-04 = 1/2"X20 6 04 27 9.5 28 17
26791-05-05 - 1/2"X20 8 05 32 9.5 32 17
26791-06-04 = 9/16"X18 6 04 27 10.5 28 19
26791-06-05 - 9/16"X18 8 05 32 10.5 32 19
26791-06-06 26792-06-06 9/16"X18 10 06 34.5 10.5 335 19
26791-08-06 26792-08-06 3/4"X16 10 06 345 11 355 24
26791-08-08 26792-08-08 3/4"X16 13 08 41 11 42.5 24
26791-08-10 26792-08-10 3/4"X16 16 10 48.5 11 42.5 24
26791-10-08 26792-10-08 7/8"X14 13 08 41 13 43.5 27
26791-10-10 26792-10-10 7/8"X14 16 10 53 13 49.5 27
26791-12-10 26792-12-10 1.1/16"X12 16 10 53 15 50.5 32
26791-12-12 26792-12-12 1.1/16"X12 19 12 61 15 55 32
26791-16-12 26792-16-12 1.5/16"X12 19 12 61 16 56 41
26791-16-16 26792-16-16 1.5/16"X12 25 16 75 16 65.5 41
26791-20-20W  26792-20-20W 1.5/8"X12 32 20 91 16.1 80.5 50
26791-24-24W  26792-24-24W 1.7/8"X12 38 24 106 20 97.5 55
26791-32-32W  26792-32-32W 2.1/2"X12 51 32 132 235 121.8 75

ERT A"/ BIRTERTRAEESL "/ BRIERTERERL.
Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Page 75

Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com



KR EREE$EsL HOSE FITTING

26711D-
26711D-

SMW

4 ICRIB ST 4° WAEE N 7

JIC FEMALE 74°CONE SEAT DOUBLE HEXAGON

REF. SAE J514

SM

K
26711D-04-04SM - 7/16"X20 6 04 20 9 12 15
26711D-04-05SM - 7/16"X20 8 05 20 9 14 15
26711D-06-06SM 26712D-06-06SM 9/16"X18 10 06 21 10.5 17 19
26711D-06-08SM 26712D-06-08SM 9/16"X18 13 08 215 10.5 19 19
26711D-08-06SM 26712D-08-06SM 3/4"X16 10 06 25 11 19 24
26711D-08-08SM 26712D-08-08SM 3/4"X16 13 08 245 11 19 24
26711D-08-10SM 26712D-08-10SM 3/4"X16 16 10 25 11 22 24
26711D-10-08SM 26712D-10-08SM 7/8"X14 13 08 25 13 22 27
26711D-10-10SM 26712D-10-10SM 7/8"X14 16 10 26.5 13 22 27
26711D-12-10SM 26712D-12-10SM 1.1/16"X12 16 10 31.5 15 27 32
26711D-12-12SM 26712D-12-12SM 1.1/16"X12 19 12 32 15 27 32
26711D-16-12SM 26712D-16-12SM 1.5/16"X12 19 12 33.5 16 32 41
26711D-16-16SM 26712D-16-16SM 1.5/16"X12 25 16 34.5 16 32 41
26711D-20-20SMW 26712D-20-20SMW  1.5/8"X12 32 20 38.5 16.1 41 50
26711D-24-20SMW 26712D-24-20SMW  1.7/8"X12 32 20 41.5 20 46 55
26711D-24-24SMW 26712D-24-24SMW  1.7/8"X12 38 24 41.5 20 46 55
26711D-32-24SMW 26712D-32-24SMW  2.1/2"X12 38 24 44 235 65 75
26711D-32-32SMW 26712D-32-32SMW  2.1/2"X12 51 32 44 235 65 75

ERT A"/ IRTERTRAEES. "/ BRIERTERERL.

Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Page 76

Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com




BREiEsL HOSE FITTING

AKJIA H YDRHUH

KJI

28611W EFLHRRN60 ANHEHE

JIS METRIC FEMALE 60°CONE SEAT
28611

s2 \sl
=R SPART NO. §REFHOSE SIZE R I DIMENSIONS

28611-14-04 - M14X1.5 6 04 21 10.5 19 19
28611-16-05 = M16X1.5 8 05 24 10 22 22
28611-16-06 28612-16-06 M16X1.5 10 06 24/25.5 10 22 22
28611-18-06 28612-18-06 M18X1.5 10 06 24/25.5 11.5 24 24
28611-20-08 28612-20-08 M20X1.5 13 08 28.5 12 27 27
28611-22-08 28612-22-08 M22X1.5 13 08 25.5/26.5 14 27 27
28611-24-08 28612-24-08 M24X1.5 13 08 27.5/28.5 15 32 32
28611-24-10 28612-24-10 M24X1.5 16 10 28/29 15 32 32
28611-30-12 28612-30-12 M30X1.5 19 12 28.5/30.8 183 36 36
28611-33-12 28612-33-12 M33X1.5 19 12 31/35.3 213 41 41
28611-36-16 28612-36-16 M36X1.5 25 16 34.5/36.5 20 46 46
28611-42-20W  28612-42-20W M42X1.5 32 20 41/41.5 18.8 55 55

ERT A/ BIRTERTRAEEL '/ BRIBEATERERL,

Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

290611W EFERHERIRL60° FHHE

JIS GAS FEMALE 60°CONE SEAT
REF.JIS B8363
29611

| ™EASPARTNO. | @M E | KEHOSESIZE |  RYDIMENSIONS |

29611-04-04 - G1/4"X19 6 04 21 8 19 19
29611-06-05 - G3/8"X19 8 05 23 9 22 22
29611-06-06 29612-06-06 G3/8"X19 10 06 23/245 9 22 22
29611-08-08 29612-08-08 G1/2"X14 13 08 26.5/29.5 10.5 27 27
29611-10-10 29612-10-10 G5/8"X14 16 10 30.5/31 11.5 30 30
29611-12-12 29612-12-12 G3/4"X14 19 12 30.5/29.8 135 32 32
29611-16-16 29612-16-16 G1"X11 25 16 34/33 16 41 41
29611-20-20W 29612-20-20W  G1.1/4"X11 32 20 43 18.6 50 50
29611-24-24W 29612-24-24W  G1.1/2"'X11 38 24 43.5 19 55 55
29611-32-32W 29612-32-32W G2"'X11 51 32 46.5/47.5 23 70 70
ERT Ad /" BIRTERTREAERL "/ BRIERTEFERSL.
Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.
Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com Page 77



[AKJIA] S &iEsL HOSE FITTING

70011 A#kEs

METRIC BANJO
REF. DIN 7642

70011-12-04 - M12X1.5 6 04 20.5 121 20 12
70011-14-04 = M14X1.5 6 04 21 141 24 14
70011-14-05 - M14X1.5 8 05 21 141 24 14
70011-14-06 70012-14-06 M14X1.5 10 06 21 141 24 14
70011-16-04 70012-16-04 M16X1.5 6 04 20.5 16.1 28 16
70011-16-05 70012-16-05 M16X1.5 8 05 20.5 16.1 28 16
70011-16-06 70012-16-06 M16X1.5 10 06 20.5 16.1 28 16
70011-18-06 70012-18-06 M18X1.5 10 06 24 18.1 32 20
70011-18-08 70012-18-08 M18X1.5 13 08 245 181 32 20
70011-22-08 70012-22-08 M22X1.5 13 08 28.5 221 39 25
70011-22-10 70012-22-10 M22X1.5 16 10 28 221 39 25
70011-26-12 70012-26-12 M26X1.5 19 12 325 26.1 46 30
70011-30-16 70012-30-16 M30X1.5 25 16 37 30.2 54 36

Page 78

ERT Adr '/ BIRTIERTRAE
Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

27X "/ BRIERTERER..

Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com




grEiEsL HOSE FITTING/AKJIA]

72011 Xl

= 24CEPART NO. e | REHOSE SIZE
T T T T T N I R I L

BSPBANJO

R <+ DIMENSIONS

72011-04-04 G1/4"X19 195 133

72011-04-05 = G1/4"X19 8 05 195 133 24 15
72011-04-06 72012-04-06 G1/4"X19 10 06 195 133 24 15
72011-06-04 = G3/8"X19 6 04 22 16.7 29 20
72011-06-05 - G3/8"X19 8 05 22 16.7 29 20
72011-06-06 72012-06-06 G3/8"X19 10 06 22 16.7 29 20
72011-08-06 72012-08-06 G1/2"X14 10 06 27.5 21 38 25
72011-08-08 72012-08-08 G1/2"X14 13 08 28 21 38 25
72011-12-12 72012-12-12 G3/4"X14 19 12 32 26.5 48 31
72011-16-16 72012-16-16 G1"X11 25 16 41 333 60 42

ERT At/ BIRTERTRAERL /" GRIBATERER.
Note: The dimension A before "/" is for braided hose fitting and after "/"

is for spiral hose fitting.

Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com

Page 79



IKiR] R EEsL HOSE FITTING

87311 SAE j%= 3000 PSI

SAE FLANGE 3000 PSI A
REF.1SO 12151-3/ISO 6162-1

(AL

F=@ESPART NO. HREHOSE SIZE R <t DIMENSIONS

87311-08-08 87312-08-08 1/2" 13 08 46/47 30.2 6.73
87311-08-10 87312-08-10 1/2" 16 10 46.5 30.2 6.73
87311-12-08 87312-12-08 3/4" 13 08 47/48 381 6.73
87311-12-10 87312-12-10 3/4" 16 10 47.5/48.5 381 6.73
87311-12-12 87312-12-12 3/4" 19 12 48/49.3 38.1 6.73
87311-12-16 87312-12-16 3/4" 25 16 49/50 38.1 6.73
87311-16-12 87312-16-12 1 19 12 51/52.3 444 8
87311-16-16 87312-16-16 1 25 16 52/53 444 8
87311-16-20 87312-16-20 1" 32 20 53/56.5 444 8
87311-20-12 87312-20-12 1.1/4" 19 12 56/57.3 50.8 8
87311-20-16 87312-20-16 1.1/4" 25 16 57/58 50.8 8
87311-20-20 87312-20-20 1.1/4" 32 20 58 50.8 8
87311-20-24 87312-20-24 1.1/4" 38 24 61/62 50.8 8
87311-24-20 87312-24-20 1.1/2" 32 20 68/68.5 60.3 8
87311-24-24 87312-24-24 11/2" 38 24 68 60.3 8
87311-32-24 87312-32-24 2" 38 24 70 714 9.53
87311-32-32 87312-32-32 2" 51 32 70/71 714 9.53
87311-40-32 87312-40-32 2.1/2" 51 32 73/74 84.1 9.53
87311-40-40 87312-40-40 2.1/2" 64 40 76/92 84.1 9.53
87311-40-48 = 2.1/2" 76 48 78.5 84.1 9.53
87311-48-48 - 3" 76 48 78.5 101.6 9.53
87311-56-56 = 3.1/2" 89 56 87.5 1143 11.23
87311-64-64FR - 4" 102 64 95.5 127 11.23

ERT AS "/ AIRTERTRAEEL "/ BRIERTERERL.
Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Page 80 Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com



BREiEsL HOSE FITTING

AKJIA H Yﬂﬁﬂuﬂ

KJI

87341 45°SAE j£= 3000 PSI

45°SAE FLANGE 3000 PSI
REF.1SO 12151-3/1SO 6162-1

F=@ESPART NO. =R HREHOSE SIZE R <t DIMENSIONS

87341-08-08 87342-08-08 172" 13 08 49.2 22.2 30.2 6.73
87341-12-08 87342-12-08 3/4" 13 08 49.9 229 38.1 6.73
87341-12-10 87342-12-10 3/4" 16 10 60.6 243 381 6.73
87341-12-12 87342-12-12 3/4" 19 12 67.6 259 38.1 6.73
87341-16-12 87342-16-12 1 19 12 67.6 259 444 8
87341-16-16 87342-16-16 1 25 16 79.7 29.3 444 8
87341-16-20 87342-16-20 1 32 20 94 338 444 8
87341-20-16 87342-20-16 1.1/4" 25 16 79.7 29.3 50.8 8
87341-20-20 87342-20-20 1.1/4" 32 20 94 33.8 50.8 8
87341-24-20 87342-24-20 1.1/2" 32 20 95.4 35.2 60.3 8
87341-24-24 87342-24-24 11/2" 38 24 107.3 383 60.3 8
87341-32-24 87342-32-24 2" 38 24 107.3 38.3 714 9.53
87341-32-32 87342-32-32 2" 51 32 134.8 46.3 714 9.53
87341-40-32 87342-40-32 2.1/2" 51 32 136.2 47.7 84.1 9.53
87341-40-40 87342-40-40 21/2" 64 40 169.1 54.1 84.1 9.53

ERT A/ BIRTERTRAEEL '/ BRIYBATERERL,

Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com Page 81



AKJIA HYDRAULIC

KJI

A|REEL HOSE FITTING

87391

90°SAE j£= 3000 PSI
90°SAE FLANGE 3000 PSI
REF.1SO 12151-3/ISO 6162-1

= RLEPART NO. | #zme | $REHOSE SIZE R < DIMENSIONS

87391-08-08 87392-08-08 1/2" 13 08 41 46.5 30.2 6.73
87391-08-10 87392-08-10 1/2" 16 10 53 51 30.2 6.73
87391-12-08 87392-12-08 3/4" 13 08 41 46.5 38.1 6.73
87391-12-10 87392-12-10 3/4" 16 10 53 51 381 6.73
87391-12-12 87392-12-12 3/4" 19 12 61 56 38.1 6.73
87391-16-12 87392-16-12 1" 19 12 61 56 444 8
87391-16-16 87392-16-16 1 25 16 75 66 444 8
87391-16-20 87392-16-20 1" 32 20 91 78.5 44.4 8
87391-20-12 87392-20-12 1.1/4" 19 12 61 56 50.8 8
87391-20-16 87392-20-16 1.1/4" 25 16 75 66 50.8 8
87391-20-20 87392-20-20 1.1/4" 32 20 91 78.5 50.8 8
87391-20-24 87392-20-24 1.1/4" 38 24 97.5 78.5 50.8 8
87391-24-20 87392-24-20 1.1/2" 32 20 91 80.5 60.3 8
87391-24-24 87392-24-24 1.1/2" 38 24 106 91 60.3 8
87391-24-32 87392-24-32 1.1/2" 51 32 123/124 91 60.3 8
87391-32-24 87392-32-24 2" 38 24 106 91 714 9.53
87391-32-32 87392-32-32 2" 51 32 132 114.3 714 9.53
87391-40-32 87392-40-32 2.1/2" 51 32 132 116.3 84.1 9.53
87931-40-40 87392-40-40 2.1/2" 64 40 176.5/188.5 138 84.1 9.53

ERT AfR /" BIRTERTRAEEL "/ BRYERTESREREL.
Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Page 82 Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com



BREiEsL HOSE FITTING

AKJIA H YDRHUH

KJI

87611 °/E=

F=@RSPART NO. | #zme | HREHOSE SIZE R < DIMENSIONS

= 6000 PSI

SAE FLANGE 6000 PSI

REF.1SO 12151-3/ISO 6162-2

(AL

87611-08-08 87612-08-08 1/2" 13 08 47/48 317 7.75
87611-08-10 87612-08-10 1/2" 16 10 47.5/48.5 31.7 7.75
87611-12-08 87612-12-08 3/4" 13 08 50 413 8.76
87611-12-10 87612-12-10 3/4" 16 10 50.5/51.5 41.3 8.76
87611-12-12 87612-12-12 3/4" 19 12 51/52.3 41.3 8.76
87611-12-16 87612-12-16 3/4" 25 16 52/53 41.3 8.76
87611-16-12 87612-16-12 1" 19 12 56/57.3 47.6 9.53
87611-16-16 87612-16-16 1" 25 16 57/58 47.6 9.53
87611-16-20 87612-16-20 1" 32 20 61/65 47.6 9.53
87611-20-16 87612-20-16 1.1/4" 25 16 65/66 54 10.29
87611-20-20 87612-20-20 1.1/4" 32 20 66/66.5 54 10.29
87611-24-20 87612-24-20 11/2" 32 20 75/75.5 63.5 12.57
87611-24-24 87612-24-24 1.1/2" 38 24 75 63.5 12.57
87611-32-24 87612-32-24 2" 38 24 85 794 12.57
87611-32-32 87612-32-32 2" 51 32 85/86 794 12.57
87611-40-40 87612-40-40 2.1/2" 64 40 108 107.7 20.5

ERT Afh /" BIRTERTRAEEL /" BRIBBATERERZL.

Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com Page 83



A|REEL HOSE FITTING

ﬁKJIﬂ HYDRAULIC

KJI

87641

45°SAE ;%= 6000 PSI

45°SAE FLANGE 6000 PSI
REF.1SO 12151-3/ISO 6162-2

28 "hn.’

| P@SPARTNO. | mxmS | GKEHOSESIZE |  RYDIMENSIONS |

87641-08-08 87642-08-08 1/2" 13 08 49.9 229 31.7 7.75
87641-12-10 87642-12-10 3/4" 16 10 63.4 27.1 41.3 8.76
87641-12-12 87642-12-12 3/4" 19 12 704 28.8 41.3 8.76
87641-16-12 87642-16-12 1 19 12 72.5 30.9 47.6 9.53
87641-16-16 87642-16-16 1" 25 16 84.6 34.2 47.6 9.53
87641-20-16 87642-20-16 1.1/4" 25 16 874 37 54 10.29
87641-20-20 87642-20-20 1.1/4" 32 20 101.8 41.6 54 10.29
87641-24-20 87642-24-20 1.1/2" 32 20 105.3 451 63.5 12.57
87641-24-24 87642-24-24 11/2" 38 24 117.2 48.2 63.5 12.57
87641-32-32 87642-32-32 2" 51 32 150.3/151.3 61.9 79.4 12.57
ERT AR/ IRTERTRAEEL "/ BRIEATESEERL.

Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Page 84

Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com




szl HOSE FITTING[AKJIA]

90°SAE j£= 6000 PSI

90°SAE FLANGE 6000 PSI
REF.1SO 12151-3/1SO 6162-2

87691

| MRMSPARTNO. | #2®S | KEHOSESIZE | R YDIMENSIONS |

87691-08-08 87692-08-08 1/2" 13 08 41 46.5 317 7.75
87691-08-10 87692-08-10 1/2" 16 10 53 51 31.7 7.75
87691-12-08 87692-12-08 3/4" 13 08 41 50.5 413 8.76
87691-12-10 87692-12-10 3/4" 16 10 53 55 41.3 8.76
87691-12-12 87692-12-12 3/4" 19 12 61 60 41.3 8.76
87691-12-16 87692-12-16 3/4" 25 16 75 69 41.3 8.76
87691-16-12 87692-16-12 1" 19 12 61 63 47.6 9.53
87691-16-16 87692-16-16 1 25 16 75 73 47.6 9.53
87691-16-20 87692-16-20 1" 32 20 91 85.5 47.6 9.53
87691-20-16 87692-20-16 1.1/4" 25 16 75 77 54 10.29
87691-20-20 87692-20-20 1.1/4" 32 20 91 89.5 54 10.29
87691-24-20 87692-24-20 1.1/2" 32 20 91 94.5 63.5 12.57
87691-24-24 87692-24-24 1.1/2" 38 24 106 105 63.5 12.57
87691-32-24 87692-32-24 2" 38 24 106 113 79.4 12.57
87691-32-32 87692-32-32 2" 51 32 132 136.3 794 12.57

ERT Adh /" BIRTERTRAEEEL /" BRIYERTERERSL.

Note: The dimension A before "/" is for braided hose fitting and after "/" is for spiral hose fitting.

Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com Page 85



[BKIR| SRE#EsL HOSE FITTING

876 1 3 SAE ;%= 6000 PSI

SAE FLANGE 6000 PSI

" FmtS | k=mS |  WEHOSESZE | RDIMENSONs |
mm--_-—

87613-16-16 594 47.6 9.53
87613-16-20 1" 32 20 65.8 47.6 9.53
87613-20-20 1.1/4" 32 20 69.8 54 10.29
87613-20-24 1.1/4" 38 24 74.7 54 10.29
87613-24-20 11/2" 32 20 78.8 63.5 12.57
87613-24-24 1.1/2" 38 24 78.7 63.5 12.57
87613-24-32 1.1/2" 51 32 80.5 63.5 12.57
87613-32-24 2" 38 24 91.2 794 12.57
87613-32-32 2" 51 32 91 794 12.57

ERPRSHET A ERNLESERE.

Note: No. in the table match with six spiral hose in super high pressure.

Page 86 ————  Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com



AKJIA mnnm.ﬂ

SREHESL HOSE FITTING|AKJI

87643 45°SAE ;%= 6000 PSI

45°SAE FLANGE 6000 PSI

" FEre | a=ms |  wmrostsue RS DIMENSIONS
S P T T N O O B

87643-16-16 34.2 47.6 9.53
87643-20-20 1.1/4" 32 20 116.6 41.5 54 10.29
87643-24-20 1.1/2" 32 20 120.1 451 63.5 12.57
87643-24-24 1.1/2" 38 24 130.9 48.2 63.5 12.57
87643-32-24 2" 38 24 139.6 53.8 794 12.57
87643-32-32 2" 51 32 168.3 61.9 794 12.57

ERPRSAT ENLESERE.

Note: No. in the table match with six spiral hose in super high pressure.

8769 3 90°SAE j£= 6000 PSI

90°SAE FLANGE 6000 PSI

BE=RE EREHOSE SIZE R  DIMENSIONS

rarT o awseo L s s oRsi A T i 1 b L

87693-16-16 834 47.6 9.53
87693-16-20 1" 32 20 105.8 85.5 47.6 9.53
87693-20-20 1.1/4" 32 20 105.8 89.5 54 10.29
87693-20-24 1.1/4" 38 24 121.2 93 54 10.29
87693-24-20 1.1/2" 32 20 105.8 94.5 63.5 12.57
87693-24-24 1.1/2" 38 24 121.2 105 63.5 12.57
87693-32-24 2" 38 24 121.2 113 79.4 12.57
87693-32-32 2" 51 32 150 136.3 79.4 12.57
RPN SHETAERLESERE.
Note: No. in the table match with six spiral hose in super high pressure.
Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com Page 87



[BKIR| SRE#EsL HOSE FITTING

B87341 45°SAEIA=3000PSI)R#:

45°SAE FLANGE 3000 PS|I WELDING A

WREHOSE SIzE R 3 DIMENSIONS
pavr o Lot vo L SEon Bs o LA T Lo T

B87341-40-40 2.1/2" 103 445 84.1 9.53
B87341-40-48 2.1/2" 76 48 111 44 84.1 9.53
B87341-48-40 3" 64 40 103 44.5 101.6 9.53
B87341-48-48 3" 76 48 1224 50.9 101.6 9.53
B87341-56-56 3.1/2" 89 56 141.2 58.7 114.3 11.23
B87341-64-64FR 4" 102 64 157 65.8 127 11.23

387 3 9 1 90°SAE ;A= 3000 PSI |8z

90°SAE FLANGE 3000 PSI WELDING

| FRRS | MEWS |  IKEHOSESIZE | R 3 DIMENSIONS
PART NO. | FLANGE NO. | S m“““—

B87391-40-40 2.1/2" 99.5 84.1 9.53
B87391-40-48 2.1/2" 76 48 107.5 104 84.1 9.53
B87391-48-40 3" 64 40 99.5 104 101.6 9.53
B87391-48-48 3" 76 48 1225 123 101.6 9.53
B87391-56-40 3.1/2" 64 40 99.5 108 1143 11.23
B87391-56-48 3.1/2" 76 48 122.5 127 114.3 11.23
B87391-56-56 3.1/2" 89 56 145.5 146 1143 11.23
B87391-64-64FR 4" 102 64 167.2 169 127 11.23

Page 88 ————  Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com



gzl HOSE FITTING[AKJIA]

B8734(Q 45°SAEIE=3000PSIies

45°SAE FLANGE 3000 PSI WELDING

WREHOSE SIzE R DIMENSIONS
PART NO_ | FLANGENO | 22N frebasH | A [ W [ b [ T |

B87340-40-40 2.1/2" 64 40 TEH 44.5 84.1 9.53
B87340-40-48 2.1/2" 76 48 EH 44 84.1 9.53
B87340-48-40 3" 64 40 TE 44.5 101.6 9.53
B87340-48-48 3" 76 48 EH 50.9 101.6 9.53
B87340-56-56 3.1/2" 89 56 El 58.7 114.3 11.23
B87340-64-64 4" 102 64 TE 65.8 127 11.23

ERFRY SN R EER.

Note: This series is used in conjunction with a powerful clamp.

B8739( 90°SAE %= 3000 PSI (2

90°SAE FLANGE 3000 PSI WELDING

I !
[

R S DIMENSIONS
—PaRTNO_[FiANGENG | AmEON] feDRH | A | W | b | 1
B87390-40-40 2.1/2" 64 40 El 104 84.1 9.53
B87390-40-48 2.1/2" 76 48 =l 104 84.1 9.53
B87390-48-40 3" 64 40 EHl 104 101.6 9.53
B87390-48-48 3" 76 48 XEHl 123 101.6 9.53
B87390-56-40 3.1/2" 64 40 Efl 108 114.3 11.23
B87390-56-48 3.1/2" 76 48 EHl 127 1143 11.23
B87390-56-56 3.1/2" 89 56 EH 146 114.3 11.23
B87390-64-64 4" 102 64 EEl 169 127 11.23

TR SN R EER.

Note: This series is used in conjunction with a powerful clamp.

Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com =~ ——  Page 89



[AKJIA] S &iEsL HOSE FITTING

FL SAEXIFHE=3
SAE SPLIT FLANGE CLAMPS
FS

nw — a1
! )
|
| c
A
3000PSI
FL-08 1/2" 53.8 46.1 38.1 9 17.5 M8X25 34.5
FL-12 3/4" 65 524 47.6 11 22.2 M10X30 34.5
FL-16 1" 69.9 58.7 52.4 11 26.2 M10X30 34.5
FL-20 1.1/4" 79.2 73 58.7 11 30.2 M10X30 27.6
FL-20D12 1.1/4" 79.2 73 58.7 12 30.2 7/16"x30 27.6
FL-24 11/2" 93.7 82.6 69.9 13.5 35.7 M12X35 20.7
FL-32 2" 101.6 96.8 77.8 13.5 42.9 M12X35 20.7
FL-40 2.1/2" 114 109 88.9 135 50.8 M12X40 17.2
FL-48 3" 135 130.6 106.4 17 62 M16X50 13.8
6000PSI
FS-08 1/2" 56.3 49.2 40.5 9 18.2 M8X30 42
FS-12 3/4" 714 61.8 50.8 11 23.8 M10X35 42
FS-16 1" 81 714 57.2 13 27.8 M12X45 42
FS-20 1.1/4" 95.3 79.2 66.7 15 318 M14X50 42
FS-20D13 1.1/4" 95.3 79.2 66.7 13 31.8 1/2"x45 42
FS-24 11/2" 112.8 96.8 794 17 36.6 M16X55 42
FS-32 2" 1334 115.6 96.8 21 444 M20X70 42

Page 90 —— Ningbo AKJIA Hydraulic Co.,Ltd info@akjia.com



BhNEEl INFORMATION [AKJIA

IESRITRENS

Fimzsk =y SHEINE s =Y GimEsk
Left Fitting  Ferrule Spring Sheath Hose Ferrule Right Fitting

—- i
R

<o
7,
BAIKE Length

EER , MERERRHRE. ARk, ARk, BEEMETMNR. AnEkSainREkRAREEE 1L
HE , BELAARE ; FETLUAR ﬁﬁﬁz;éﬁﬁﬂﬂﬁéﬁﬂﬂ'ﬁpﬁo As shown in the figure above, the hydraulic hose

assembly consists of a hose, a left-end fitting, a right-end fitting, and a crimped ferrule. The left-end and right-end

§§/

fittings can be of the same type or different types; the protective sleeve may be omitted or replaced with another type of

sleeve.
RESRINITENSETRGERR !
/ X X _ + /
e L | enssm
riigesk FE Natural Bending Direction
Left Fitting Sheath
Ak L KA
Right Fitting Assembly Angle
RERS B
Hose part Number Length

iE 1 REIPENSA SP, BREBRHPENSHA HPS,

ERACSF VI0 Fom 00 [ , T AL E RS L AOE MRS,

Note: The spring guard is designated as SP, and the spiral plastic guard is designated as HPS.

The assembly angle is indicated using codes such as V90 to represent a 90-degree angle, which is used for
hose assemblies with elbow fittings on both ends.

BRI 1 1 20441-30-12T/20491-30-12TX2T12X1500-V90+HPS/YNES ; 2F%
Eaﬁa BASTHSAEE BRHRIERER , WKSHRERTIEELS.

WETG 2 - miEk ShinEERN | Rir— M ESkas.
20411—30—12TX2T12X1500

IWERBKIKENE

RBGIKE L DAL SR E S S LR OAEEH TUE. B

ALY

EERER - %i
H T
L e ———— T

Bip RETH L BirPORET ) T )

== ~ Ny—{i@ﬁ s
& —




AKJIA HYDRAULIC

KJIA|FiNE# INFORMATION

IWERNREARTRIE

SEMANMRELIIATELN  KENRSEXAE—RAEXR. NER  BRELKAE , FinE%
hEE, BERL1IEEER LSO, RINEHNESEL 2 SEENENSEL 1 ZER%KS , BN
RELKRIEER , BV ERR.

SNEIFR |, BIZERECHA a9 225°R) , #RICH V225, RERRIFRENL5.

=hArm :

270° 90°




FibniEE INFORMATION

IRE SR BASHAEMRE

MTFREFEFRRZILCT  ANTEANELUNE ;| SE8MRFESHELN  SiFASHELSRE

BAEHTRERXE.
EREBRNENTFEFAKFE.

RERRN—ImELNTHEL | B—RELNERLNENTOMER:

Sy 5188 F=RE Sy 588 Fre
\\\\ N N7 //\
%9 %i;ﬂiﬁg DCW NP | Bk FERLE | DSS
5 N\ | eavEma Y
5 > DCN ) BRI DSX
Y & . ol
<
SRR Sk T RS A A0 T R R
= 588 F=rE BBy 3388 F=TE
] WL BEF
EEE
K= SSX SYC2
WEEIEATRS O sy 7
s
i B
=1
N Mere J: SSS YN ES
REAFR TR
t
T EE
W%ZK\ ,E B /\
mwaE, E | sy |of | BEPR YWES
o Bk
imlE Lk
I
& imFmEE
REEAEE | o | g ) s e
BEAS N, A Bk
'F
Wk BEEE T EE
== SYC1 BEsh YWEX
EHES B Bl
R i




AKJIA HYDRAULIC

KJIA|FiNE# INFORMATION

IRE B RRREER  RAEXR

RERRNBELSARITFRAEERTZMEERSS. EMNTERESHENEE , NRERLK
FHEZRN , #RRIIREBRBNEEUETREEZENMREAEZUHESTHRHITET. RE
B, KEHNRERSBRENRERL LRI SiEAKBINDERMSSES S BRAEEI R |
UTHEETREERESHIAEENER , RIEREATAREN T FRRALERRESDRIERS

i , BiRS% 2 TTFitae.

=1ES l IEff

LIIRE DT | YIDEREF R | BNEZEDNSEENR
ERE R EEERL],

When installing the hose assembly, do not allow the hose to twist, as this
can shorten the hose’s service life or cause the connections to loosen
when under pressure.

o=

RE DRI EEEN E DS EAIKER, BEMEEE
BIRETANZNERZE—E , BAKERUNERSERKE
HMEIR.

The length of the hose assembly should accommodate changes caused by
pressure fluctuations. High-pressure and low-pressure hoses should not
be crossed or clamped together, as differences in length variation can
cause abrasion to the hose outer cover.

FHIR IEff

BN T | NERESEELEE IR NRERZ .
In special cases, elbow fittings or adapter fittings should be used to

reduce the stress on the hose.

IEff

HATHREDHESERET | KERTREM+2%THE-4% , JAKF
géﬁﬁ{%&@%’%ﬁtﬂ?&@o BRERRIRHRI N SR ENR L
Since the length of the hose assembly may vary from +2% to -4% under
high-pressure conditions, sufficient slack should be provided to
accommodate expansion and contraction. Additionally, hose assembly
design should take into account hose tolerances and mechanical tolerances.

@ @—//Hﬁ

RER AR RSN TRENS/ NS

( R) NS4SR ELS MRS , EREMREELZAESLR
RISHaSEGRE. WERRSIKERLILN.
If the bending radius of the hose assembly during assembly or use is smaller
than the hose's minimum bending radius (R), it will shorten the service life
of the hose assembly. Sharp bends at the junction between the hose and the
fitting can lead to leaks, hose rupture, or fitting blow-off.

EEeE | WER MK EN RGBSR ANE SR LES
HIFRNTIRERS/NSI¥E | B RiIE YRR,
Allowance for movement: The length of the hose assembly should
accommodate the full range of motion of moving parts and prevent the
bend radius from falling below the hose’s minimum bend radius.
Additionally, friction with other objects should be avoided.



BENi=%El INFORMATION [AKJIA|

Selection of Hydraulic Hose Assemblies and Components

The service life of a hose assembly is affected by the complex interaction of many factors. Each hydraulic system's specific
function, operating conditions, and combined influences make it difficult to precisely predict hose life.

For applications outside the scope of international design standards such as ISO 1436, ISO 3862, ISO 4079, ISO 11237,
ISO 3949, ISO 12151, or similar, appropriate testing should be conducted to verify hose assembly performance.

Each system should be thoroughly analyzed before designing the routing and selecting hoses and related components. The

objective is to meet system performance needs, maximize hose life, and minimize the risk of injury, property damage, or
both.

The following factors must be considered:
1. Hose Size

The energy carried by pressurized fluid depends on both pressure and flow rate. Choosing the right hose size minimizes pressure loss and
avoids excessive heat buildup or high flow velocities that may damage the hose. Determine the correct size based on flow rate calculations
or consult the hose manufacturer. Also account for the hose’s outer diameter if it passes through clamps, plates, or bulkheads.

2. Working Pressure

Excessive pressure significantly shortens hose life. Both steady-state pressure and pressure spikes (such as pulses and surges) should be
evaluated. Standard gauges may not detect fast, transient pressure changes—use high-frequency electronic measurement instruments if
needed.

To extend hose life, always choose hoses and fittings based on the maximum system pressure, including spikes, and keep it below the
hose assembly’s rated working pressure.

Recommended safety margin: The minimum burst pressure of a hose should be at least four times the maximum working pressure.
3. Temperature

Exposing the hose to temperatures beyond its rated working range can drastically reduce service life. Ensure that both the fluid
temperature and ambient temperature (including temporary surges) remain within the hose’s specified range.

External heat sources should never raise the hose temperature above its rated limit. Use heat shields, sleeves, or insulating wraps where
necessary, and ensure proper routing to protect hoses from thermal hazards.

4. Compatibility Between Hose Materials and System Fluids

Due to permeation, the compatibility between fluid and hose materials must be carefully considered. This includes the inner tube, outer
cover, reinforcement layers, and fitting components such as seals.

Factors that influence compatibility include—but are not limited to—chemical properties, pressure, temperature, concentration, and
exposure time.

5. Minimum Bend Radius

If the hose is bent tighter than its minimum bend radius during installation or operation, it may fail prematurely. Sharp bends at the
connection between the hose and fitting can lead to leakage, rupture, or fitting blow-off. Always follow bend radius specifications.

6. Hose Cover Protection and Routing

The hose outer cover should be protected from abrasion, corrosion, twisting, and cutting. Use abrasion-resistant hoses or protective
sleeves when necessary.

Route hoses properly to reduce friction between hoses or between hoses and other components.

Also ensure that in the event of a sudden failure, leaked fluid will not cause personal injury or property damage. Take extra precautions
where fluids may contact hot surfaces, flames, or sparks, which could cause fire or explosion.

7. Hose Assembly Cleanliness

Cleanliness is critical for stable system performance. If a hose assembly is contaminated, it may severely impact the operation of other
hydraulic components.

Components used in hose assemblies may have different levels of cleanliness, but the final assembly must meet the system’s cleanliness
requirements.

8. Vibration

Vibration shortens hose life. If needed, conduct tests to assess the impact of vibration frequency and amplitude. Use clamps or other
supports to dampen vibration.

Always consider vibration when selecting hose assemblies and estimating service life.

Proper selection based on actual application conditions is essential to ensure the safety, reliability, and
cost-effectiveness of hydraulic hose assembilies.

For technical assistance with hose assemblies, please contact AKJia.



K IR KNZEEl INFORMATION

Hose Assembly Storage Requirements

Aging Control

A hose aging control system should be established to ensure that hoses are used before the end of their serviceable
lifespan. The service life is defined as the period during which the hose can reasonably be expected to retain full
functionality under its intended service conditions.

Hoses and hose assemblies should be stored and managed based on the manufacture date, and the first-in, first-out
(FIFO) principle should be followed to properly control aging.

Storage Duration

The storage period should be kept as short as possible, making it essential to implement inventory turnover procedures
based on FIFO. Unless otherwise specified by applicable product standards or the hose manufacturer, the
recommended maximum storage periods are as follows:

- Unassembled hoses (bulk hose): up to 4 years
- Assembled hose assemblies: up to 2 years

These periods may be cumulative, meaning the maximum total storage time is 6 years (4 years for hose + 2 years after
assembly).

Storage Conditions

Hoses and hose assemblies should be stored under conditions specified in ISO 8331. Storage environments must avoid
conditions that may shorten hose life, and manufacturer guidelines regarding storage and shelf life must be followed.

Key environmental factors that may negatively affect hose and hose assembly storage include:

a) Excessive or extreme temperature
b) Exposure to ozone

¢) Oil, gasoline, kerosene, and their vapors
d) Corrosive liquids and fumes

e) Rodents

f) High humidity

g) UV radiation

h) Solvents

i) Insects

j) Radioactive materials

k) Direct sunlight or heat radiation
1) Acids and alkalis

m) Sharp edges and rough surfaces
n) Electric or strong magnetic fields
0) Mold and fungi

Evaluation of Stored Hoses

If there are any doubts about the quality or performance of a hose or hose assembly after storage, it should be
evaluated using the following methods:

a) Bend the hose to its minimum bend radius and compare it to a new hose. Check for cracks in the outer cover or
inner tube. Reject the hose if any cracks are present, regardless of size.

b) For steel wire reinforced hoses, if the hose feels abnormally stiff or makes cracking sounds during bending, cut a
sample section of the cover to inspect the wire. If the wire is significantly corroded, the hose must be rejected.

c) If concerns remain, contact hose assembly personnel to perform a hydrostatic pressure test or other required
functional verification tests.



IKJIA H Yﬂﬁﬂuﬂ

BEINi=%El INFORMATION [AKJI

OB!FE O-Ring

EHIORFSHMEL T EOB B 1f FHOELE
For ORFS Male O-Ring

i ORIEtS R<DIMENSIONS
\ S
Q__ O
07.65X1.78 9/16"X18UNF  7.65 1.78
09.25X1.78 11/16"X16UN  9.25 1.78
. . _ 012.42X1.78  13/16"X16UNF  12.42 1.78
DIN24°$12 R 5 ORL B 25 £ FHORL B -
o B 015.60X1.78 1"X14UNSF 15.6 1.78
For DIN 24° Cone O-Ring L.T.
018.77X1.78  1.3/16"X12UN  18.77 1.78
e 023.52X1.78  1.7/16"X12UN  23.52 1.78
ORIELS R<DIMENSIONS | &F4h2
029.87X1.78  1.11/16"X12UN  29.87 1.78
037.82X1.78 2"X12UN 37.82 1.78
004.5X1.5 M12X1.5 4.5 15 6
006.5X1.5 M14X1.5 6.5 15 8
it d 45z 3 F
008.0X1.5 M16X1.5 8.0 15 10 EFHISAEIMEN OB B Z 1%L FHOBLE
010.0X1.5 M18X1.5 10.0 15 12 For SAE Male O-Ring
012.0X2.0 M22X1.5 12.0 2.0 15 ORI R DIMENSIONS
015.0X2.0 M26X1.5 15.0 2.0 18
015.0X2.0 M27X1.5 15.0 2.0 18 08.92X1.83 7/16"X20UNF  8.92 1.83
020.0X2.0 M30X2.0 20.0 2.0 22 010.52X1.83 1/2"X20UNF  10.52 1.83
026.0X2.0 M36X2.0 26.0 2.0 28 011.89X1.98  9/16"X18UNF  11.89 1.98
032.0X2.5 M45X2.0 32.0 25 35 016.36X2.21 3/4"X16UNF  16.36 2.21
038.0X2.5 M52X2.0 38.0 25 42 019.18X2.46 7/8"X14UNF 19.18 2.46
023.47X2.95  1.1/16"X12UN  23.47 2.95
026.62X2.95  1.3/16"X12UN  26.62 295
029.74X2.95  1.5/16"X12UN  29.74 2.95
037.46X3.00 1.5/8"X12UN  37.46 3.00
DIN24° JOBYE = 1 FHOEL B
For DI N%%A%/C—%EJ :IC:).Rﬁ ﬂf Ti 043.69%3.00 1.7/8"X12UN  43.69 3.00
or on -Rin .T.
€ 9 059.36X3.00 2.1/2"X12UN  59.36 3.00

ISO 6162;A=FO&HE
ForISO 6162 Flange O-Ring

004.5X1.5 M14X1.5 4.5 1.5 6
006.5X1.5 M16X1.5 6.5 1.5 8
008.0X1.5 M18X1.5 8.0 1.5 10
010.0X1.5 M20X1.5 10.0 1.5 12
011.0X2.0 M22X1.5 11.0 2.0 14
013.0X2.0 M24X1.5 13.0 2.0 16
016.3X2.4 M30X2.0 16.3 24 20
020.3X2.4 M36X2.0 20.3 2.4 25
025.3X2.4 M42X2.0 25.3 2.4 30
033.3X2.4 M52X2.0 33.3 2.4 38

OMB(tS | #=ES | RIDIMENSIONS
018.64x3.53 1/2" 18.64 3.53
024.99x3.53 3/4" 24.99 3.53
032.92x3.53 1" 32.92 3.53
037.69x3.53 1.1/4" 37.69 3.53
047.22x3.53 1.1/2" 47.22 3.53
056.74x3.53 2" 56.74 3.53
069.44x3.53 2.1/2" 69.44 3.53




KR IREUAERINE RECOMMEND THREAD

NHENMRS24E TR I 1R 2
Metric Thread BSPP Thread
AHIRLL BEFIMR LA (42K ) Nm 1247 Thread LEKE (4K ) N.m
. B\HsEE
Thread TUBE O.D. min-max Terape Velus G1/8"X28 9-12
M12X1.5 06L 15-17 16 G1/4"X19 15-24
M14X1.5 08L 15-17 16
M16X1.5 10L 25-28 26 G3/8"X19 26-38
M18X1.5 12L 35-39 37
M22X1.5 151 45-50 47 G1/2"X14 41-49
M26X1.5 18L 85-94 89 G5/8"X14 50-60
M30X2 221 110-121 116
M36X2 28L 130-143 137 G3/4"X14 68-81
M45X2 35L 215-237 226
M52X2 421 330-363 347 G1°X11 107-129
M14X1.5 06S 25-28 26 e 172-206
M16X1.5 08S 40-44 42
M18X1.5 108 50-55 53 G1.1/2"X11 226-258
M20X1.5 128 60-66 63
M22X1.5 148 75-83 79 G2"X11 355-426
M24X1.5 16S 80-88 84
M30X2 20S 120-132 126
M36X2 25S 170-187 179
M42X2 30S 250-275 263
=3 4
M52X2 38S 350-385 368 S ICHREL
JIC Thread
2
XHIORFSIREY #Thread SHIE (4K ) Nom
ORFS Thread
7/16"X20 13-15
o e 72
9/16"X18 14-16 9/16"X18 23-26
11/16"X16 24-27 3/4"X16 47-52
13/16"X16 43-54 7/8"X14 69-76
1.1/16"X12 96-106
1"X14 60-75
1.3/16"X12 108-125
1.3/16"X12 90-110
1.5/16"X12 127-141
1.7/16"X12 125-140 | 5812 169-188
1.11/16"X12 170-190 1.7/8"X12 212-235
P2 200-245 2.1/2"X12 296-329




RKJIR HYDRAULIC

KJI

TREXMERERKABRL A
Ningbo AKJia Hydraulic Co.,Ltd.

il #T A RYEH NI EMNAE AT Nde Tl E &g 10-15
Add: No, 10-1, Keji Road, Sibei Industrial Zone, Simen Town,
Yuyao, Zhejiang 315470, China

& (TEL) : +86-574-62163118 WhatsAPP: +86-13777137141
B3F8 (Email) : info@akjia.com
ML ( Web): https://www.akjia.com



	1: 目录1
	2: 目录2
	3: 目录3
	4: 10411Y,10511Y
	5: 12611AY,13011Y-SP
	6: 14211Y
	7: 15611Y
	8: 16711Y
	9: 20111Y
	10: 20191Y
	11: 20211Y
	12: 20241Y
	13: 20291Y
	14: 20411Y
	15: 20441Y
	16: 20491Y
	17: 20511Y
	18: 20541Y
	19: 20591Y
	20: 20711Y
	21: 20741Y
	22: 20791Y
	23: 22611Y
	24: 22641Y，22691Y
	25: 22611DY-SM,24211DY-SM
	26: 24211Y
	27: 24241Y
	28: 24291Y
	29: 26711Y
	30: 26741Y
	31: 26791Y
	32: 26711DY-SM
	33: 28611Y
	34: 29611Y
	35: 87311Y
	36: 87341Y
	37: 87391Y
	38: 87611Y
	39: 87641Y
	40: 87691Y
	41: 87613Y，87643Y
	42: 87693Y
	43: 00110
	44: 03310
	45: 01200
	46: 00400/00401/00400D
	47: 00621/01400
	48: 10411
	49: 10511
	50: 12611A
	51: 13011-SP
	52: 14211
	53: 15611
	54: 16711
	55: 20111
	56: 20191
	57: 20211
	58: 20241
	59: 20291
	60: 20411
	61: 20441
	62: 20491
	63: 20511
	64: 20541
	65: 20591
	66: 20711
	67: 20741
	68: 20791
	69: 22611
	70: 22641
	71: 22691
	72: 22611D-SM/24211D-SM
	73: 24211
	74: 24241
	75: 24291
	76: 26711
	77: 26741
	78: 26791
	79: 26711D-SM
	80: 28611，29611
	81: 70011
	82: 72011
	83: 87311
	84: 87341
	85: 87391
	86: 87611
	87: 87641
	88: 87691
	89: 87613
	90: 87643/87693
	91: B87341/B87391
	92: B87340/B87390
	93: FL/FS
	未标题



